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557?5G=>7> >D?4==-=46G4==O, M>5 <4>E<<4?L=4 >V?L>VEFL 
74>?44V6 <>7?4 ?>65D=GF<EO 4> FL>7> D>D<4FG. 

�G4?L=4 D>D<4 =46G4==O, O>4 ?5D5454G4T ?V47>F>6-
>G EFG45=FV6 F4 >4=>G4E=5 =46G4==O >64?VDV>>64=<E 
E?5FV4?VEFV6 =4 6<D>5=<FF6V, T 4G65 5D5>F<6=>N D>D<>N 
>E6VF<.

7  �4E>V?L>< 5G4V65?L=<= D<=>> 6 '>D4W=V 7>F>6<= 
F4 74FV>46?5=<= G E?V6?D4FV 7 =46G4?L=<<< 
74>?444<<? �4E>V?L>< >><?4=VW 7>F>6V =44464F< 
E6>W ?>FG6=>EFV 4?O 4G4?L=>W >E6VF<? 

4 �5?<>V, <V6=4D>4=> 6<7=4=V >><?4=VW 4>F<6=> ?D<64-
5?NNFL EFG45=FV6, ?D>?>=GNG< W< D>5>FG. �>=< D>7G<VNFL 
646?<6VEFL ?V47>F>6>< ?D>D5EV==<E D4EV6FV6 7 D4==L>7> 
6V>G, M> =444T W< ?5D5647<. �4=4> T >><?4=VW, O>V M5 =5 
GE6V4><?NNFL E6>N D>?L F4 <VEVN V =4FV?5=V ?<L5 =4 >F-
D<<4==O ?D<5GF>G. �><?4=VW, O>V E?DO<>6GNFL E6>N D>5>-
FG =4 D>76<F>> F4 <4=5GF=T, <4NFL 65?<>V ?5DE?5>F<6<. / 
E?>4V64NEL, M> F4><E >><?4=V= EF464F<<5 M5 5V?LL5.

7  /> 7>?>64 �47?O4>6>W D44< ��'��, O>V ??4=<  
F4 74644==O �< 654G4TF5 ?5DL>G5D7>6<<<? 

4 ' EGG4E=><G EGE?V?LEF6V 4>F<6=> >57>6>DNTFLEO ?>-
FD554 6 D44<>4?L=<E 7<V=4E G 6<MV= >E6VFV, G F><G G<E?V 
7<V=4E G 74>>=>446EF6V F4 EFDG>FGDV 6<M>W >E6VF<. �4=4> FO 
4<E>GEVO =5 74664< 4>?><474T 4>EO7F< >59T>F<6=<E V E?D4-
654?<6<E D57G?LF4FV6. '4EF> ?G5?VG=V 74E?4 746464NFL ?D>-
D5EV==V= 4<E>GEVW, M> <>65 ?D<765EF< 4> 6FD4F< G=V>4?L=<E 
74E>4V6, O>V T 646?<6<<< 4?O >>6=>W 74?G7V.

' F5= ?5DV>4 FGD5G?5=F=>EFV 7>?>6=5 74644==O �47?O4>-
6>W D44< 4 755D57F< ��'�� O> G=V>4?L=<= 4>E?V4=<FL><= 
G=V65DE<F5F 4?O 74?G7V 5G4V6=<FF64 V 4DEVF5>FGD<. �< <4T<> 
755D57F< =>7> G=V>4?L=VEFL, =5 4>?GEF<F< =>7> ?V>6V44FVW 
45> >59T4=4==O 7 V=L<<< =46G4?L=<<< 74>?444<<. �46?4-
><, << <4T<> 7D>5<F< 7 =L>7> F5=FD >E6VF< G ED5DV 5G4V6=<-
FF64 V 4DEVF5>FGD<.

�4 EL>7>4=V ?V47>F>6>>N >44DV6 G FV= ED5DV 74=<4TFL-
EO 557?VG =46G4?L=<E 74>?44V6, V F5 EF6>DNT ?D>5?5<G. 
�VF5=7VW =4 ?V47>F>6>G E?5FV4?VEFV6 G FV= ED5DV <4NFL 
45EOF>< =46G4?L=<E 74>?44V6, 7>>D5<4 V =4 D4E>6G ?5-
D546<MG >E6VFG, 6<MG >E6VFG. �4 64?L, G 5474FL>E 6<?44-
>4E F5= ?D>F5E 6V45G64TFLEO E4>F<G=> V =5?D>D5EV==>, 
557 >>>D4<=4FVW. /> D57G?LF4F, =4 D<=>G ?D4FV T 557?VG 
E?5FV4?VEFV6, O>V <4NFL ?<L5 4<??><, 4?5 =5 <4NFL =5-
>5EV4=<E =46<G>>.
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G65 T, =4?D<>?44, F5E=>?>7VG=<= ?4D> �<W6EL>>7> ?>?V-
F5E=VG=>7> V=EF<FGFG V<5=V %V>>DEL>>7>.

�5D6464 <4T D>D<G?N64F< GVF>5 74644==O 4?O =4G-
>>6FV6 7 ?>7?O4G ?>FD55 5>>=><V><. &5 <>65 5GF< 45D-
646=5 74<>6?5==O =4 =4G>>6V D>7D>5><, O>V ?>FDV5=V 
5>>=><VFV. &4><< G<=><, O 54GG FD< >E=>6=V =4?DO<<: 
E6V4><<= 5V7=5E, F5E=>?>7VG=V ?4D>< F4 GVF>5 45D646=5 
74<>6?5==O.

7  /> 74FV>46<F< ?N45= 74=<4F<EO =4G>>N  
6 '>D4W=V? 

4 �4=5V?LL<< EF<<G?>< T DV=4=E>6<= F4 <4F5DV4?L-
=<= 4E?5>F<. �>?>4<= 6G5=<=, O>>7> << E>G5<> 755-
D57F< 6 =4GFV, <4T 5GF< 6?56=5=<= G E6>W= DV=4=E>6V= 
EF45V?L=>EFV F4 <4F5DV4?L=><G 74557?5G5==V. �4LV 
PhD ?D>7D4<< 6 ?56=<E 74?G7OE 6<7=4NFLEO F4 FV=G-
NFLEO, 4?5 << <4T<> D>7G<VF<, M> 6EV 4>5D5 7=4NFL, 45 
T O>VE=V 6<?GE>=<><. �>?< 6< =4<474TF5EL 6?4LFG64F<-

EO =4 D>5>FG 74 >>D4>=>< 7 =4L<< PhD, D>5>F>446FV 
?5DL 74 6E5 4<6?OFLEO =4 64LV =4G>>6V EF4FFV, 4 =5 =4 
4<??><. 

�< <4T<> EF6>D<F< EF<<G?< 4?O <>?>4<E 6G5=<E =4 
DV6=V 45D646<, M>5 6>=< <>7?< E?>>V==> ?D4FN64F<.  
� ?D<>?44<, >>?< =5 45D6464, 4 E4<V =4G>>6FV 7<>7?< 
EF6>D<F< G<>6< 4?O >FD<<4==O 4>EF4F=VE 4>E>4V6 V 74-
?GG5==O <>?>4<E E?5FV4?VEFV6. �4?D<>?44, =4G>>6V= 
G4EF<=V %G<EL>>7> 45D646=>7> G=V65DE<F5FG 644?>-
EO >><5DFV4?V7G64F< E6>W =4?D4FN64==O F4 EF6>D<-

F< 5D5>F<6=<= =4G>>6<= F5=FD. &4>V ?D<>?44< T V G 
�L6V6EL>V= ?>?VF5E=VFV, 45 =4 547V G=V65DE<F5FG EF6>-
D5=> ?>FG6=<= 5V7=5E-V=>G54F>D. �4 >E=>6V F<E ?D<-

>?44V6 << <>65<> D>7D>5<F< 45D646=G ?D>7D4<G.

7  /> �< 54G<F5 <4=5GF=T 5G4V6=<FF64 6 '>D4W=V? 
/>V F5E=>?>7VW 45> V==>64FVW, =4 �4LG 4G<>G, 
5G4GFL >?NG>6<<< 6 FV= 74?G7V? 

4 �=D>D<4FV==V F5E=>?>7VW, O>V 4>F<6=> 6?D>6446GNFL-
EO 6 5G4V6=<FF6>. �<>>D<EF4==O 4D>=V6 ?V4 G4E 5G4V65?L=<E 
D>5VF, >><?9NF5D=<E E<EF5< G?D46?V==O 5G4V6=<FF6><, 4 
F4>>6 F5E=>?>7V= «D>7G<=>7> 5G4<=>G» 665 =4 5F4?V 5G-
4V6=<FF64 4 F5 ?<L5 >V?L>4 ?D<>?44V6. �4=VTN 7 >?NG>-
6<E F5=45=FV= T 74EF>EG64==O >><?9NF5D=<E F5E=>?>7V=. 
�=L4 646?<64 F5=45=FVO 4 F5 6<>>D<EF4==O 4D-4DG>G 
4?O EF6>D5==O ?57><E 5G4V65?L=<E >59T>FV6 F4 ?>6=>FV=-

=<E 5G4<=>V6. &O F5E=>?>7VO 44T 7<>7G 7=4G=> 5>>=><<F< 
=4 5G4V6=<FF6V, 7>>D5<4 =4 6<>>D<EF4==V D>5>G>W E<?<.  
� '>D4W=V 665 T ?5DLV E?D>5< 74EF>EG64==O F<E F5E=>-
?>7V=. �4?D<>?44, 6 >4=V= 7V L>V? �<W6EL>>W >5?4EFV 665 
6<>>D<EF>6GNFL 3D-4DG>. &5 4G65 FV>46<= 4>E6V4, O><= 
64DF> 6<6G<F<. ' 5G4V6=<FF6V F4>>6 6V45G64TFLEO ?>LG> 
=>6<E, =44?57><E <4F5DV4?V6, M> 4>76>?ONFL EF6>DN64-
F< 5V?LL ?57>V F4 L6<4>VE=V 5G4V6?V. &5 F4>>6 E?D<OT D>-
76<F>G 5>>?>7VG=>7> FD5=4G 6 5G4V6=<FF6V.

7  />V �4LV 4G<>< ?D> D>?L '>D4W=< G E6VF>6><G 
E?V6F>64D<EF6V? /> �< 54G<F5 <4=5GF=T '>D4W=< 
=4 <V6=4D>4=V= 4D5=V? 

4 �VDN, M> '>D4W=4 EF4=5 >4=VTN 7 =4=D>76<=5=VL<E 
45D646 E6VFG. �?5 4?O FL>7> =4< ?>FDV5=> 4>>?4EF< 54-
74F> 7GE<?L. 'E5 74?56<FL 6V4 =4E: 6V4 =4L>W ?D4FV, 6V4 
=4L>W >E6VF<. �< <4T<> ?V47>FG64F< ?V4�DG=FO 6 DV7=<E 
ED5D4E 6<FFO 4?O =4L>7> ?D>D<6G ?VE?O ?5D5<>7<. �< 
<4T<> ?>>474F< E6>N 74FV>46?5=VEFL G D>76<F>G =4L>W 
>D4W=<. �?56=5=<=, M> >>?< << ?>>465<> E6>W D57G?L-
F4F<, E6VF ?>6VD<FL G =4E, V V=65EF>D< ?D<=4GFL. 
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�>>D5<4, 4?O >FD<<4==O 54=>V6EL>>W 4>D54<F4FVW F4 
6?D>64465==O E?V?L=<E V?>F5G=<E ?D>7D4< V7 4565?>?5D4-
<< <4NFL 5GF< 4>FD<<4=V F4>V 6<<>7<:
1. �>F<6=5 5G4V6=<FF6> (4<=4<V>4 5G4V65?L=<E D>5VF G D5-

4?L=><G G4EV) 74?D>?>=>64=>7> ?V4 4>D54<F4FVN ��.
2. �4O6=VEFL G 4565?>?5DEL>>W >><?4=VW 6EVE 4>76V?L=<E 

4>>G<5=FV6, M> ?V4F65D46GNFL 74>>==VEFL 5G4V6=<F-
F64.

3. �V4EGF=VEFL 5G4L-O><E EG4>6<E >5FO65=L, M> <>6GFL 
6??<=GF< =4 4<=4<V>G 5G4V6=<FF64.

4. %F4= 7>F>6=>EFV >59T>F4 4 =5 <5=L5 30% 7 GVF><<< F5D-
<V=4<< 7465DL5==O 5G4V6=<FF64 F4 66545==O >59T>F4  
6 5>E??G4F4FVN.

5. $54?V74FVO >64DF<D <4T 6V45G64F<EO G5D57 D>=4< DV-
=4=EG64==O 5G4V6=<FF64, <5E4=V7< >G?V6?V-?D>446G 
<4==>6<E ?D46, FV?L>6V >5?V74FVW.

6. �V4?>6V4=VEFL >59T>F4 7445>?4D>64=<< O>VE=<< E4D4>-
F5D<EF<>4< F4 >?4EG 6<F?4.

7. �>E6V4 D>5>F< =4 D<=>G (?>DFD5?L D54?V7>64=<E ?D>-
T>FV6), 6V4>D<FVEFL, ?D>D5EV==4 F4 4V?>64 D5?GF4FVO O> 
>><?4=VW, F4> V WW >GV?L=<>V6.

�D>F5E 4>D54<F4FVW 4 F5 =4E4<?5D54 ?V4F65D465=-

=O 54=>>< DV=4=E>6>W = F5E=VG=>W E?D><>6=>EFV 45-
65?>?5D4 6<>>=4F< 67OFV =4 E555 7>5>69O74==O ?5D54 
V=65EF>D4<<-?>>G?FO<<, 4 F4>>6 6V4?>6V4=>EFV >59T>F4 
7445>?4D>64=<< O>VE=<< E4D4>F5D<EF<>4<. $4>F<G=> 
54=> 55D5 =4 E555 G4EF<=G D<7<>V6 4565?>?5D4, 74D4=-

FGNG< ?>>G?FO< 557?5G=VEFL ?D<454==O >E5?V 6 F><G 
G< V=L><G ��.

�?5 7>?>6=>N ?5D5647>N V?>F5>< =4 ?5D6<==><G D<=-

>G 4>EV 74?<L4TFLEO <>6?<6VEFL ?D<454==O EGG4E=>7> 
O>VE=>7> 6<F?4 74 FV=>N 6 E5D54=L><G =4 25-30% =<6-

G>N, =V6 G 665 75G4>64=><G ��. �DV< F>7>, V?>F5G=4 G7>-
44 D4>F<G=> «DV>EGT» FV=G F4 G557?5GGT ?>>G?FO 6V4 =5-
5464=>7> 4?O =L>7> 74>D>6G4==O ?D<454=>W >64DF<D<  
6 D47V 7=<65==O >GDEG =4FV>=4?L=>W 64?NF<.

&4>>6 64DF> 765D=GF< G647G =4 F5, M> 7 ?>G4F>G  
2024 D>>G =4 ?5D6<==><G D<=>G =4=5V?LL<= ?>?<F =4 ?D<-
454==O 6<F?4 6 V?>F5>G (5?<7L>> 70% 6V4 GEVE G7>4) E?>EF5-
DV74TFLEO =4 1-, 2->V<=4F=V >64DF<D< ??>M5N 6V4 45 <2 4>  
70 <2 7474?L=>N 64DFVEFN 6V4 2 <?= 7D= 4> 3 <?= 7D=. �D< 
FL><G 6 5V?LL>EFV 6<?44>V6 G7>4< G>?444NFLEO F5D<V=>< 
4> 20 D>>V6 V7 ?>G4F>>6<< 6=5E>>< 30% 6V4 64DF>EFV >E5?V. 

�4 <>N 4G<>G, >E=>6=<<< D4>F>D4<<, M> D>D<G64F<-
<GFL D>76<F>> V?>F5G=>7> >D54<FG64==O G 4DG7><G >64DF4?V 
2024 D>>G, EF4=GFL:
1. $<F<VG=VEFL >FD<<4==O F4 4>EF4F=V= >5EO7 <4>D>DV-

=4=E>6>W 4>?><>7< 4?O ?>>D<FFO ?>F>G=<E 6<44F>V6 
45D65N465FG (EF45V?L=VEFL =4FV>=4?L=>W 64?NF<, M> 
E?>=G>4F<<5 ��' 4> ?>44?LL>7> 7=<65==O >5?V>>6>W 
EF46><). 

2. $>76<F>> 5>>=><V>< =, 7>>D5<4, 5G4V65?L=>W 74?G7V G5-
D57 4>F<6=5 74?GG5==O 5G4V65?L=<E V 4565?>?5DEL><E 
>><?4=V= 4> 6V4=>6?5==O >D4W=<.

3. �>F<6=<= D>76<F>> >D54<F=<E V 45?>7<F=<E 54=>V6-
EL><E ?D>7D4<: ?>E<?5==O >>=>GD5=FVW 74 >?VT=F4.

4. «�>T==V» G<==<><: ?>4>?4==O =4E?V4>V6 47D5EVW, E<FG4-
FVO =4 DD>=FV.

5. %GE?V?L=>-?>?VF<G=V G<==<><: EGE?V?L=4 T4=VEFL, ?D>-
7>DVEFL DVL5=L V 4V= 6?44<.

4  �>E<?4NG<EL =4 44=V '>D4W=EL>>W DV=4=E>6>W 6<F-
?>6>W >><?4=VW («'>DDV=6<F?>»), <>6=4 ?>54G<F<, M> =4 
?>G4F>> 55D57=O >V?L>VEFL 4>D54<F>64=<E 4> GG4EFV 6 45D-
646=V= V?>F5FV 4565?>?5DV6 G65 EF4=>6<?4 27 >><?4=V= V7  
13 >5?4EF5= (64 >59T>F<, 6D4E>6GNG< O> >>D5<V ��, F4> V >>-
D5<V E5>FVW-5G4<=>< 6 E>?44V ��).

� ?V4EF46< >GV>G64F<, M> G =4=5?<6GV 2-3 <VEOFV 74?G-
G5==O 4565?>?5DV6 4> ?D>7D4<< «T�E5?O» <>65 EF4F< 
5V?LL ?><VF=<<. �>-?5DL5, 4565?>?5DEL>V >><?4=VW GVF>> 
GE6V4><<?< =5>5EV4=VEFL G 64>E>>=4?5==V 6?4E=<E <5E4=V7-
<V6 ?D>446G, O> F>7> 6<<474NFL G<>6< GG4EFV 6 45D646=V= 
V?>F5G=V= ?D>7D4<V, 4 F5 6<>>D<EF4==O D>=4V6 DV=4=EG-
64==O 5G4V6=<FF64, <5E4=V7< >G?V6?V-?D>446G <4==>6<E 
?D46, D54?V74FVO FV?L>6<E >5?V74FV=. �>-4DG75, 665 74V=E-
=NTFLEO ?D>446 >64DF<D 6 >59T>F4E, 5G4V6=<FF6> O><E D>7-
?>G4?>EO ?VE?O =45GFFO G<==>EFV �4>>=>< '>D4W=< «�D> 
74D4=FG64==O D5G>6<E ?D46 =4 >59T>F< =5DGE><>7> <4=-

=4, O>V 5G4GFL E?>DG465=V 6 <4=5GF=L><G» 6V4 15 E5D?=O  
2022 D>>G, M> 75V74TFLEO 7 ?D<=F<?4<< 4VW ?D>7D4<< 
«T�E5?O» =4 ?5D6<==><G D<=>G. 

�DV< F>7>, ?D>7D4<< D>7F5D<V=G64==O F4 2 V?>F5G=V 
<5E4=V7<<, 4 E4<5 45D646=4 «T�E5?O» F4 ?4DF=5DEL>V 
?D>7D4<< 7 54=>4<<, 7=4G=> D>7L<DNNFL <>6?<6>EFV  
4565?>?5DV6 V7 74?GG5==O ?>F5=FV==<E ?>>G?FV6, M> <>65 
EF4F< >4=<< V7 D4>F>DV6 75V?LL5==O ?>?<FG =4 ?5D6<==>-
<G D<=>G 6<F?4. 

%GFFT65 D>7L<D5==O 45D646=>W V?>F5G=>W ?D>7D4-

<< «T�E5?O» =4 ?5D6<==<= D<=>> EF<<G?NT 54=>< 4> 
4>F<6=>7> D>76<F>G 6?4E=<E V?>F5G=<E ?D>7D4<.  
�D> F5 D>7?>6V?4 �?5=4 �<VFDVT64, ?5DL4 74EFG?=<FO 
7>?>6< ?D46?V==O ����'% ����'. 

«W�E5?S» EF<<G?RW 54=>< 4> 4>F<6=>7> D>76<F>G 
6?4E=<I Y?>F5K=<I ?D>7D4<
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�?5=4 ,G?O>, 7>?>64 >><VF5FG �$ 7 ?<F4=L >D74=V74FVW 
45D646=>W 6?44< F4 <VEF56>7> E4<>6DO4G64==O, 4 F4>>6 ?V-
45D ?4DFVW <%?G74 =4D>4G=, 4=>=EG64?4 D>7D>5>G =>6>W <5F>-
4<>< 4?O 6V4=>6?5==O V D>76<F>G V=DD4EFDG>FGD< '>D4W=<. 
&5= ?D>F5E 5G45 6<>>=G64F<EO �5D646=<< 475=FEF6>< 6V4-
=>6?5==O V D>76<F>G V=DD4EFDG>FGD< '>D4W=<, O>5 665 <4T 
GE?VL=<= 4>E6V4 G FV= ED5DV. $>5>F4 =44 =>6<<< EF4=44D-
F4<< 5G45 ?D>6>4<F<EO G E?V6?D4FV 7 D<=>>< F4 ?D>D5EV=-

=<<< D4EV6FO<<, V 4?O FL>7> =57454D>< 5G45 ED>D<>64=> 
>><4=4G 5>E?5DFV6. �4=V �?5=4 =47>?>E<?4 =4 646?<6>EFV 
EF6>D5==O =>6<E EF4=44DFV6 4?O 6V45G4>6< '>D4W=< G E?V6?-
D4FV 7 GD54=VEF<G=>N F4 4DEVF5>FGD=>N E?V?L=>F>N. �>=4 
F4>>6 747=4G<?4, M> <>=>?>?VO 6G7L>>7> >>?4 >EV5 =4 45D-
674<>6?5==O =5?D<?GEF<<4, V 6EV ?D>D5EV>=4?< ?>6<==V 
<4F< <>6?<6VEFL 4>?GG4F<EO 4> ?D>F5EG ?D>T>FG64==O ?V4 
G4E 6V4=>6?5==O G>D4W=EL><E <VEF V EV? =4 DV6=<E G<>64E F4 
74E444E. &5 EF>EGTFLEO 74?GG5==O ?D>6V4=<E 4DEVF5>FGD=<E 
5ND> F4 E4<>EFV==<E F4?4=>6<F<E 4DEVF5>F>DV6. </>VEFL F4 
?>6=>F4 ?D>T>F=>W 4>>G<5=F4FVW, 4>FD<<4==O EF4=44DFV6 
?V4 G4E ?D>T>FG64==O F4 5G4V6=<FF64, 4 F4>>6 D5F5?L=VEFL 
F5E=VG=<E >5EF565=L 4 F5 >?NG>6V 4E?5>F<, O>V << D>7G-
<VT<> V FV=GT<>. �?O 74?GG5==O =4=>D4M<E D4EV6FV6 4> 
646?<6<E ?D>T>FV6 45D646V ?>FDV5=4 ?D>7>D4, G=VDV>>64-
=4 F4 7D>7G<V?4 <5F>4<>4 74>G?V6?V EG?GF=VE ?>E?G7 V D>5VF  
G F<6V?L=><G 5G4V6=<FF6V=. 

�GEF4D4-�4EV �4=T<, 7>?>64 �5D646=>7> 475=FEF64 
6V4=>6?5==O F4 D>76<F>G V=DD4EFDG>FGD< '>D4W=<, D>7-
?>6V6 ?D> D>5>FG F4 ??4=< �75=FEF64. �V= =47>?>E<6, M> 
�75=FEF6> <4T ?>6=>6465==O 5G4G64F< 5G4L-O>V >59T>F<, 
DV7=<E DV6=V6 F4 <4ELF45V6. �4=T< D>7?>6V6 ?D> 65?<>V 
?D>T>F<, =44 O><<< ?D4FN64?> �75=FEF6>. �V= 774446 5G-
4V6=<FF6> 6>4>7>=G 6 �=V?D>?5FD>6EL>V= >5?4EFV, D>5>FG 
=44 FD4=E?>DF=>N V=DD4EFDG>FGD>N, 7>>D5<4 6V4=>6?5=-

=O <>EFV6, 4 F4>>6 7GE<??O M>4> >?F<<V74FVW ?>7VEF<>< 
F4 ?G=>FV6 ?D>?GE>G. &4>>6 765D=G6 G647G =4 646?<6VEFL 
F5E=VG=>7> >5EF565==O F4 ?D>T>FG64==O, =4 =5>5EV4=VEFL 
6<E>>>W O>>EFV F<E ?D>F5EV6 4?O GE?VL=>7> 5G4V6=<FF64: 
<�4 DV> D>5>F< << =4 6?4E=><G 4>E6V4V 6V4GG?<, =4E>V?L>< 
E<?L=> 6??<64T =4 5G4V6=<FF6> F4 6V4=>6?5==O D5F5?L-
=VEFL F5E=VG=<E >5EF565=L V O>VEFL ?D>T>F=>W 4>>G<5=F4FVW=.  
�>?>64 �75=FEF64 F4>>6 ?>4V?<6EO ??4=4<< =4 =4EFG?=<= 
DV>, O><= 5G45 ?D<E6OG5=<= D>76<F>G 5>E?5DF<7<, >><?5-
F5=FVW F4 >><4=4<. �V= 747=4G<6, M> >E=>6=<= D>>GE 5G45 
=4 65?<><E =4FV>=4?L=<E >59T>F4E, O>V <4NFL 5GF< 6 7>=V 
6V4?>6V44?L=>EFV �75=FEF64.

�?5>E4=4D �4E>4, >5DV6=<> ?D>T>FG D>76<F>G E<EF5<< 
74>G?V65?L G �5D646=><G 475=FEF6V 6V4=>6?5==O F4 D>7-
6<F>G V=DD4EFDG>FGD< '>D4W=<, >57>6>D<6 464 >?NG>6V =4-
?DO<< D>5>F<: <5F>4<>G 74>G?V65?L F4 ?V4E>4< 4> D>D<G-
64==O 74644==O =4 ?D>T>FG64==O. �V= 747=4G<6, M> 5V?LL 

%?Y?P=Y 7GE<??S: L?SI 4> 6Y4=>6?5==S '>D4Z=< 
K5D57 Y==>64JY==Y EF4=44DF< F4 E?Y6?D4JR

� '>D4W=V D>7D>5?ONFL <5F>4<>G 74>G?V6?V EG?GF=VE ?>E?G7 F4 D>5VF G 5G4V6=<FF6V 4?O 6V4=>6?N64?L=<E ?D>T>FV6.  
&5= ?D>F5E ?5D5454G4T 4>F<6=G GG4EFL 5G4V65?L=<E >><?4=V= V 6<D>5=<>V6, 4DEVF5>F>DV6, V=65=5DV6, ?D54EF46=<>V6 
?D>T>F=<E F4 5>E?5DF=<E >D74=V74FV=. �D> F5 =L?>EO =4 5V7=5E-7GEFDVGV «�V4?>7 7 D<=>><: 4DEVF5>F>D<, ?D>T>F4=F<». 
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" �D>T>FG64==O. �>F>G=<E 74644=L =4 ?D>T>FG64==O, 
O>V 7>FG64?< >D74=< <VEF56>7> E4<>6DO4G64==O, =5-
4>EF4F=L>. &><G 65?<>V >><?4=VW <4NFL 4>?GG<F<EO 
4> 4DG7>W D>5>G>W 7DG?<, M>5 ?>?D4FN64F< =44 4>-
>G<5=F4<<, O>V ?>?57L4FL E?V6?D4FN 7 45D646>N F4 
O>VE=VL5 >D74=V7GNFL ?D>T>F.

" %F4=44DF<74FVO. �V4EGF=VEFL EF4=44DF<7>64=<E ?D>T>-
FV6 F4 F5E=VG=<E E?5F<DV>4FV= 4?O 6V4=>6?5==O. 
�4>?<> 4> >><?4=V= 4>?><>7F< 6 D>7D>5FV EF4=44DFV6, 
O>V 5 6V4?>6V44?< O>>EFV, 5G?< G4EF<=>N F<>?G ?D>T>FG 
V =5 5G?< 4>D>7>64DFVE=<<< 4?O 45D646<.

�4=V �4?5DVO ?V4>D5E?<?4, M> FV FD< =4?DO<< T >?NG>6<-

<< 4?O D>5>F< �75=FEF64, V 74>?<>4?4 >><?4=VW 4> E?V6?D4FV. 
&5 646?<6<= >D>> G D>D<G64==V 5D5>F<6=>W ?D4>F<>< 4?O 
6EL>7> D<=>G. <%GFL D>5>F< 6 F><G, M>5 45D6464 EF4?4 =>D-
<4?L=<< 74<>6=<>>< V ?4DF=5D>< G 6V4=>6?5==V. �=4?V7G-
NG< 5F4?< D54?V74FVW ?D>T>FG, << 7D>7G<V?<, M> D>7D>5>4 
?D>T>F=>->>LF>D<E=>W 4>>G<5=F4FVW 4 F5 >4<= V7 =4=646-

?<6VL<E D4>F>DV6 6 GE?VL=V= D54?V74FVW 6EL>7> ?D>T>FG=. 
�V4 G4E 7GEFDVGV 5G?> 4>F5=F>64=> G647G E?V?L=>F< =4 =5-

>5EV4=>EFV >>?5>F<6=>7> ?V4E>4G 4> 6V4=>6?N64?L=<E ?D>-
F5EV6, M> 74557?5GGT WE 5D5>F<6=VEFL F4 6<E>>G O>VEFL. �D>-
?G=46 74>?<> 4> E?V6?D4FV <V6 45D646=<<< EFDG>FGD4<< 
F4 ?D>D5EV==<< E5D54>6<M5<, E?DO<>64=>W =4 EF6>D5==O 
V==>64FV==<E EF4=44DFV6 4?O 6V4=>6?5==O '>D4W=<. �4EV4 
EF46 <4=44=G<>>< 4?O >5<V=G V45O<< F4 6<O6?5==O E?V?L-
=<E V=F5D5EV6, M> E?D<O?> D>D<G64==N EFD4F57VW E?V6?D4-
FV. %?>4V64T<>EO, F5 6V4>D<T L?OE 4> 5V?LL>W 674T<>4VW F4 
?D>4G>F<6=>EFV 6 <4=5GF=VE 6V4=>6?N64?L=<E ?D>T>F4E  
6 '>D4W=V. �464O>< FL><G <>6=4 5G45 >GV>G64F< ?V46<M5=-

=O 5D5>F<6=>EFV 6V4=>6?5==O '>D4W=< 6 <4=5GF=L><G.

=V6 90% 64DF>EFV 5G4V65?L=<E D>5VF ?D<?444T =4 5F4? 5G4V6-
=<FF64. �5DL4 <5F>4>?>7VO 74>G?V65?L 5G4V65?L=<E D>5VF, 
D>7D>5?5=4 6?VF>G 2023 D>>G, 665 GE?VL=> ?D>=L?4 4?D>-
54FVN F4 45<>=EFDGT E>D>LV D57G?LF4F<. 

$4EV65FL F4>>6 =47>?>E<6 =4 646?<6>EFV ?>?5D54=VE 
5F4?V6 5G4V6=<FF64, F4><E O> F5E=VG=5 >5EF565==O, ?D>T>FG-
64==O F4 5>E?5DF<74. �?5>E4=4D �4E>4 74G646<6, M> E>G4 
64DFVEFL ?>?5D54=VE 5F4?V6 5G4V6=<FF64 EF4=>6<FL ?<L5 
=565?<>G G4EF<=G 7474?L=<E 6<FD4F, E4<5 6>=< 6<7=4G4-
NFL >V=F56<= D57G?LF4F ?D>T>FG. 

&4>, >E=>6=4 <5F4 6 G4EF<=V ?D>T>FG64==O ?>?O74T  
6 >FD<<4==V ?>6=>7> >><??5>FG ?D>T>F=>W 4>>G<5=F4FVW. 
%N4< 6E>4OFL 6G4E=5 =444==O 4>>G<5=FV6, 6V4?>6V4=VEFL 
45D646=<< =>D<4<, 5D5>F<6=V F4 G77>465=V V=65=5D=V DV-
L5==O, 4 F4>>6 D<=>>6V FV=< F4 F4D<D<. �>44F>>6> 646-

?<6> >FD<<4F< ?>7<F<6=<= 76VF 5>E?5DF<7< =4 ?D>T>F  
V 74557?5G<F< O>VE=G ?V4FD<<>G D>7D>5=<>4 ?D>T>F=>W 4>-
>G<5=F4FVW 6 D4<>4E 46F>DEL>>7> =47?O4G. �4= �?5>E4=4D 
?V4>D5E?<6, M> 6<>>=4==O F<E 74644=L 7=4G=> ?V46<M<FL 
5D5>F<6=VEFL ?D>F5EG 5G4V6=<FF64, F4 6>4746 =4 >V?L>4 
?D>5?5<, O>V 6<=<>4NFL ?V4 G4E D54?V74FVW ?D>T>FV6: =54>-
EF4F=V F5E=VG=V >5EF565==O, ?D>5?5<< 7 ?D>6545==O< F5=-

45DV6, 6V4EGF=VEFL EF4=44DF=<E DVL5=L F4 >5<565=V EFD>>< 
4?O ?V47>F>6><. �>?>6V44G =47>?>E<6, M> 6<DVL5==O F<E 
?D>5?5< 7=4G=>N <VD>N 74?56<FL 6V4 ?D>6545==O ?D>F5-
4GD< 74>G?V6?V. 

' �5D646=><G 475=FEF6V 6V4=>6?5==O F4 D>76<F>G V=D-

D4EFDG>FGD< '>D4W=< 665 D>7D>5<?< <5F>4<G=V D5>><5=-

44FVW, O>V <>6GFL 6<>>D<EF>6G64F< E?G65< 6V4=>6?5==O.  
&V D5>><5=44FVW EF4?< >E=>6>N 4?O D>7D>5>< 5V?LL 74-
74?L=>W <5F>4<><. �>E?5DF 6<E?>6<6 =44VN, M> =>64 <5F>-
4<>4 4>?><>65 6<DVLG64F< =4O6=V ?D>5?5<< F4 ?>?V?L<-

F< 5D5>F<6=VEFL ?D>F5EG 6V4=>6?5==O. <�< E?D>5G64?< =F< 
E4<5 6 FL><G =4?DO<>G: ?D4FN64F< =44 F<<, O> ?D46<?L=> 
?D>6>4<F< ?D>F54GD< 74>G?V6?V. �4D47 FV <5F>4<G=V D5>>-
<5=44FVW D>7D>5<?< 4?O 6<>>D<EF4==O =4L<<< E?G654<< 
6V4=>6?5==O, V << 5G45<> =4<474F<EO =4 WE ?D<>?44V 74EF>-
E>6G64F< F4>V ?V4E>4< =4 D<=>G=.

�4?5DVO �64=>64, 74EFG?=<FO 7>?>6< �5D646=>7> 475=F-

EF64 6V4=>6?5==O F4 D>76<F>G V=DD4EFDG>FGD< '>D4W=<, 
D>7?>6V?4 ?D> E6>W ??4=< M>4> D>D<G64==O >><4=4< 5>E-
?5DFV6 4?O D>7D>5>< 5D5>F<6=>W ?D4>F<>< 4?O 6EL>7> D<=-

>G. �>=4 6<E6VF?<?4 FD< >E=>6=V ?D>5?5<<, O>V ?D47=GFL 
6<DVL<F<:

" �64?VDV>4FVO >><?4=V=. �4>?<> 4> >><?4=V= 4>?GG<-

F<EO 4> D>5>G>W 7DG?< 4?O D>7D>5>< =>6<E >D<F5DVW6 
F4 6<7=4G5==O >64?VDV>4FVW, M> 74557?5GGT E?D><>6-

=VEFL ?V4DO4=<>4 V >>=>GD5=F=>7> D<=>G.
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&L>7> D>>G D>DG< 7V5D46 ?D>6V4=<E G>D4W=EL><E F4 <V6-

=4D>4=<E 6<D>5=<>V6, 5>E?5DFV6 G ED5DV 5G4V6=<FF64, ?D54-
EF46=<>V6 45D646=<E >D74=V6 F4 <VEF56>7> E4<>6DO4G64==O, 
=4FV>=4?L=<E F4 <V6=4D>4=<E =545D646=<E ?D>7D4< F4 
>D74=V74FV=. %5D54 =<E 5G?< ?D54EF46=<>< USAID (�75=FEF6> 
%,� 7 <V6=4D>4=>7> D>76<F>G), �D>7D4<< DOBRE, $>=4G 
PAUCI, �>=D545D4FVW 5G4V65?L=<>V6 '>D4W=<, IRS F4 V=. �D>-
7D4<4 ?5DL>7> 4=O D>DG<G E>?444?4EO 7 5 ?4=5?5=:
1. �5D646=>-?D<64F=5 ?4DF=5DEF6> O> V=EFDG<5=F ?V46<-

M5==O DV=4=E>6>W E?D><>6=>EFV 7D><44. 
2. %F4=44DF<74FVO 6 5G4V6=<FF6V: >57>6>D5==O ?D>5?5< 

F4 6<>?<>V6. 
3. �=EFDG<5=F< <VEF56>7> 5>>=><VG=>7> D>76<F>G 7D><44. 
4. �V6=4D>4=4 4>?><>74, E?DO<>64=4 =4 6V45G4>6G 7D>-

<44 '>D4W=<: ?D>7D4<< 5>>=><VG=>7> D>76<F>G. 
5. $>=4< F4 V=65EF<FV==V ?D>7D4<< 4?O 7D><44 '>D4W=<.

�V45D< 7D><44, D4EV6FV F4 4>F<6VEF< >57>6>D<?< 4>E6V4  
V ?D<>?44< G ED5DV ?4DF=5DEF64 <V6 45D646>N F4 ?D<64F=<< 
E5>F>D><, O>5 E?DO<>64=5 =4 L6<4>5 6V4=>6?5==O ?>L>>4-
65=<E >59T>FV6 F4 EF6>D5==O =>6<E. ' <564E 4<E>GEVW 5G?> 6<-
E6VF?5=> =4=5V?LL ?>L<D5=V ?D>5?5<<, 7 O><<< EF<>4NFLEO 
7D><44< ?V4 G4E 6V4=>6?5==O 6<F?>6>7> D>=4G.

�D54EF46=<>< �D?5=O ?>4V?<?<EO E6>W< 4>E6V4>< M>4> 74-
?GG5==O 5?47>4V==<>V6, 4>=>DV6 F4 5V7=5EG 4?O 6V4=>6?5==O 
?>L>>465=<E 7D><44. �>?>4<<<D �4D??N>, E?V674E=>6=<> 
$>=4G 6V4=>6?5==O �D?5=O F4 7>?>64 �=65EF<FV==>W D44< �D?5-

=O, <>45DG646 ?5DLG ?4=5?L. �V= =47>?>E<6 =4 646?<6>EFV 
6<>>D<EF4==O 6EL>7> =4O6=>7> 4>E6V4G, G F><G G<E?V <V6=4-
D>4=>7>, 4?O F>7>, M>5 G>D4W=FV <>7?< O>><>74 L6<4L5 ?>-
65D=GF<EO 4> E6>WE 4><V6>>. �>?>4<<<D �4D??N> 74>?<>46 
765DF4F<EO 4> DV7=<E >D74=V74FV= F4 LG>4F< <>6?<6>EFV 4?O 
?D<E>>D5==O ?D>F5EG 6V4=>6?5==O 7D><44: «�VE?O 45>>G?4-

FVW �D?V=L <46 E5D=>7=G VEF>DVN DG==4FV=. �D47=GG< ?>65D-
=GF< ?N45= 4>4><G, << EF6>D<?< $>=4 6V4=>6?5==O �D?5=O, 
7>?>6=4 <5F4 O>>7> 4 F5 >59T4=G64F< 6EVE GG4E=<>V6 6V45G4>-
6<, 74557?5GGNG< >?5D4F<6=<= F4 ?D>7>D<= <5E4=V7< 674T-
<>4VW. �465 $>=4 =5 ?D>6>4<FL F5=45DV6 V =5 55D5 >>LF< =4 
GFD<<4==O, 4 ?D4FNT 6<>?NG=> 744?O 6V4=>6?5==O >59T>FV6 
E>FV4?L=>W F4 6<F?>6>W V=DD4EFDG>FGD< <VEF4». �>?>4<<<D 
�4D??N> F4>>6 ?V4>D5E?<6 7=4GGMVEFL <V6=4D>4=>W 4>?><-

>7< F4 6<>>D<EF4==O 74DG5V6=>7> 4>E6V4G 4?O D5>>=EFDG>FVW 
<VEF '>D4W=<.

�?5>E4=4D '5D64>, 4<D5>F>D ��', 4>F5=FG646 G647G =4 
D>?V 5G4V6=<FF64 G D>76<F>G 5>>=><V>< 7D><44. �V= 6>4746 =4 
646?<6VEFL 45D646=<E ?D>7D4<, E?DO<>64=<E =4 74557?5-
G5==O G>D4W=FV6 6<F?>< F4 ?V4FD<<>G 6VFG<7=O=>7> 5V7=5EG, 
F4><E O> «T�V4=>6?5==O», «T�E5?O», «�V4=>6<���», «T$>5>-
F4», «�=5D7>4V<», 4 F4>>6 <>6?<6VEFL >5<V=G 6<F?>6>7> E5D-
F<DV>4F4 =4 6<F?> F4 <4=5GF=V ?D>7D4<< «�D5=44 7 ?D46>< 
6<>G?G» V «%>FV4?L=4 >D5=44». �4= �?5>E4=4D F4>>6 774446 
?D> >5EO7< DG==G64=L: 77V4=> 7 >FV=>4<< �<W6EL>>W L>>?< 
5>>=><V><, EF4=>< =4 65D5E5=L 2023 D>>G 7474?L=4 EG<4 
?DO<<E 75<F>V6, 74644=<E V=DD4EFDG>FGDV '>D4W=<, EF4=>6<?4 
$151,2 <?D4. &5 7 GD4EG64==O< ?<L5 74D5TEFD>64=<E ?>=44 
50 <?= >6.< ?>L>>465=>7> 45> 7=<M5=>7> 6<F?4. $4EV65FL 
F4>>6 ?5D5D4EG646 5G4V65?L=V <4F5DV4?<, O>V 5G4GFL ?>FDV5=V 
4?O 6V45G4>6< V O>V T ?5DE?5>F<6=<<< 4?O V=65EF<FV=: E>?>, 
55F>=, <V=5D4?L=4 64F4, F5<5=F, ��%-?D>DV?L. «�4 =4LG 
4G<>G, E?D<OF?<6<= 5D5>F 4?O D>76<F>G G>D4W=EL>>7> ?V4-
?D<T<=<FF64 <4F<<5 F4>>6 <5E4=V7< 45D646=>-?D<64F=>-
7> ?4DF=5DEF64 ?VE?O ?D<==OFFO 74>>=>?D>T>FG 77508», 4 
747=4G<6 �?5>E4=4D '5D64>. 

�?57 %F4D>4G55FL, 74EFG?=<> 4<D5>F>D4 �5?4DF4<5=-

FG <VEF>5G4G64==O F4 4DEVF5>FGD< ����, 6<7=4G<6 >E=>6=V 

$>DG<-?D4>F<>G< «�Y45G4>64 6 4YZ 2.0» KyivBuild Ukraine

14 ?NF>7> 2024 D>>G 6 <564E 6<EF46>< KyivBuild 6V45G6EO D>DG<-
?D4>F<>G< «�V45G4>64 6 4VW 2.0», >D74=V7>64=<= Premier Expo. 
�4 FL><G 74E>4V 5G?> ?D54EF46?5=> ?D>7D4<< 6V4=>6?5==O 
F4 D>76<F>G F5D<F>DV=, M> ?>EFD4644?< G5D57 5>=>6V 4VW, 4 
F4>>6 ?D>45<>=EFD>64=> GE?VL=V ?D>T>F<, O>V 665 D54?V7G64?< 
7D><44<. $>DG< 5G6 E?DO<>64=<= =4 >5<V= 4>E6V4>< F4 >5=E4<< 
6V45G4>6< 4?O 6V4=>6?5==O = D>76<F>G 7D><44 '>D4W=<, O>V 747=4?< 
=4E?V4>V6 6V==<. 
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=4?DO<< 4?O 6V45G4>6<: 74557?5G5==O 6<F?>6<<< G<>64<<, 
6V4=>6?5==O E>FV4?L=>W V=DD4EFDG>FGD<, 74E<EF 6V4 =5?5D54-
54G5=<E >5EF46<=, D>D<G64==O 4>EFG?=>7> E5D54>6<M4 F4 
?V4FD<<>4 >G?LFGD=>7> D>76<F>G.

�=4DV= �>=5G5=>>6, 7>?>64 ?D46?V==O '>D4W=EL>>W 6VFD>-

5=5D75F<G=>W 4E>FV4FVW ('���), 4>F5=FG646 G647G =4 =5>5EV4-
=>EFV D>76<F>G 6V4=>6?N64=>W 5=5D75F<>< 7 <5F>N 4>EO7=5=-
=O 5=5D75F<G=>W E4<>EFV==>EFV. �V= 747=4G<6, M> ?5D5647< 
6<>>D<EF4==O 6VFD>6>W F4 E>=OG=>W 5=5D7VW EF4?< >G56<4=<-
<< ?V4 G4E 5=5D75F<G=<E 75>W6, 4?5 FV <5F>4< ?>FDV5=> ?D>-
4>66G64F< D>76<64F< 6 <4=5GF=L><G. «%?V6?D4FO 45D646< 
V 5V7=5EG 7 �D?5=5< F4 �>D>4O=>>N <4T 5GF< E?DO<>64=4 =4 
6V45G4>6G = ?5D5EV4 =4 <VEF56V, 5>>?>7VG=> G<EFV 465D5?4 
5=5D7VW. �D>T>F< 6 D4<>4E >4<?4=VW #Renewables4Ukraine 74 
?V4FD<<>< World Wind Energy Association, EKOenergy ecolabel 
F4 '��� =4 ?D4>F<FV 45<>=EFDGNFL, O> 6FV?<F< F5 6 6<FFO», 4 
=47>?>E<6 �=4DV= �>=5G5=>>6.

�>DO=4 &<E>=GG>, O>4 >5DGT G?D46?V==O< 6<F?>6>->><G-
=4?L=>7> 7>E?>44DEF64 �D?V=EL>>W <VEL>>W D44<, ?D54EF46<?4 
4DEVF5>FGD=<= E4>4F>= «100 V45= 4?O <VEF4» F4 D>7?>6V?4 ?D> 
D>7D>5>G 4>D>6=VE >4DF V <5F>4<> 4?O 6V4=>6?5==O G>D4W=-
EL><E 7D><44. �>=4 =47>?>E<?4 =4 =5>5EV4=>EFV 74?GG5==O 
D4EV6FV6 F4 D>76<F>G <V6=4D>4=>7> E?V?>G64==O: «�576464-
NG< =4 6<>?<><, 7 O><<< EF<>4NFLEO 7D><44<, 646?<6> 74?G-
G4F< ?D>D5EV>=4?V6 F4 D>76<64F< <V6=4D>4=G >><G=V>4FVN. 
/>M> =5 5G45 74?GG5=4 6V4?>6V4=4 >D74=V74FVO 7 =5>5EV4=<< 
4>E6V4>< F4 >>=F4>F4<<, D57G?LF4FG, =4 64?L, =5 5G45».

%5D7V= �4=ND4, >5DV6=<> G?D46?V==O 6<F?>6>->><G=4?L-

=>7> 7>E?>44DEF64 �D?V=EL>>W <VEL>>W D44<, ?D54EF46<6 44=V 
?D> 6V4=>6?5=V >59T>F< F4 D>7?>6V6 ?D> E4D4>F5D<EF<>< ?D>-
F5EG 6V45G4>6<.

�D<=4 �4E4DG5=>>, 6<>>=GNG4 >5>69O7>< 7>?>6< �>D>-

4O=EL>>W E5?<M=>W D44<, 747=4G<?4, M> 7>?>6=<< 6<>?<>><  
G ?D>F5EV 6V4=>6?5==O V=DD4EFDG>FGD< EF4?> >D74=V7G64=-
=O 75<5?L=<E 4V?O=>> 4?O 5G4V6=<FF64. «�< 7VLF>6E=G?<EO  
6 ?5DLG G5D7G 7 F<<, M> G =4E =5 5G?> 5?5<5=F4D=> ED>D-
<>64=> 75<5?L=V 4V?O=>< ?V4 5474F>?>65DEV6>4<<, 44<V=5G-
4V6?O<<. �< ?>G4?< 7 F>7>, M> D>D<G64?< 75<5?L=V 4V?O=><, 
V FV?L>< ?>FV< << ?>G4?< ?D>T>FG64F<. %L>7>4=V G =4E ?D>5?5-
<4 6 F><G, M> << =5E>V=G5==> >>D57GT<> FV ?D>T>F<, 4465 
4> 4G65 5474FL>E >64DF<D G =4E =5 5G?> 4>EFG?G, V EL>7>4=V 
<< 6<O6?OT<> 6E5 =>6V = =>6V ?D>5?5<<», 4 D>7?>6V?4 �D<=4 
�4E4DG5=>>. 

/D>E?46 /M5=>>, 4<D5>F>D 6<EF46>< Kyiv Build, E?V67>-
?>64 ?D>T>FG Rebuild Ukraine, 747=4G<6: «�D><444 <4T 5GF< 
4>F<6=>N, G =5W <4NFL 5GF< ?D>T>F<, ?D>D4EG=><, >>LF>D<-
E< 4 E4<5 F5 LG>4NFL <V6=4D>4=V ?4DF=5D<. �>=< E>GGFL 
54G<F< ??4=, E>V?L>< F5 W< 5G45 >>LFG64F<».

����� ���������, 
4<D5>F>D>4 6<EF46>< 
ReBuild Ukraine: 

4 <�>>=><VG=<= D>76<F>> 
7D><44 G65 <4=65 DV> DV=4=-

EGTFLEO 74 D4EG=>> =5 ?<L5 
4>=>DEL><E >>LFV6, 4 = V=-

65EF<FV=. ' ?<EF>?44V <<=G-

?>7> D>>G << ?V4EG<G64?<, M> 74 464 D>>< E?V6?D4FV 
7 =4L<< ?4DF=5D><, 45D646=<< ?D>T>F>< <�=65EF 
.>D5===, << 74?GG<?< ?>=44 2 <?D4 4>?4DV6. &V >>-

LF< 7476<G4= V4GFL =4 6<D>5=<FF6> 5G4V65?L=<E 
<4F5DV4?V6. �=65EF<FV==V =44E>465==O E?D<ONFL D>-

76<F>G 7D><44, EF6>D5==N D>5>G<E <VEFL F4 E>FV4?L-

=><G 74557?5G5==N. �4D47V =4LV >D4W=<-?4DF=5D< 7>-

FGNFL ?D>7D4<< 4?O ?>>D<FFO D<7<>V6, ?>69O74=<E 
V7 6>T==<<< F4 E>FV4?L=<<< 6<>?<>4<<. �>DV< F>7>, 
?V4FD<<>4 =444TFLEO V 6E5D54<=V 45D646<. ' =4E T 
E6>O <75><5FDVO 6V45G4>6<=, O>4 6>?NG4T ?>FD55G, 
DV=4=EG64==O, 5G4V65?L=V F5E=>?>7VW F4 D54?V74FVN. 
�4L5 �5D646=5 475=FEF6> 6V4=>6?5==O F4 D>76<F-

>G V=DD4EFDG>FGD< '>D4W=< D>7D>5?OT >V?L>4 ?D>-

7D4< 4?O 7D><44, O>V <4NFL DV=4=EG64==O. %5D54 F<E 
?D>T>FV6 T FV, 4> O><E 74?GG5=> 5V7=5E 4?O D5=>64FVW 
F4 6V4=>6?5==O. �?O >FD<<4==O DV=4=EG64==O 7D>-

<44V ?>FDV5=> ?D54EF46<F< =4=5V?LL ?D<645?<6V 
4E?5>F< E6>TW 6V45G4>6<. �5DL 74 6E5 F5 EF>EGTFLEO 
5=5D75F<G=>W F4 E>FV4?L=>W V=DD4EFDG>FGD<: ?V>4-

D5=L, L>V?, 4<FOG<E E44>V6. �E=>6=V 6<>?<>< G 6V4=>6-

?5==V ?>69O74=V 7 =>6<<< 6<<>74<<, 4 E4<5 <Build Back 
Better=, F>5F> << ?>6<==V 5G4G64F< >D4M5, =V6 5G?> 
4> FL>7>, 7 6<>>D<EF4==O< 5=5D7>5D5>F<6=<E F5E-

=>?>7V=, 7 GD4EG64==O< 557?5><, V=>?N7<6=>EFV F4 4>-

EFG?=>EFV. �4 EL>7>4=V =4=5V?LL ?D<645?<6<<< 4?O 
V=65EF<FV= T 7D><44< 6 74EV4=><G F4 F5=FD4?L=><G 
D57V>=4E, 45 557?5>>64 E<FG4FVO FD>E< >D4M4. �>>D5-

<4, 7D><44<, O>V ?D>?>=GNFL ?D<645?<6V ?D>T>F<, 
=4?D<>?44 ?D>T>F V7 D56VF4?V74FVW, ?D54EF46?5=<= 
�4<9O=F5<-�>4V?LEL><<=.

�����&�$  
��� �$������&�$�:
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'G4E=<>< 4<E>GEV==>W ?4=5?V >57>6>D<?< ?D>5?5<<,  
7 O><<< =4=G4EFVL5 EF<>4NFLEO 7D><44< ?V4 G4E 6V4=>6?5=-
=O 6<F?>6>7> D>=4G; >5<V=O?<EO 4>E6V4>< F4 GE?VL=<<< 
>5=E4<< G ED5DV 45D646=>-?D<64F=>7> ?4DF=5DEF64, =444?< 
D5>><5=44FVW. �V=L?< 6<E=>6>V6, M> 4>?><>74 5G45 =444=4 
FV?L>< 4>F<6=<< V =4?>?57?<6<< 7D><444<, F4 6V47=4G<?< 
646?<6VEFL E?V6?D4FV 45D646< = 5V7=5EG 4?O L6<4>>7> F4 
O>VE=>7> 6V4=>6?5==O 7D><44.

�56 �4DFE4?4475, ?D57<45=F �>=D545D4FVW 5G4V65?L=<>V6 
'>D4W=<, 67O6 =4 E555 D>?L <>45D4F>D4 =4 4<E>GEV==V= ?4=5?V 
=4 F5<G «%F4=44DF<74FVO G 5G4V6=<FF6V: ?D>5?5<< F4 6<>?<-
><». �V= 4>F5=FG646 G647G =4 =5>5EV4=>EFV 4<E>GEVW ?D> EF4=-
44DF<74FVN G E6VF?V EGG4E=<E 6<>?<>V6: «�< 6<65<> 6 D54?VOE 
6V==<, 4 F5 6<>?<>< F4 7<V=<. %L>7>4=V '>D4W=4 O> >4=4<44F 
G G?5=< �6D>?5=EL>>7> %>N7G ?D>E>4<FL 74D<>=V74FVN 6EVE 
=>D< 7 T6D>?5=EL><<<». �V= =474446, M> 1 EVG=O 2023 D>>G 
=45D46 G<==>EFV �4>>= '>D4W=< «�D> =444==O 5G4V65?L=>W 
?D>4G>FVW =4 D<=>G» ($57?4<5=F �% 305/2011), 4?5 =4D47V 
4VNFL >4=>G4E=> 464 D57?4<5=F< (4> 2025 D>>G).

�?5>E4=4D �4=>>6, 4<D5>F>D �5?4DF4<5=FG F5E=VG-

=>7> D57G?N64==O �V=VEF5DEF64 5>>=><V>< '>D4W=<, D>7>D<6 
646?<6VEFL FD<64?>7> ?D>F5EG 444?F4FVW EF4=44DF<74FVW 4> 
<V6=4D>4=<E F4 T6D>?5=EL><E =>D<. &5= ?D>F5E 5G?> V=V-
FV=>64=> M5 G 2015 D>FV 7 ?D<==OFFO< �4>>=G '>D4W=< «�D> 
EF4=44DF<74FVN». �?5>E4=4D �4=>>6 F4>>6 747=4G<6, M> D>-
5>F4 =44 '7>4>N ?D> >FV=>G 6V4?>6V4=>EFV F4 ?D<==OF=VEFL 
?D><<E?>6>W ?D>4G>FVW (ACAA) =45?<64TFLEO 4> 7465DL5==O, 
M> E?D<OF<<5 E?D>M5==N 6<E>4G G>D4W=EL><E ?V4?D<T<EF6 
=4 <V6=4D>4=<= D<=>>: «&4>, 74D47 4?O 74V=E=5==O 5>E?>D-
FG = V<?>DFG =5>5EV4=> ?D>E>4<F< >FV=>G 6V4?>6V4=>EFV V 6 
'>D4W=V, V 6 45D6464E �%. � ?VE?O ?D<==OFFO '7>4< 4>EF4F=L> 
5G45 ?D>E>465==O F4>>W >FV=>< 6 '>D4W=V, M> 5>>=><<F<<5 
G4E F4 >>LF<». 

&5FO=4 �5<G5=>>, ?D54EF46=<FO 6V44V?G 74557?5G5==O 5G-
4V65?L=>W ?D>4G>FVW =4 D<=>G �V=VEF5DEF64 D>76<F>G 7D><44, 
F5D<F>DV= F4 V=DD4EFDG>FGD< '>D4W=< (�V=VEF5DEF64 6V4=>6-
?5==O), 74G646<?4, M> ?D>F5E 74D<>=V74FVW 74>>=>446EF64 G 
ED5DV EF4=44DFV6 7 T6D>?5=EL><<< =>D<4<< F4 6?D>64465=-
=O 305-7> $57?4<5=FG FD<64T. �>=4, 7>>D5<4, 77444?4 ?D> T6-
D>?5=EL>V EF4=44DF<, O>V 5G?< ?D<==OFV G 2023 D>FV, G F><G 
G<E?V EF4=44DF< 4?O 5G4V65?L=>W ?D>4G>FVW, BIM-F5E=>?>7V=, 
5=5D7>5D5>F<6=>EFV F4 �6D>>>4V6.

�4==4 �V=4L, 6<>>=GNG4 >5>69O7>< 7>?>6=>7> V=E?5>F>-

D4 5G4V65?L=>7> =47?O4G F4 =4G4?L=<>4 '?D46?V==O �5D646-

=>W V=E?5>FVW 4DEVF5>FGD< F4 <VEF>5G4G64==O '>D4W=< (����)  
G �L6V6EL>V= >5?4EFV, ?>4V?<?4EO V=D>D<4FVTN ?D> >=>6?5==O 
���. &5 EF>EGTFLEO F4><E ED5D, O> 557?5>4 5G4V65?L, WE EFV=-
>VEFL, 5=5D7>5D5>F<6=VEFL, 4>EFG?=VEFL, 5>>?>7VG=V 6<<>7< F4 
?>656=4 557?5>4. �>=4 =47444?4: «%F4DF D>5>F< >>6=>7>  
7 ��� >5D4E>6GTFLEO 6V4 1 G<E?4 =4EFG?=>7> <VEOFO 6?D>-
4>66 90 4=V6 7 G4EG ?G5?V>4FVW. &><G E?V4>G=F5 74 >=>6?5=-
=O< ���, WE <>6=4 7=4=F< =4 ?G5?VG=><G ?>DF4?V ���%%�, G 
D>74V?V $5TEFD<, �4>>=>446GV F4 =>D<4F<6=V 4>F<. &4< WE <>6-

=4 7464=F46<F< G ?>6=><G F5>EFV 46F>D<7>64=>7> 4>EFG?G». 
�=4F>?V= �5D>GF4, 6VF5?D57<45=F ��', 6<E?>6<6 4G<>G 

?D> 646?<6VEFL =574?56=>7> >D74=G EF4=44DF<74FVW 4?O 74-
557?5G5==O ?D>7>D>EFV D<=>G. �V= 747=4G<6, M>, =576464N-

G< =4 4VN 305-7> $57?4<5=FG, 74?<L4TFLEO 4>FG4?L=<< ?<-
F4==O V=DD4EFDG>FGD< >>=FD>?N O>>EFV, 7>>D5<4 =4O6=>EFV 
?45>D4F>DV=. &><G G4EF> ?>FDV5=> 765DF4F<EO 4> 74>>D4>=-
=<E >>?57 4?O ?D>6545==O 4=4?V7V6.

�5==44V= $4D5=N>, 4<D5>F>D �4G>>6>-4>E?V4=>7> V=-

EF<FGFG 5G4V65?L=<E >>=EFDG>FV=, ?V4>D5E?<6 646?<6VEFL 
6?D>64465==O T6D>?5=EL><E EF4=44DFV6 O> =4FV>=4?L=<E. 
�V= 774446, M> F5E=VG=5 D57G?N64==O 6 �% 547GTFLEO =4 305-
<G $57?4<5=FV, 4<D5>F<64E F4 4>F4E >D4W=-G?5=V6, 4 F4>>6 
=4 T6D>?5=EL><E EF4=44DF4E, F5E=VG=<E GE64?4E, >FV=FV 6V4-
?>6V4=>EFV F4 >>=FD>?N D<=>G. �4= �5==44V= =47>?>E<6, M> 
6 '>D4W=V >4=>G4E=> 4VNFL =4FV>=4?L=V F4 74D<>=V7>64=V 7V?-
>< =>D<4F<6=>W 547< 4?O 5G4V65?L=>W 74?G7V. �V= 6V47=4G<6 
<>6?<6V =56V4?>6V4=>EFV <V6 =<<< F4 4>F5=FG646 G647G =4 
=5>5EV4=>EFV WE GEG=5==O.

�<E4=?> �>EVF>>, O><= T <VEL><< 7>?>6>N �4<9O=-

FO-�>4V?LEL>>7> 6 %<5?L=<FL>V= >5?4EFV, ?D54EF46<6 ?D>T>F 
<VEF56>W 7D><44< ?V4 =476>N «�DG>4D=O 7<V=: D56VF4?V74FVO 
EF4D<E 6<D>5=<G<E ?D<<VM5=L 4?O D>D<G64==O F5=FDV6, 
M> >59T4=GNFL <VEF56V F4 ?5D5E5?5=V 5V7=5E<». �?O 6FV?5=-
=O FL>7> ?D>T>FG 5G?> >D74=V7>64=> 6V4>D<F<= 4DEVF5>FGD-
=<= >>=>GDE, M>5 6<7=4G<F< =4=>D4M<= 5E>V7=<= ?D>T>F 
5V7=5E-F5=FDG 6 %F4D><G <VEFV. ' <4=5GF=L><G ??4=GTFLEO 
6V4>D<FFO D>774?G65=>W �75=FVW D>76<F>G 5V7=5EG =4 547V >>-
?<L=L>W 4DG>4D=V, O>4 5G45 <VEF<F< 6<EF46>>6<= ?D>EFVD, 
<4=EF5D=V, >4D5, >DVE=V F4 44<V=VEFD4F<6=V ?D<<VM5==O.

�<E?>6?NT<> ?>4O>G ?4DF=5D4< F4 >D74=V74F>D4< 
74E>4G 74 6V4>D<FFO =>6<E ?5DE?5>F<6 V <>6?<6>EF5= 

4?O 6V45G4>6< F4 D>76<F>G 7D><44 '>D4W=<!
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4> 6FD4F< >?NG>6<E DV7<>>-<5E4=VG=<E 6?4EF<6>EF5= ?V=>-
?>?VEF<D>?L=<E ??<F, V, O> =4E?V4>>, <4D>4 ?V=>??4EFG T 7=4G-
=> =<6G>N, =V6 747=4G4T 6<D>5=<>, F4 =5 <>65 74557?5G<F< 
6V4?>6V4=>7> DV6=O 5=5D7>755D565==O.

EUROBUD ?D47=5 74?>5V7F< ?>L<D5==N =<7L>>O>VE=<E 
?V=>?>?VEF<D>?L=<E ??<F, M> =5 6V4?>6V44NFL 74O6?5=<< 
F5E=VG=<< E4D4>F5D<EF<>4< F4 <>6GFL 66>4<F< E?>6<64GV6 
6 ><4=G. �?O FL>7> << 6?D>644<?< ?D>7D4<G 74D4=FVW O>>EFV 
?V=>?>?VEF<D>?G «EUROBUD 4 O>VEFL EPS 74D4=F>64=>», O>4 
ED>D<>64=4 =4 >E=>6V 4>E?V465=L T6D>?5=EL>>7> 4>E6V4G F4 
<V6=4D>4=<E EF4=44DFV6 5=5D7>755D565==O. &O ?D>7D4<4 
E?DO<>64=4 =4 EF6>D5==O V=EFDG<5=FV6 4?O ?5D56VD>< O>>-
EFV ?D>4G>FVW, M>5 E?>6<64GV <>7?< ?57>> ?5D5>>=4F<EO 6 WW 
=44V==>EFV. �5F4?L=VL5 7 ?D>7D4<>N F4 <5F>4>< E4<>EFV==>W 
?5D56VD>< ?V=>??4EFG =4 O>VEFL 6< <>65F5 >7=4=><<F<EO =4 
=4L><G E4=FV www.eurobud.ua.

EUROBUD 4 >4<= V7 =55474FL>E 6<D>5=<>V6 ?V=>?>?VEF<-
D>?G 6 '>D4W=V, O><= ?V4F65D4<6 F5D<V= 5D5>F<6=>W 5>E??G4F4-
FVW ?V=>??4EFG 557 6FD4F< ?5D6<==<E 6?4EF<6>EF5= =5 <5=L5 
50 D>>V6. �DV< F>7>, ?V=>??4EF =4L>7> 6<D>5=<FF64 ?D>=L>6 
=574?56=G 5>E?5DF=G >FV=>G =4 6EVE 5F4?4E 6<FFT6>7> F<>?G 
?D>4G>FG 4 6V4 E<D>6<=< 4> 7>F>6>7> F>64DG F4 >FD<<46 
G>D4W=EL><= 7=4> 5>>?>7VG=>7> <4D>G64==O «�5?5=<= 6GD46-
?<>». �< =5 ?D>EF> 7>6>D<<> ?D> T6D>?5=EL>V EF4=44DF< 
O>>EFV 4 << 4>6>4<<> F5 6V4?>6V4=<<< >64?VDV>4FV==<<< 
?45>D4F>D=<<< 6<?D>5G64==O<<!

' ?VE?O6>T==<= ?5DV>4 5G45 E?>EF5DV74F<EO 45DVF<F 5G4V-
65?L=<E <4F5DV4?V6, F><G << GVF>> D>7G<VT<>, M> 4?O GE?VL-

=>W 6V45G4>6< >D4W=< ?>FDV5=4 =5 ?<L5 O>VEFL, 4 = 4>EFG?=VEFL 
<4F5DV4?V6. �4O6=VEFL =5>5EV4=<E 6<D>5=<G<E F4 ?>7VEF<G-
=<E ?>FG6=>EF5= 44EFL 7<>7G 5D5>F<6=> F4 557 74FD<<>> 
74557?5GG64F< 5G4V65?L=V ?>FD55< 4?O 6V4=>6?5==O ?>L>>-
465=<E >59T>FV6.

�<D>5=<GV F4 ?>7VEF<G=V ?>FG6=>EFV EUROBUD 4>76>?O-
NFL =4< >E>??N64F< 6EN '>D4W=G. �465 464 D>>< F><G << 
D>7L<D<?<EL V 6V4>D<?< =>6<= 746>4 G <. �D>?<6=<FL>>-
<G. &5= 746>4 EF46 ?D<>?44>< EGG4E=<E F5E=>?>7V= F4 V=-
=>64FV= G 74?G7V 6<D>5=<FF64 ?V=>??4EFG, 4=4?>7< O>><G 
646>> 7=4=F< =46VFL G �6D>?V!

�V45G4>64 '>D4W=< ?>G<=4TFLEO 7 O>VE=<E 5G4V65?L-
=<E <4F5DV4?V6. �5<D4=F5 T6D>?5=EL>G O>VEFL 4 >5<D4=F5 
EUROBUD. �V46V44=F5 =4L 655E4=F 4?O >FD<<4==O 45F4?L-
=VL>W V=D>D<4FVW F4 >>=EG?LF4FVW 7 =4L<<< D4EV6FO<<: www.
eurobud.ua

EUROBUD 4 6V45G4GT<> D47>< 5=5D7>5D5>F<6=5 
<4=5GF=T, =4 O>5 74E?G7>6GT '>D4W=4!

EUROBUD 4 F5 G>D4W=EL><= 6<D>5=<>, O><= T ?V45D>< =4 
D<=>G 6<D>5=<FF64 ?V=>??4EFG. �><?4=VO 6<D>5?OT EGG4E-
=<= E4<>74FGE4NG<= ?V=>??4EF 74 T6D>?5=EL><<< EF4=44D-
F4<< O>>EFV 7 2004 D>>G. %L>7>4=V =4LV 6<D>5=<GV ?>FG6=>E-
FV D>7<VM5=V G 46>E D57V>=4E: <. �4?GL (�64=>-$D4=>V6EL>4 
>5?.) F4 <. �D>?<6=<FL><= (�VD>6>7D44EL>4 >5?.).

�E=>6=4 ?5D56474 ?V=>?>?VEF<D>?L=<E ??<F &� EUROBUD 
?>?O74T 6 F><G, M> << =V>>?< =5 4>76>?OT<> 7=<7<F< 
O>VEFL =4 >>D<EFL 5>>=><VW. �>?< << 7>6>D<<> ?D> F5, M>  
EUROBUD 4 F5 4>E>>=4?4 O>VEFL G >>6=><G <2, F5 =5 ?D>E- 
F> E?>64, 4 ?D<=F<? D>5>F< =4L>W >><?4=VW.

�4?>DG>>N =4L>7> GE?VEG T =4O6=VEFL =4 746>44E 
EUROBUD EGG4E=>7> 6<E>>>F5E=>?>7VG=>7> >5?44=4==O 
>D4M<E T6D>?5=EL><E 6<D>5=<>V6, O>5 4>76>?OT =4< ?>6-
=VEFN >>=FD>?N64F< ?D>4G>F =4 6EVE 5F4?4E 6<D>5=<FF64. 
/>VEFL >V=F56>7> ?D>4G>FG 74?56<FL 6V4 46>E >E=>6=<E D4>-
F>DV6 4 F5 E<D>6<=4 F4 >5?44=4==O. �4 19 D>>V6 D>5>F< F4 
4=4?V7G 6EVE >?NG>6<E 4E?5>FV6 6<D>5=<FF64 O>VE=>7> ?V=>-
?>?VEF<D>?G << GVF>> 7D>7G<V?<, M> E4<5 O>VEFL >5?44=4==O 
6??<64T =4 ?>EFV==<= >>=FD>?L ?D>?>DFV= E<D>6<=<, M> 
=444T ?V=>??4EFG 6V4?>6V4=<E DV7<>>-<5E4=VG=<E 6?4EF<6>E-
F5=: <VF=VEFL =4 EF<E> F4 D>7FO7, F5??>?D>6V4=VEFL, 7GEF<=G, 

?>>47=<>< 7>DNG>EFV F>M>.
%L>7>4=V 6 '>D4W=V, =4 64?L, 7=4G=4 

G4EF<=4 F5??>V7>?OFV==<E D>5VF 6<>>-
=GTFLEO 7 6<>>D<E-
F4==O< =<7L>>O>VE-
=<E, =5?5D56VD5=<E 
<4F5DV4?V6. �46<<E-
=4 5>>=><VO >>LFV6 
6<D>5=<>>< =4 E<-
D>6<=V ?D<76>4<FL 

�V45G4>64 '>D4W=< 4 F5 5V?LL5, =V6 ?D>-

EF> 6V4=>6?5==O. &5 G=V>4?L=4 <>6?<6VEFL 
ED>D<G64F< <4=5GF=T, 74E=>64=5 =4 5=5D7>5D5>F<6=<E 
5G4V6?OE, O>V 7<5=LGNFL E?>6<64==O D5EGDEV6 F4 ?>>D4-

MGNFL 5>>?>7VN. �D5>F<6=4 6V45G4>64 <4T 6V45G64F<EO 
74 =>6<<< EF4=44DF4<<, O>V 5G4GFL 6D4E>6G64F< 557?5-

>G, >><D>DF F4 5=5D7>755D565==O. %L>7>4=VL=V 6<>?<>< 
EF4NFL =4L<<< <>6?<6>EFO<< 4?O D>76<F>G F4 7<V=, 
4465 '>D4W=4 ?>FD55GT =5 ?D>EF> D5>>=EFDG>FVW, 4 = <>-

45D=V74FVW 7 6<>>D<EF4==O< 6<E>>>O>VE=<E 5G4V65?L=<E <4-

F5DV4?V6. �VEVO EUROBUD G FL><G ?D>F5EV 4 74557?5G5==O 
5G4V65?L=>7> E5>F>DG O>VE=<<< <4F5DV4?4<<, O>V =5 FV?L>< 
6V4?>6V44NFL T6D>?5=EL><< EF4=44DF4< O>>EFV, 4 = E?D<-

ONFL 5=5D7>5D5>F<6=>EFV F4 4>67>6VG=>EFV 5G4V65?L, M> 
T >?NG>6<<< 4E?5>F4<< 4?O 5D5>F<6=>W 6V45G4>6< '>D4W=<.

�$��&���� ����'���� '�$����: 
��$����%,�� %&����$&� /��%&� � EUROBUD
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�> GG4EFV 6 >>=D5D5=FVW 5G?> 74?D>L5=> D4EV6FV6, O>V 74-
=<4NFLEO ?<F4==O<< D>76<F>G 5G4V65?L=>W =4G>< F4 6V45G-
4>6< '>D4W=<, >5DV6=<>V6 7D><44EL><E >59T4=4=L 5G4V65?L-
=<>V6 '>D4W=<, ?D<64F=<E ?V4?D<T<FV6, 45D646=<E GEF4=>6, 
?D54EF46=<>V6 >D74=V6 <VEF56>7> E4<>6DO4G64==O.

� 6VF4?L=<< E?>6>< 4> GG4E=<>V6 >>=D5D5=FVW 765D=G?4-
EO 7>?>64 �><VF5FG �5DE>6=>W $44< '>D4W=< 7 ?<F4=L >D74-
=V74FVW 45D646=>W 6?44<, <VEF56>7> E4<>6DO4G64==O, D57V>-
=4?L=>7> D>76<F>G F4 <VEF>5G4G64==O �?5=4 ,G?O>. �>=4 
6V47=4G<?4 GE?VE< �� ����� 6 V=F57D4FVW G T6D>?5=EL><= 
V E6VF>6<= ?D>EFVD F4 4>F5=FG64?4 G647G =4 D>?V 74>?44G  
G 6<DVL5==V ?D>5?5< 6V4=>6?5==O 5G4V65?L V E?>DG4, ?>-
L>>465=<E G D57G?LF4FV 47D5EVW D>EV=EL>>W D545D4FVW. �>-
>D5<4, 74 >EF4==V= DV> 5G?> 6<>>=4=> D>5>F< 7 >5EF565==O 
V D>7D>5?5==O ?D>T>FV6 6V4=>6?5==O ?>=44 300 5G4<=>V6, 
<>EFV6, V=L<E E?>DG4 G �<T6V, '5D=V7>6V, �GGV, �D?5=V F4 V=L<E 
<VEF4E V E5?4E.

�4EFG?=<FO <V=VEFD4 D>76<F>G 7D><44, F5D<F>DV= F4 V=D-

D4EFDG>FGD< '>D4W=< �4F4?VO �>7?>6EL>4 =47>?>E<?4 =4 
F><G, M> =4G>>6<= 6=5E>> G 5G4V65?L=G 74?G7L >>?5>F<6G 

>4=>7> 7 ?>FG6=<E =4G>>6<E 5G4V65?L=<E V=EF<FGFV6 >D4W=< 
=5 FV?L>< ED>D<G646 6<44F=G VEF>DVN 74>?44G, 4 = 6V4V7D4T 
>?NG>6G D>?L G 74557?5G5==V EFV=>>EFV V=DD4EFDG>FGD< =4L>W 
>D4W=<. �?O ?D<>?44G, E5D54 6<7=4G=<E >59T>FV6 5G4V6=<F-
F64, G E?>DG465==V, 755D565==V 45> 4>E?V465==V O><E 5D46 
GG4EFL V=EF<FGF, T >59T>F< >G?LFGD=>W E?44M<=< (%>DV=EL><= 
E>5>D, �<E4=?V6EL><= �>?>F>65DE<= <>=4EF<D, 'E?5=EL><= 
E>5>D �<T6>-�5G5DEL>>W ?46D<, �=4DVW6EL>4 F5D>64, �4FV-
>=4?L=4 DV?4D<>=VO), ?D><<E?>6V F4 5=5D75F<G=V E?>DG4< 
(G>D<FFO =44 G5F65DF<< 5=5D7>5?>>>< '>D=>5<?LEL>>W ��%, 
�=V?D>��%), 7D><44EL>V 5G4V6?V (�%� «�?V<?V=EL><=», �<W6-
EL><= F4 �45EL><= >?5D=V F54FD<, G=V65D<47 «�<FOG<= E6VF», 
«�G4<=>> EG4>6=<>4», «�G4<=>> F>D7V6?V», 4<FOG4 ?V>4D=O 
«�E<4F4<F»), 65?<>V 6<F?>6V <4E<6< 6 �4?>DV66V F4 �=V?DV =4 
?D>E44=<E �DG=F4E, 7=4G=4 >V?L>VEFL 6<F?>6<E, 44<V=VEFD4-
F<6=<E, FD4=E?>DF=<E F4 V=L<E >59T>FV6.

�4F><VEFL, 6<EFG?4NG< ?5D54 GG4E=<>4<< >>=D5D5=-

FVW, ?D57<45=F �G4V65?L=>W ?4?4F< '>D4W=<, �5D>= '>D4W=< 
�5FD> ,<?N> 7>6>D<6 ?D> 74644==O 6VFG<7=O=>W 5G4V-
65?L=>W =4G>< G D>5>FV 7 6V4=>6?5==O =4L<E 7DG==>64=<E  
V ?>L>>465=<E D>EV=EL><<< >>G?4=F4<< <VEF. &4>, 74 ?>?5-
D54=V<< ?V4D4EG=>4<<, 665 ?>FD55GNFL 6V4=>6?5==O ?>-
=44 200 F<E. V=DD4EFDG>FGD=<E >59T>FV6, ??>M4 6<6545=<E 
7 ?44G 6<F?>6<E 5G4<=>V6 =45?<64TFLEO 4> 100 <?= >6. <, 
4 6D4E>6GNG<, M> 6 >EF4==V ?5D546>T==V D>>< 6 '>D4W=V 
66>4<?>EO 10-11 <?= >6. < 6<F?4 M>DVG=>, >G56<4=>N  
T =5>5EV4=VEFL 7=4G=>7> 75V?LL5==O >5EO7V6 5G4V6=<FF64. 
&4>>6 =474?L=<<< T ?<F4==O 6<7=4G5==O 6 D>7DV7V D57V>-
=V6 >V?L>>EFV F4 EFDG>FGD< ?>EFD4644?>7> 6<F?4 = V=L<E 
>59T>FV6, ?5D5454G5==O 465D5? DV=4=EG64==O, 7<VF=5==O 
547< 5G4V65?L=<E >><?4=V=.

�D57<45=F ��' 6<E?>6<6 ?5D5>>=4==O, M> �=EF<FGF 
5G4V65?L=<E >>=EFDG>FV=, EF6>D5=<= G 1943 D>FV 6 D>7?4? 
�DG7>W E6VF>6>W 6V==< 4?O 6V4=>6?5==O >D4W=< 6V4 DG==G64=L 
D4L<EFV6, V EL>7>4=V 5G45 45<>=EFDG64F< 6<E>><= ?D>D5EV-
>=4?V7< F4 65?<><= 4>E6V4 ?V4 G4E 6V45G4>6< 6V4 =4E?V4>V6 
G65 D>EV=EL>>W 47D5EVW.

III �E5G>D4Z=EP>4 =4G>>6>-?D4>F<K=4 >>=H5D5=JYS 
«$>?P =4G>< G 6Y45G4>6Y '>D4Z=<»

29 ?<EF>?444 2023 D>>G �� «�5D646=<= =4G>>6>-4>E?V4=<= V=EF<FGF 5G4V65?L=<E >>=EFDG>FV=» ?D<=<4?> GG4E=<>V6  
&D5FL>W �E5G>D4W=EL>>W =4G>>6>-?D4>F<G=>W >>=D5D5=FVW «$>?L =4G>< G 6V45G4>6V '>D4W=<», ?D<E6OG5=>W 6V47=4G5==N 
80-DVGGO 6V4 4=O 74E=G64==O �=EF<FGFG. �> >D74=V74FVW 74E>4G 4>?GG<?<EL �V=VEF5DEF6> V=DD4EFDG>FGD< '>D4W=<, 
�5D646=5 ?V4?D<T<EF6> «�4G>>6>-4>E?V4=<= V=EF<FGF 5G4V65?L=<E >>=EFDG>FV=», �<W6EL><= =4FV>=4?L=<= G=V65DE<F5F 
5G4V6=<FF64 V 4DEVF5>FGD<, �45EL>4 45D646=4 4>445<VO 5G4V6=<FF64 V 4DEVF5>FGD<, �>445<VO 5G4V6=<FF64 '>D4W=<  
F4 �G4V65?L=4 ?4?4F4 '>D4W=<.



�4 7465DL5==O 6<EFG?G �5FD> ,<?N> ?D<6VF46 ?D54-
EF46=<>V6 V=EF<FGFG 7 N6V?5T< F4 6DGG<6 >>?5>F<6G 6<MG =4-
7>D>4G �G4V65?L=>W ?4?4F< '>D4W=< 4 >D45= «�4 74E?G7<»,  
4 ?D4FV6=<>4< 74>?44G 4 =47>D>4< ��'.

&4>>6 6VF4==O >>?5>F<6G 6<E?>6<?< 7>?>64 �5D646-
=>7> 475=FEF64 6V4=>6?5==O F4 D>76<F>G V=DD4EFDG>FGD< 
'>D4W=< �GEF4D4-�4EV �4T<, ?D57<45=F �>=D545D4FVW 5G-
4V65?L=<>V6 '>D4W=< �56 �4DFE4?4475, ?5DL<= 6VF5?D5-
7<45=F '>D4W=EL>>7> E>N7G ?D><<E?>6FV6 V ?V4?D<T<FV6 
%5D7V= �D>E>D>6.

' <564E >>=D5D5=FVW 5G?> D>77?O=GF> F4>V ?<F4==O: 
" EGG4E=<= EF4= F4 ?DV>D<F5F< D>76<F>G 5G4V65?L=>W =4-

G>< ?V4 G4E 6V45G4>6< F4 6V4=>6?5==O >D4W=<; 
" =>D<4F<6=>-<5F>4<G=5 74557?5G5==O 557?5>< F4 

6V4=>6?5==O ?>L>>465=<E >59T>FV6 F<6V?L=>7>, ?D>-
<<E?>6>7> ?D<7=4G5==O, 5=5D75F<G=>7> F4 7V4D>F5E-
=VG=>7> ?D<7=4G5==O; 

" D>?L F4 ?>F5=FV4? 6VFG<7=O=>W 6<M>W L>>?< G 6V45G-
4>6V F4 6V4=>6?5==V >D4W=<; 

" 5G4V65?L=4 =4G>4 F4 WW 6??<6 =4 F5E=VG=5 D57G?N64==O 
6 G<>64E 6V45G4>6<;

" =4G>>6>-F5E=VG=V F4 DV=4=E>6>->D74=V74FV==V ?D>5?5-
<< D>76<F>G ?D><<E?>6>EFV 5G4V65?L=<E <4F5DV4?V6; 

" =4G>4 V 5V7=5E 4 ?5DE?5>F<6< D>76<F>G F4 674T<>4VW;
" >E>5?<6>EFV <V6=4D>4=>7> =4G>>6>-F5E=VG=>7> E?V6-

D>5VF=<FF64 ?V4 G4E <4ELF45=>W 6V45G4>6< D57V>=V6 
'>D4W=<; 

" =4G>>6V 4E?5>F< 5=5D7>5D5>F<6=>EFV F4 D5EGDE>755-
D565==O 6 G<>64E EGG4E=>7> 5G4V6=<FF64; 

" 6??<6 7D><44EL><E >D74=V74FV= =4 5G4V65?L=G 74?G7L.
�4 GG4EFN ?D>6V4=<E =4G>>6FV6 =46G4?L=<E 74>?4-

4V6 5G4V65?L=>7> ?D>DV?N 4 6VFG<7=O=<E (�45EL><= 
=4FV>=4?L=<= <>DEL><= G=V65DE<F5F, �' «�>?F46EL>4 
?>?VF5E=V>4», �<W6EL><= =4FV>=4?L=<= G=V65DE<F5F 5G-
4V6=<FF64 V 4DEVF5>FGD<) F4 V=>75<=<E (�V=EL>>6<= F5E-
=>?>7VG=<= G=V65DE<F5F F4 �=EF<FGF 5G4V65?L=<E F5E-
=>?>7V= V7 $5E?G5?V>< �>?LM4), 4 F4>>6 �4FV>=4?L=>W 
E?V?>< 4DEVF5>F>DV6 '>D4W=<, �>=D545D4FVW 5G4V65?L=<-

>V6 '>D4W=<, D4EV6FV6 �45EL>>W <VEL>>W D44<, =4G>>6FV6 
�4FV>=4?L=>7> 74?>6V4=<>4 «%>DVO �<W6EL>4», D4EV6-
FV6 �%� '��%, %<5?L=<FL>>W ��%, ��& «'>D7V4D>?D>-
5>F», >5DV6=<>V6 ��, 6>?>=F5DEL><E E?V?L=>F, 45D646-
=<E GEF4=>6 F4 5V7=5E-EFDG>FGD 6V45G?>EO LVEFL FV>46<E  
V 7<VEF>6=<E ?4=5?L=<E 4<E>GEV=: 

" «�4G>>6>-F5E=VG=V 4E?5>F< ?D>6545==O >5EF565=L 
?>L>>465=<E F4 7DG==>64=<E 6<F?>6<E V 7D><44EL-
><E 5G4V65?L F4 V=DD4EFDG>FGD=<E >59T>FV6». 

" «�E>5?<6>EFV >5EF565==O, 6V4=>6?5==O F4 755D565=-

=O ?>L>>465=<E F4 7DG==>64=<E >59T>FV6 >G?LFGD=>W 
E?44M<=<». 

" «%GG4E=<= EF4= F5E=VG=>7> D57G?N64==O F4 >E>5?<-

6>EFV =>D<4F<6=>W 547<, M> D57?4<5=FGT ?D>6545==O 
>5EF565=L V ?D>T>FG64==O 6 G<>64E 6>T==>7> EF4=G».

" «�4557?5G5==O 5=5D7>5D5>F<6=>EFV 5G4V65?L 6 G<>-
64E 6V4=>6?5==O F4 6V45G4>6<».

" «�4G>4 V 5V7=5E 4 ?5DE?5>F<6< 674T<>4VW».
" «%GG4E=V F5E=>?>7VW G 5=5D75F<G=><G, 7V4D>F5E=VG=>-

<G F4 4>D>6=L><G 5G4V6=<FF6V».
$544>FVO 6GD=4?G Prof Build F4>>6 4>?GG<?4EL 4> >>=-

D5D5=FVW 4 6<44==O 6<EFG?<?> <54V4?4DF=5D>< 74E>4G. 
%6VF?4=4 ,4E, 7>?>6=4 D544>F>D>4 = 74E=>6=<FO 6GD=4?G 
Prof Build, ?>4O>G64?4 >>?5>F<6G ����� 74 WE 6=5E>> G 6?D>-
64465==O =>6<E F5E=>?>7V= =4 6VFG<7=O=><G 5G4V65?L=>-
<G D<=>G, D>76<F>> G>D4W=EL>>W =4G><, 4 F4>>6 74 4>F<6=G 
D>5>FG F4 GG4EFL G 6V45G4>6V '>D4W=<.
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�>6<= DV> 4 =>6V 765DL5==O

�56 �4DFE4?4475, ?D57<45=F ��', ?D<6VF46 GEVE GG4E=<-
>V6 V >7=4=><<6 V7 ?>DO4>>< 45==<<. �V= 747=4G<6, M> ?VE-
?O >EF4==L>7> 74EV44==O $44< 4<D5>F>DV6 6V45G?>EO 5474F> 
7<V= F4 79O6<?>EO G<<4?> =4?D4FN64=L G 5G4V65?L=V= 74?G7V. 
&4>>6 F57>6> >?>6VEF<6 ?D<EGF=VE ?D> ?D>6545==O 65?<><E 
D>DG<V6 4 G �<T6V F4 �4DL46V, E?V6?D4FN �>=D545D4FVW 7 
<V6=4D>4=<<< ?4DF=5D4<<, ?V4?<E4==O �5<>D4=4G<V6, 4 
F4>>6 ?D> ??4=< =4 2024 DV>.

' D4<>4E 74EV44==O $44< 4<D5>F>DV6 ��' 5G?> EF6>D5=> 
=>6<= �><VF5F ��' 7 ?<F4=L =>D<4F<6=>W F4 74>>=>?D>T>-
F=>W 4VO?L=>EFV, 4 WW 7>?>6>N 5G?> >5D4=> �?L7G %<4>DGG>, 
>5DV6=<FN ND<4<G=>W >><?4=VW SEMPRA LAW, G?5=4 $44< 
4<D5>F>DV6 ��'. �465 =4D47V 646?<6<< >D>>>< T EF6>D5==O 
6V4?>6V4=>7> �><VF5FG =4 547V ��', >E>V?L>< 4VO?L=VEFL �>=-
D545D4FVW, 7>>D5<4, E?DO<>64=4 =5 ?<L5 =4 ?D4>F<G=<= EG-
?D>6V4 6V45G4>6< =4L>W >D4W=<, 4 = =4 EF6>D5==O =4?56=>7> 
?D46>6>7> F4 V=65EF<FV==>7> >?V<4FG.

&>6 E5D54 ?5DL>G5D7>6<E 74644=L �><VF5FG ��' 7 ?<F4=L 
=>D<4F<6=>W F4 74>>=>?D>T>F=>W 4VO?L=>EFV 5G45 >?D4FN-

64==O =4O6=<E ?D>T>FV6 =>D<4F<6=>-?D46>6<E 4>FV6, =444=-
=O D5>><5=44FV= V ?D>?>7<FV=, 45< 6 <4=5GF=L><G ?D>F5E 
6V45G4>6< 5G6 <4>E<<4?L=> >><D>DF=<< O> 4?O G>D4W=EL><E 
5G4V65?L=<>V6, F4> V 4?O 74>>D4>==<E V=65EF>DV6.

�D> 6<>?<>< EL>7>45==O F4 ??4=< =4 =4=5?<6G<= G4E 
�V=VEF5DEF64 D>76<F>G 7D><44, F5D<F>DV= F4 V=DD4EFDG>-
FGD< '>D4W=< (�V=VEF5DEF64 6V4=>6?5==O) ?D<EGF=VE ?D>-
V=D>D<G64?4 �4F4?VO �>7?>6EL>4, 74EFG?=<FO <V=VEFD4 
D>76<F>G 7D><44, F5D<F>DV= F4 V=DD4EFDG>FGD< '>D4W=<. 

�4=V �4F4?VO 747=4G<?4, M> 665 40 F<E. D>4<= >FD<-

<4?< >><?5=E4FVN 74 ?D>7D4<>N T�V4=>6?5==O: «�5DL5,  
7 G<< EF<>4T<>EO, 4 F5 ?<F4==O DV=4=EG64==O. �4D47V 
=4 7465DL4?L=><G 5F4?V ?5D55G64T ?V4?<E4==O 4>7>6>-
DV6 V7 75V?LL5==O DV=4=EG64==O >><?5=E4FVW 74 7=<M5=5 
<4==>. �V?>F5F<G=V 74<>6=<><, O>V D54?V7GNFL >64DF<D<  
6 >59T>F4E =57465DL5=>7> 6<F?>6>7> 5G4V6=<FF64, <>-
6GFL D>7G<VF<, M> =4 FD<64?<= ?5DV>4 G4EG T D5EGDE». 

�4EFG?=<FO <V=VEFD4 74G646<?4, M> =<=V FD<64T 6=5-
E5==O 7<V= G 74>>=>446EF6>, O>V <4NFL E?D>EF<F< ?D>-
F54GDG =>F4DV4?L=>7> >D>D<?5==O 4>7>6>DV6, 4 E4<5 
=45FLEO ?D> 74>>=>?D>T>F 710208 «�D> 6=5E5==O 7<V= 
4> 45O><E 74>>=V6 '>D4W=< M>4> G4>E>>=4?5==O ?D46>-
6>7> D57G?N64==O ?<F4=L, ?>69O74=<E V7 745>D>=>N 6V4-
GG65==O >59T>FV6 =5DGE><>7> <4==4, ?D<454=<E (G F><G 
G<E?V ?D>V=65EF>64=<E/?D>DV=4=E>64=<E) 7 6<>>D<EF4=-

=O< 6<F?>6>7> E5DF<DV>4F4 =4 ?D<454==O >59T>F4 6<F-
?>6>W =5DGE><>EFV», V =47>?>E<?4, M> =4D47V 5G45 75V?L-
LG64F<EO G6474 4> ?<F4==O ?5D6<==>7> DV=4=E>6>7> 
<>=VF>D<=7G. 

�4EY44==S $44< 4<D5>F>DY6 ��'

20 ?NF>7> 2024 D>>G 6V45G?>EO 74EV44==O $44< 4<D5>F>DV6 ��', 
O>5 >59T4=4?> ?D54EF46=<>V6 6?44< F4 ?V45DV6 5G4V65?L=>W 74?G7V. 
&5 ?5DL5 7V5D4==O F4>>7> D>D<4FG FL>7> D>>G, F>6 GG4E=<>< 
>57>6>D<?< ?V4EG<>< 2023 D>>G F4 ??4=< =4 2024 DV>, 4 F4>>6 
>>=E>?V44FVN 7GE<?L 5G4V65?L=>7> 5V7=5EG 4?O 6V45G4>6< '>D4W=< 
F4 4>?><>7< 74E<E=<>4<. 
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DV=4=EG64==O G D>7<VDV 19-20 <?D4 =4 6V4>D<F><G D<=>G, 6<-
44F< 12 F<E. >D54<FV6 V 4>?GG<F< 4> ?D>7D4<< M5 5-6 =>6<E 
54=>V6-?4DF=5DV6. 

�V4 G4E E6>7> 6<EFG?G �7>D $4D5=N>, 4<D5>F>D $>=4G 
5=5D7>5D5>F<6=>EFV, =474446, M> $>=4 5=5D7>5D5>F<6=>EFV 
44<V=VEFDGT 46V ?D>7D4<< 4 «�=5D7>4V<» (7 2019 D>>G) F4 «�V4-
=>6<���» (7 2022 D>>G). ->4> ??4=V6 =4 2024 DV>, 74 E?>64<< 
?4=4 �7>D4, 5G45 74?GM5=> ?V?>F=<= 5F4? ?D>7D4<< «�DV=-
���». �>=4 ?5D5454G4F<<5 6EF4=>6?5==O E>=OG=<E ?4=5?5= 
7 V=65DF>D4<< F4 4>G<G?OF>D4<<, 4 F4>>6 6EF4=>6?5==O F5-
??>6<E =4E>EV6 G 5474F>>64DF<D=<E 5G4<=>4E. �5=5DVFV4D< 
=57<V==V 4 �%��.

�DV< F>7>, FL>7> D>>G $>=4 5=5D7>5D5>F<6=>EFV ??4=GT 
?V4FD<<G64F< �%�� V 6<44F< 7D4=F< =4 EG<G =5 <5=L5, =V6 
1 <?D4 7D= (F5 ?D>7D4<4-<V=V<G<), 4 6 V454?V 4 1,5 <?D4 7D=.

�?5>E4=4D �>6<FL><=, 7>?>64 �5D646=>W V=E?5>FVW 
4DEVF5>FGD< F4 <VEF>5G4G64==O '>D4W=< (����), D>7?>G46 
6<EFG?, 4>F5=FG646L< G647G =4 ?D>4>665==V D>5>F< 7 <5-
F>N 46F><4F<74FVW F4 G4>E>>=4?5==O =444==O 5?5>FD>==<E 
?>E?G7, 7>>D5<4 �4<=>W 45D646=>W 5?5>FD>==>W E<EF5<< G 
ED5DV 5G4V6=<FF64 (���%%�). �V= =474446, O>V =>6>66545=-
=O 5G?< =4?D4FL>64=V G 2023 D>FV. �5DL5 4 F5 46F>D>7-
?>4V? V=E?5>F>DV6 4?O ?D>6545==O >7?O4G. &4>>6 7>?>64 
���� D>7>D<6 45F4?V 55F4-F5EFG EF4=44DF<7>64=<E 6V4<>6 
F4 >>D5E?<6 ??4=< M>4> M5 >4=>7> =>6>66545==O 4  
<5E4=V7<G 46F>74?>6=5==O 6V4><>EF5=. -5 6V= D>7?>6V6 
?D> =>6<= <5E4=V7< 4 46F>D5TEFD4FVN ?>6V4><?5==O ?D> 
?>G4F>> 6<>>=4==O 5G4V65?L=<E D>5VF. �>D5<4 =>64 46-
F><4F<7>64=4 ?>E?G74, ?D> O>G 774446 ?4= �?5>E4=4D, 4  
>=?4==-7GEFDVG V7 >5DV6=<FF6>< ����. &5 E?D<OT ?D>7>D>-
EFV V=E?5>FVW F4 T 7DGG=<< V=EFDG<5=F>< 76>D>F=>7> 769O7-
>G. &4>, GEV 74<>6=<>< 5G4V6=<FF64, O>V >FD<<4?< 6V4<>6G 
4?O >59T>FV6 >?4EV6 =4E?V4>V6 %%2 F4 %%3, <4NFL <>6?<6VEFL 
74 >4<= >?V>, 74?>6=<6L< >V?L>4 ?>?V6, 74?<E4F<EO =4 
>=?4==-?D<=>< 7 >4=<< V7 >5DV6=<>V6 ����. 

->4> ??4=V6 =4 2024 DV>, �?5>E4=4D �>6<FL><= ?D>V=-
D>D<G646 ?D> ?5DE?5>F<6< D54?V74FVW 46F><4F<G=>7> 4>76>-
?G, 4?O 6FV?5==O O>>7> 665 ?>G4?< 6<>>D<EF4==O <5E4=V7<G 
46F><4F<G=<E ?5D56VD>>. &V ?5D56VD>< EF4=GFL ?V4�DG=FO< 
4?O 6<44GV ?5DL<E 46F><4F<G=<E 4>76>?V6. &>5F> E<EF5<4 
=4 ?V4EF46V 74>>=>446EF64 ?D>6545 ?56=G >V?L>VEFL ?5D56V-
D>>, V G D47V GE?VL=>7> WE ?D>E>465==O 4> V=E?5>F>D4 ?>FD4-
?<FL ?4>5F 4>>G<5=FV6 G 665 4>>?D4FL>64=><G 6<7?O4V.

&4>>6 =4 74EV44==V $44< 4<D5>F>DV6 ��' 6<7=4G<?< G?>6-
=>6465=>7> ?D54EF46=<>4 ��' 7 ?<F4=L E?V6D>5VF=<FF64  
G $5E?G5?VFV �>?LM4, O><< EF46 �?44<E?46 �64=>6, 6VF5?D5-
7<45=F �>?LEL>>-G>D4W=EL>>W 7>E?>44DG>W �4?4F< ?> ?>?L-
EL>V= EF>D>=V, 7 O>>N 6>E5=< 2023 D>>G �>=D545D4FVO ?V4?<-
E4?4 �5<>D4=4G< ?D> E?V6?D4FN.

�5D5<>65<> V 6E5 6V45G4GT<>!
  �O>GT<> ?D5E-E?G65V ��'  

74 4>?><>7G G ?V47>F>6FV <4F5DV4?G

&4>>6 E?V>5D ?>6V4><<?4 ?D> E?V?L=V 7 <V6=4D>4=<<< 
?4DF=5D4<< =4?D4FN64==O M>4> 74<V=< =4O6=>7> �<F?>-
6>7> >>45>EG '>D4W=<. �>=< <VEFOFL 7<V=< 4> 7474?L=<E ?V4-
E>4V6, DG=>FV>=G64==O F4 >4F57>DV= >59T>FV6 6<F?>6>7> ?D<-
7=4G5==O. �4?D4FN64==O 5G4GFL ?D575=F>64=V =4=5?<6G<< 
G4E>< %6VF>6<< 54=>><. &4>>6 �4F4?VO �>7?>6EL>4 ?>6V-
4><<?4 ?D> D>7D>5>G M5 >4=>7> �4>>=G, O><= ?5D5454G4T 
G?D46?V==O 6<F?>6<< D>=4><, 4 E4<5 ?D>F5E G?D46?V==O F4 
E?>EV5 ?>T4=4==O G?D46?ONG<E >><?4=V= F4 �%��.

' 74EV44==V $44< 4<D5>F>DV6 ��' 67O6 GG4EFL �VF4?V= �V=4D4-
FV6, 74EFG?=<> <V=VEFD4 5>>=><V>< '>D4W=<. �V= =474446, M> 4> 
2025 D>>G 6 '>D4W=V ?4D4?5?L=> 4VNFL &5E=VG=<= D57?4<5=F 
2006 D>>G F4 305 $57?4<5=F �%, O><= G65 74F65D465=> �4>>-
=>< '>D4W=< «�D> =444==O 5G4V65?L=>W ?D>4G>FVW =4 D<=>G». 

/> 747=4G<6 �VF4?V= �V=4D4FV6, >5<464 D57?4<5=F< ?5-
D5454G4NFL ?D>6545==O >FV=>< 6V4?>6V4=>EFV 4>D54<F>64-
=<<< V ?D<7=4G5=<<< >D74=V74FVO<<: «/>M> 7 F5E=VG=<< 
D57?4<5=F>< 2006 D>>G ?D>5?5< =5<4T 4 T 15 >D74=V74FV=, 
O>V F<< 74=<4NFLEO, F> M>4> 305 $57?4<5=FG �% T ?D>5?5<-

=V ?<F4==O. %>GG ?>V=D>D<G64F<, M> =4=5?<6G<< G4E>< =4 
>4=5 ?D>5?5<=5 ?<F4==O EF4=5 <5=L5 4 �� «'>D<5FDF5EF-
EF4=44DF» 74D47 ?D>E>4<FL 4>D54<F4FVN 74 F4><<< =4?DO-
<4<<: E<?>6V >>=FD>?L=V >455?V, >455?V 769O7>G 4?O 5?5>FD>-
?>EF4G4==O F4 ?D>6545==O >><G=V>4FV=, ?D>F<?>656=<=, 
?>656=4 E<7=4?V74FVO, EF4=44DF=5 ?>656>74EV==O, 74E>5< 
>>=FD>?N 6>7=N F4 4<<G, ?D<4GL5==O 6<5GEV6». 

&4>>6 74EFG?=<> <V=VEFD4 5>>=><V>< '>D4W=< D>7?>6V6, 
M> 74D47 74V=E=NTFLEO ?D>?D4FN64==O F5E=VG=>W V DV=4=-
E>6>W <>6?<6>EFV 4>D54<FG64F< �� «'>D<5FDF5EFEF4=44DF» 
V 74 V=L<<< =4?DO<4<<, ?5D5454G5=<<< 305 $57?4<5=F>< 
�%. �4= �VF4?V= 74G646<6, M> G 2023 D>FV ED5D4 5G4V6=<FF64 
V 5G4V65?L=<E <4F5DV4?V6 EF4=>6<?4 =4=5V?LLG G4EF>G E5D54 
?D<==OF<E =4FV>=4?L=<E EF4=44DFV6 4 167 EF4=44DFV6, 141 7 
O><E 5G?> ?D<==OF> =4 >E=>6V <V6=4D>4=<E F4 T6D>?5=EL><E 
?D4>F<>. �V= 74?D>?>=G646 ?D54EF46=<>4< 5V7=5EG F4>>6 4>-
?GG4F<EO 4> FL>7> ?D>F5EG V 6=>E<F< 6V4?>6V4=V V=VFV4F<6<. 

�>65 ?D> T�E5?N, 5=5D7>5D5>F<6=VEFL  
F4 5?5>FD>==V ?>E?G7<

�> 74EV44==O $44< 4<D5>F>DV6 ��', 7>>D5<4, 4>?GG<6EO 
7>?>64 ?D46?V==O '>DDV=6<F?4 �675= �5F75D. �V= D>7?>6V6 
GG4E=<>4< ?D> D57G?LF4F< D>5>F< ?D>7D4<< T�E5?O 74 <<-
=G?<= 2023 DV> V ?D> F5, O><E 7<V= 64DF> >GV>G64F< =4 ?5D-
6<=FV 665 G 2024-<G. &4>, T�E5?O ?D4FNT 665 ?> 6EV= '>D4W=V, 
>DV< F<<G4E>6> >>G?>64=<E F5D<F>DV= V F<E, 45 FD<64NFL 4>-
F<6=V 5>=>6V 4VW. �4 1,5 D>>< D>5>F< ?D>7D4<< 6<44=> <4=65 
11,5  <?D4 7D= >D54<FV6. &4><< G<=><, G65 7527 EV<5= >FD<-
<4?< ><DVO=5 6<F?>.

�46?<6> = F5, M> EL>7>4=V 665 25 745G4>6=<>V6 F4 59 WE-
=VE >5¾T>FV6 >FD<<4?< 4>D54<F4FVN G 54=>4E-?4DF=5D4E 74 
?D>7D4<>N T�E5?O. &4>>6 G FL><G D>FV ??4=GTFLEO 74?GG<F< 
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' 74EV44==V 67O?< GG4EFL ?D54EF46=<>< �><VF5FG �5D-
E>6=>W $44< '>D4W=< 7 ?<F4=L >D74=V74FVW 45D646=>W 6?44<, 
<VEF56>7> E4<>6DO4G64==O, D57V>=4?L=>7> D>76<F>G F4 <V-
EF>5G4G64==O, �V=V=DD4EFDG>FGD<, �D�& «'>DDV=6<F?>», 
�5D646=>W E?5FV4?V7>64=>W DV=4=E>6>W GEF4=>6< «�5D646-
=<= D>=4 E?D<O==O <>?>4V6=><G 6<F?>6><G 5G4V6=<FF6G», 
�D57<45=F '%�� �=4F>?V= �V=4E, G?5=< $44< ��', ?D54EF46-
=<>< 5G4V65?L=<E >><?4=V=, =4G>>6>-4>E?V4=<E V ?D>T>F=<E 
V=EF<FGFV6-G?5=V6 ��', 5>E?5DF< 5G4V65?L=>W 74?G7V, �D>D-

E?V?>< 5G4V65?L=<>V6 '>D4W=<.
�D57<45=F �G4V65?L=>W ?4?4F< '>D4W=<, �5D>= '>D4W=< 

�5FD> ,<?N> ?D<6VF46 GEVE GG4E=<>V6 V >7=4=><<6 7 ?>DO4-
>>< 45==<<. �V= 747=4G<6, M> EL>7>4=V ?>FDV5=V GVF>V F4 ?D>-
7>DV ?D>7D4<< 6V45G4>6<, 6 O><E 5G4GFL 6<7=4G5=V 74644==O 
V 7>5>69O74==O 45D646<, <VEF56>7> E4<>6DO4G64==O, 5V7=5EG 
= E4<<E 7D><44O=. �4NFL 5GF< ?5D5454G5=V 465D5?4 DV=4=-
EG64==O, 6V4=>6?5==O 6<D>5=<G>W 547< 5G4V6=<FF64 F4 5G-
4<4F5DV4?V6, V=LV >D74=V74FV==>-F5E=VG=V ?<F4==O. �>FDV5=V 
45D646=V EF<<G?<, 4>?><>74 <V6=4D>4=<E ?4DF=5DV6. �D< 
FL><G =5 <5=L 646?<6<< T >5D4==O ?D46<?L=>7> L?OEG 
?D< 6V4=>6?5==V >D4W=<. �D<<VD><, <4E>65 V=4GEFDV4?L=5 4>-
<>5G4G64==O <>65 5GF< 6 >E=>6V 6V4=>6?5==O 7DG==>64=>-
7> V ?>L>>465=>7> 6<F?>6>7> D>=4G. � 4?O FL>7> ?>FDV5=> 
<4F< 4>EF4F=L> EGG4E=V ?>FG6=>EFV F4 4>E6V4. 

«' >>D?>D4FVW «���-�<F?>5G4», 4> O>>W O <4N 557?>E5D54-
=V= EF>EG=>>, << 665 >V?L>4 D>>V6 O> <>45D=V7G64?< 6<D>5=<-
FF6>, 6EF4=>6<?< >4=G V7 >D4M<E =V<5FL><E F5E=>?>7VG=<E 
?V=V= 4?O 6<7>F>6?5==O 74?V7>55F>==<E 6<D>5V6. &5 =5<4?V 
74FD4F<, 4?5 557 =<E =5<>6?<6> ?5D5=F< =4 =>6V EF4=44DF< 
5G4V6=<FF64. �57 ?5D5>E=4M5==O 6<D>5=<G>W 547<, =4 4VN-

G<E ?V4E>44E, << >D4W=G =5 6V45G4GT<>. � 6V45G4G64F< =4< 
?>FDV5=> 4G65 5474F>», 4 747=4G<6 �5FD> ,<?N>. 

�V4 G4E 74EV44==O D4EV6FV 74?G7V D47>< V7 ?D54EF46=<>4<< 
6?44< F4 7D><44EL><E >D74=V74FV= ?D54<5F=> >57>6>D<?< 
?D>5?5<< D>5>F< 5G4V65?L=>7> >><??5>EG, 4 F4>>6 6=5E?< 
=<7>G ?D>?>7<FV= M>4> EF45V?V74FVW 74?G7V, ?V47>F>6>< 4> 6V4-
5G4>6< 7DG==>64=<E <VEF, O>V ?O6GFL 6 >E=>6G ?>44?LL>W D>-
5>F< �G4V65?L=>W ?4?4F< '>D4W=<. 

�>>D5<4, �=4DV= �?>G>>, �4D>4=<= 45?GF4F �5DE>6=>W 
$44< '>D4W=<, '?5= �><VF5FG �5DE>6=>W $44< '>D4W=< 7 ?<-
F4=L >D74=V74FVW 45D646=>W 6?44<, <VEF56>7> E4<>6DO4G64=-
=O, D57V>=4?L=>7> D>76<F>G F4 <VEF>5G4G64==O, ?>4O>G646 74 
<>6?<6VEFL 4>T4=4F<EO 4> 74EV44==O F4 45F4?L=> 7G?<=<6EO 
=4 D>5>FV $>=4G ?V>6V44FVW =4E?V4>V6 75D>==>W 47D5EVW V ?D>-
7D4<V «T�V4=>6?5==O». �47444T<>, ?D>7D4<4 GDO4G '>D4W=< 
«T�V4=>6?5==O» 4 F5 V=VFV4F<64 M>4> =444==O >><?5=E4-
FV= G>D4W=FO< 74 7DG==>64=5 G< ?>L>>465=5 6=4E?V4>> 6>-
T==<E 4V= 6<F?>. �D>7D4<G D>7?>G4F> 10 FD46=O 2023 D>>G.  

$>7L<D5=5 74EY44==S $44< �G4Y65?P=>Z ?4?4F< '>D4Z=<

27 ?NF>7> 6V45G?>EO D>7L<D5=5 74EV44==O $44< �G4V65?L=>W ?4?4F< '>D4W=<, 45 GG4E=<>< >57>6>D<?< ?V4EG<>< 2023 D>>G 
 F4 ??4=< =4 2024 DV>, 4 F4>>6 ?<F4==O M>4> E<FG4FVW 6 5G4V65?L=><G >><??5>EV '>D4W=< 6 G<>64E 6>T==>W 47D5EVW D>EVW 
?D>F< '>D4W=<, 74E?GE4?< ?D>?>7<FVW 5G4V65?L=<E >D74=V74FV= 3 G?5=V6 ��' M>4> 6V45G4>6< 7DG==>64=<E <VEF F4 D>7-
7?O=G?< ?<F4==O DV=4=EG64==O 6<F?>6>7> 5G4V6=<FF64 74 ?D>7D4<4<< «T�E5?O» V «T�V4=>6?5==O». $544>FVO 6GD=4?G 
Prof Build FD44<FV==> 6<EFG?<?4 V=D>D<4FV==<< ?4DF=5D>< F4 67O?4 4>F<6=G GG4EFL G 74E>4V 6 >E>5V %6VF?4=< ,4E,  
O>4 T G?5=><=5N $44< �G4V65?L=>W ?4?4F< '>D4W=<.



�>FG4?L=>

21Prof Build 72 (38) 2024

DV7=<E ?4D4<5FDV6, M> 7=4G=> D>7L<DNT 64DV4F<6=VEFL 
<4=5GF=L>7> 6<F?4 F4, 74 =5>5EV4=>EFV, L6<4>> =444T D<=-

>G =5>5EV4=V 45F4?V. �465 D>7G<VT<>, M> ?VE?O ?5D5<>7<  
6 '>D4W=V 5G45 65?<>4 ?>FD554 G L6<4>><G 76545==V 6<F-
?4, 4 F4>>6 =>7> 6V4=>6?5==V. /> ?D<>?44, �D�& «���-4» 4
T4<=5 ?V4?D<T<EF6> 6 '>D4W=V, O>5 7<>7?> 6 EF<E?V F5D<V=< 
=4?47>4<F< 6<D>5=<FF6> ?4=5?5= ?>FDV5=>W >>=DV7GD4FVW 
4?O 6V4=>6?5==O ?>L>>465=>7> 6V==>N ?4=5?L=>7> 6<F-
?>6>7> 5G4<=>G 6 '<4=V.

&4>>6 ?D<EGF=V 6V46V44?< 7>F>6V >64DF<D< =>6>76545-
=>7> 6<F?>6>7> >><??5>EG >>D?>D4FVW «���-��&���'�» 3 
«NAVIGATOR 2». &5 EGG4E=<= 6<F?>6<= >><??5>E, 4DG7<= 
G ?V=V=FV >59T>FV6 74 >EF4==V= G4E, M> 5G4GTFLEO 6 �5>?>=-

EL>><G D4=>=V �<T64. �>7> D>7D>5?5=> 7 GD4EG64==O< 
4>E6V4G V EGG4E=<E F5=45=FV= G 5G4V6=<FF6V. �64DF<D< 6 
>><??5>EV �� «NAVIGATOR 2» =444NFLEO 7 ?>6=>FV==<< 
EGG4E=<< >74>5?5==O< (6EV4=V F4 <V6>V<=4F=V 465DV, 6V>=4 V 
54?>>==V 465DV, 6=GFDVL=V >74>5?N64?L=V D>5>F<), V7 6EF4-
=>6?5=<< E4=F5E=VG=<< >5?44=4==O<, D44V4F>D4<< >?4-
?5==O V 5?5>FD>D>76>4>>N. &>5F> 4>FD<<GTFLEO D>D<G?4 
«>G?<-74W6464=- 6<6<», M> 4>E<FL 4>FG4?L=> 4?O F<E, EF> 
6FD4F<6 6<F?>.

&>6, O> 54G<<>, 5G4V65?L=4 E?V?L=>F4 =5 EF>WFL =4 <VEFV,  
4 ?>EFV==> ?D4FNT =44 >?F<<V74FVTN 5G4V65?L=>7> ?D>F5EG 
F4 ?>LG>V6 L?OEV6 6<DVL5==O ?D>5?5<, E?D<G<=5=<E 6V=-
=>N. �VD<<> 6 '>D4W=G! $47>< 4> ?5D5<>7<!

«T�V4=>6?5==O» E?>G4F>G 4464?4 <>6?<6VEFL >FD<<4F< <4>-
E<<G< 200 F<E. 7D=, O>V <>6=4 5G?> 6<>>D<EF>6G64F< =4 ?D<-
454==O 5G4V65?L=<E <4F5DV4?V6 G< ?>E?G7 ?V4DO4=<>V6, 74D5T-
EFD>64=<E G ?D>7D4<V. �4 ?>G4F>G E5D?=O 2023 D>>G ?D>7D4<G 
«T�V4=>6?5==O» 7=4G=> D>7L<D<?<, ?D54EF46<6L< =>6G <>6-

?<6VEFL >FD<<4==O 6<F?>6>7> E5DF<DV>4F4 O> >><?5=E4FVW. &5= 
E5DF<DV>4F <>65 5GF< 6<>>D<EF4=<= 4?O V=65EFG64==O 6 =5DG-
E><VEFL 45> ?D<454==O 6<F?4 =4 ?5D6<==><G G< 6F>D<==><G 
D<=>G, 74 G<>6< 6V4EGF=>EFV D57V>=4?L=<E >5<565=L.

�>D5<>N G4EF<=>N 4V?>6>W ?D>7D4<< 74EV44==O EF4?> >7-
=4=><?5==O 7 <>6?<6>EFO<< =>6<E ?>FG6=>EF5= >>D?>D4FVW 
«���-�<F?>5G4» 4?O D>7L<D5==O EGG4E=>7> V=4GEFDV4?L=>7> 
4><>5G4G64==O. 'G4E=<>< 7<>7?< ?>5G64F< =4 ?V4?D<T<EF6V 
F4 ?>54G<F< 6EV ?5D5647< 6<D>5=<G>W ?V=VW «���-4» 6V4 >><-

?4=VW EBAWE 3 T4<=>W ?V=VW 6 '>D4W=V F4>>7> D>D<4FG. �>>D5<4, 
F<D>G?OFV==V 45> «>4DGE5?L=V» >>=F5?FVW 4?O 6<D>5=<FF64 
?>46V==<E EFV=>6<E ?4=5?5= 7 F5??>V7>?OFVTN V 557 =5W 44NFL 
7<>7G VEF>F=> 75V?LL<F< ?D>4G>F<6=VEFL 7464O>< ?V46<M5-
=><G EFG?5=N 46F><4F<74FVW. ' D57G?LF4FV E>>D>GGTFLEO G4E 
6<D>5=<G<E F<>?V6 V ?>?V?LGTFLEO O>VEFL >V=F56>W ?D>4G>FVW. 
&4>>6 =4 F4><E ?V=VOE 6<>>D<EF>6GNFLEO, =4?D<>?44, >?4-
?G5=V D>5>F<, GEF4=>6>< 4?O 764DN64==O 4D<4FGD=<E EVF>> V 
�D4FG4EF<E FD<>GF=<E D5D< (>4D>4EV6), 46F><4F<7>64=V E<EF5-
<< G>?444==O 4D<4FGD< F4 46F><4F<G=<= 55F>=>D>74464G. 

'E5 F5 4>76>?OT ?5D565EF< V=4GEFDV4?L=5 4><>5G4G64=-

=O =4 EGG4E=<= DV65=L 7 <>6?<6VEFN 6<?GE>G ?D>4G>FVW 
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7  �5DL =V6 ?5D5=F< 4> 5V?LL 7?<5>>>7> 
4=4?V7G ?<F4==O 7V4D>V7>?OFVW 5G4V65?L, E>46VFL 
>V?L>4 E?V6 ?D> >><?4=VN «�4G>>6>-6<D>5=<G5 
>59T4=4==O «%<EF5<< 74E<EFG 5G4V65?L=<E 
>>=EFDG>FV=», WW <5FG F4 ED5DG 4VO?L=>EFV.

4 «%<EF5<< 74E<EFG 5G4V65?L=<E >>=EFDG>FV=» 4 F5 >><-

?4=VO, M> =444T 7>F>6V DVL5==O 4?O D5<>=FG, 6V4=>6?5==O, 
G>DV??5==O, 74E<EFG F4 7V4D>V7>?OFVW 5G4V65?L=<E >>=EFDG>-
FV=. �< ?D>?>=GT<> V=4<6V4G4?L=V F4 >><??5>E=V E<EF5<=V 
DVL5==O 4?O 6>4>=5?D>=<>=<E 55F>==<E >>=EFDG>FV=  
G 5G4V6=<FF6V, F<6V?L=><G 5G4V6=<FF6V, 5G4V6=<FF6V FG=5?V6, 
V=65=5D=<E V 7V4D>F5E=VG=<E E?>DG4. �DV>D<F5F =444TFLEO 
6<E>>>O>VE=<< F4 5>>?>7VG=> G<EF<< <4F5DV4?4<, O>V =44V==V 
V ?57>V G 6<>>D<EF4==V. �4L4 <5F4 4 7D>5<F< D56>?NFVN =4 
D<=>G 7V4D>V7>?OFVW V 6V4=>6?5==O! 

7  />V DVL5==O <>65F5 EL>7>4=V 74?D>?>=G64F< 
4?O 5G4V6=<FF64 =>6<E 74E<E=<E E?>DG4, 
?D><<E?>6<E ?>FG6=>EF5= F4 F<6V?L=>W 
V=DD4EFDG>FGD<?

4 �4E4<?5D54 64DF> 6D4E>6G64F<, M> 7V4D>V7>?OFVO 5G-
4V65?L 4 F5 E?5FV4?V7>64=4 ED5D4 5G4V65?L=<E F5E=>?>7V=, 
?D<7=4G5=4 4?O FD<64?>7> 74E<EFG 5G4V65?L O> 6V4 ?D>=<>-
=5==O 6>4< 6E5D54<=G, F4> V 6V4 6<F>>G =5557?5G=<E DV4<=, 
M>5 =44>67> 74E<EF<F< 6>4=V D5EGDE< F4 =46>>?<L=T E5D5-
4>6<M5. �V4 G4E 76545==O >>=EFDG>FV= 7V4D>V7>?OFV==V E<-
EF5<< 74EF>E>6GNFLEO =4 DV7=<E 5F4?4E 5G4V6=<FF64 4 74-
>?445==O DG=44<5=FG, >5?4LFG64==O ?V464?G, EFV=, 44EV6 F4 
?>>DV65?L. &><G << ?D>?47GT<> V=L<= ?V4EV4 4> 6<DVL5==O 
?D>5?5< 7V4D>V7>?OFVW, 4=V6 =4LV >>?57<. �G?<=<<>EL =4 F5E-
=>?>7VOE 45O><E =4L<E V=>75<=<E ?4DF=5DV6.

%?D466=V< D56>?NFV>=5D>< G >><??5>E=><G ?V4E>4V 4> 
74E<EFG 5G4V65?L=<E >>=EFDG>FV= 6V4 6>?>7< ?V4 G4E =>6>-
7> 5G4V6=<FF64 T =V<5FL>4 >><?4=VO BPA GmbH. � <><5=FG 
E6>7> 74E=G64==O 6 1998 D>FV >><?4=VO BPA GmbH, O>4 EF4?4 
?V45D>< G ED5DV 6<E>>>O>VE=<E E<EF5< EFDG>FGD=>W 7V4D>V7>-
?OFVW, 74=<4TFLEO 6<D>5=<FF6>< V D>7?>6EN465==O< V==>-
64FV==<E 6<E>>>O>VE=<E 5G4V65?L=<E <4F5DV4?V6 4?O 7V4D>V-
7>?OFVW F4 75D<5F<74FVW >>=EFDG>FV= E?>DG4. �D>4G>F< BPA 
=44V==> 74E<M4NFL DG=44<5=F<, FG=5?V, ?V464?L=V V =4?V-
6?V464?L=V ?D<<VM5==O, M> 4?O '>D4W=< 6 G<>64E EL>7>45=-
=O T 4G65 4>FG4?L=<<.

�?O ?D<>?44G, E<EF5<4 <4F5DV4?V6 BPA CEMtobent® 4  
F5 6<E>>>F5E=>?>7VG=<= 7V4D>V7>?OFV==<= <4F5DV4? =4 >E-
=>6V =4FDV=-55=F>=VFG, E?5FV4?L=> D>7D>5?5=<= 4?O 6<>>-
D<EF4==O =4 65DF<>4?L=<E V 7>D<7>=F4?L=<E ?>65DE=OE 
?V475<=<E 74?V7>55F>==<E E?>DG4. �<7L>>?D>=<>=<= =4-
FDVT6<= 55=F>=VF V7 6<E>><< EFG?5=5< =45GE4==O V=>4?EG?L>-
64=<= <V6 75>>><?>7<F=<< <4F5DV4?>< (GCL) V 6>4>=5?D>-
=<>=<< EFV?L=<>>6<< 6>?44<L5< 7 3D-PE. �4?4F5=F>64=<= 
?D>F5E 7L<64==O 79T4=GT FV 464 6>?44<LV D47>< V7 F>4=>N 
>E=>6>N V F>4=<< 65DE=V< L4D><, GF6>DNNG< =4476<G4==> 
<VF=<= >><?>7<F. &5= >><?>7<F ?V4FD<<GT DV6=><VD=5 ?>-
>D<FFO 55=F>=VFG F4 74E<M4T =>7> 6V4 =5E?D<OF?<6<E ?>7>4-
=<E G<>6 V ?>L>>465=L, ?>69O74=<E 7 G<>64<< 5G4V6=<FF64. 
/>M> 6 EFV?L=<>>6<= 6>?44<L 3D-PE ?>L>>465=<= V 6>44 
?D>=<>4T 6 >><?>7<F=<= L4D, 55=F>=VF =45GE4T, GF6>DNN-

G< 6>4>EFV=>G <5<5D4=G. &4><< G<=><, 6<>>D<EF4==O ?D>-
4G>FVW BPA-CEMtobent® GEG64T ?>FD55G 6 FD44<FV==<E 7V4D>V-
7>?OFV==<E <4F5DV4?4E, F4><E O> 5VFG<=V DG?>==V <4F5DV4?<, 
<4EF<>< V E<=F5F<G=V <5<5D4=< 6EVE 6<4V6.

�4EFG?=<= ?D>4G>F, >><?>7<F=4 7V4D>V7>?OFV==4 <5<-
5D4=4 BPA-DualProof, D>7D>5?O?4EO 4?O L6<4>>7> V ?D>EF>-

�Y4 4>67>6YK=>EFY 4> =44Y==>EFY: 6<5YD ?D46<?P=<I 
F5I=>?>7Y= F4 <4F5DY4?Y6 4 >?RK 4> GE?YL=>7> 
74I<EFG E?>DG4

%<EF5<< 74E<EFG 5G4V65?L=<E >>=EFDG>FV= >E>??NNFL 
L<D>><= E?5>FD F5E=>?>7V= V <4F5DV4?V6, ?D<7=4G5=<E 
4?O 74557?5G5==O FD<64?>W F4 5D5>F<6=>W 5>E??G4F4FVW 
= 557?5>< 5G4V65?L=<E >59T>FV6. �4E<EF 6V4 6>?>7< 664-

64TFLEO >4=<< V7 =4=646?<6VL<E 4E?5>FV6. �V4D>V7>?O-

FV==V E<EF5<< 6V4V7D4NFL >?NG>6G D>?L G 74557?5G5==V 
=44V==>EFV 5G4V65?L, O> G =>6><G 5G4V6=<FF6V, F4> V ?V4 
G4E D5>>=EFDG>FVW =4O6=<E >59T>FV6. �D>F5 7474?L=<= 
GE?VE 6<>>D<EF4==O E<EF5< 74E<EFG 5G4V65?L=<E >>=-

EFDG>FV= 74?56<FL 6V4 ?D46<?L=>7> 6<5>DG F5E=>?>7V= 
F4 <4F5DV4?V6, 4 F4>>6 6V4 WE =4?56=>7> 6EF4=>6?5==O 
= >5E?G7>6G64==O ?D>FO7>< GEL>7> F5D<V=G 5>E??G4F4-

FVW. �V?LL5 ?D> 7V4D>V7>?OFVN 5G4V65?L D>7?>6V6 4<D5>F>D  
&�� «��� «%���» �<E4=?> %5<5=N>.



�9T4=4==O E?5FV4?L=>7> ?>>D<FFO 7 55F>=>< 74?>5V74T 
?D>FV>4==N 6>4< G5D57 L6<. �>FDV5=> ?<L5 3 E< 55F>=G 7 
>5>E 5>>V6 4?O =44V==>W 75D<5F<74FVW E>?>4=<E L6V6 ?V4 F<E>>< 
4> 8 54D. BPA-CEMflex D>7D>5?5=> 4?O F>7>, M>5 74557?5G<F< 
=4=6<M<= DV65=L 5D5>F<6=>EFV E5D54 GEVE 4>EFG?=<E 7V4D>V7>-
?OFV==<E <4F5DV4?V6, 6>4=>G4E 6V= =4=?D>EFVL<= 6 GEF4=>6FV.

-5 >4<= FV>46<= ?D>4G>F G FV= >4F57>DVW 4 55=F>=VF>64 
EFDVG>4 4?O L6V6, M> =45GE4T, BPA-Quellmax. �>=4 ?D<-

7=4G5=4 4?O 7G?<=>< ?D>=<>=5==O 6>4< G5D57 =5DGE><V 
L6< 6 74?V7>55F>==<E >>=EFDG>FVOE, =46VFL =4 E>?44=<E 
45F4?OE. �V4E>4<FL O> 4?O 65DF<>4?L=>7>, F4> V 4?O 7>D<-
7>=F4?L=>7> 74EF>EG64==O V 74557?5GGT =44V==5 F4 L6<4-
>5 D>7L<D5==O ?V4 G4E >>=F4>FG 7 6>4>N. &O EFDVG>4 <4T 
6<E>><= 6<VEF 55=F>=VFG =4FDVN, 65G4>64=>7> 6 <4FD<FN 
7 <4>D><>?5>G?OD=>7> =4FGD4?L=>7> >4GGG>G; >DV< F>7>, 
E?5FV4?L=V =4?>6=N64GV F4 >D<EF4?VG=V 4><VL>< D>5?OFL 
WW 4G65 5D5>F<6=>N G 75D<5F<74FVW L6V6. �465 =4FDVT6<= 
55=F>=VF D>7L<DNTFLEO ?V4 G4E >>=F4>FG 7 6>4>N, GF6>DN-

NG< GMV?L=5==O =4 ?>65DE=V 55F>=G. �4 4>44F>> 4> FL>7> 
?D>F5EG <<FFT6>7> =45GE4==O BPA-Quellmax 74557?5GGT 
4>F<6=G 4>67>FD<64?G 75D<5F<74FVN 5G4L-O>>7> =5DGE>-
<>7> 79T4=4==O, D547GNG< 7 ?G6=VEFN 55F>=G 7 GF6>D5==O< 
7V4D>>E<4G >4?LFVN (6V?L=>7> 64?=4), O><= ?V4FD<<GT ?D<-
D>4=<= ?D>F5E E4<>6V4=>6?5==O (E?V>4==O) 55F>=G.

�>D5<>N 7DG?>N 6 FL><G E57<5=FV T 6<E>>>O>VE=V V=9T>-
FV==V L?4=7>6V E<EF5<< Predimax. �>=< 5G?< E?5FV4?L-
=> D>7D>5?5=V 4?O 74E<EFG 7>D<7>=F4?L=<E V 65DF<>4?L=<E 
>>=EFDG>FV= F4 E>?>4=<E L6V6 G ?V475<=<E 74?V7>55F>==<E 
V 55F>==<E >>=EFDG>FVOE, 4 F4>>6 4?O 74E<EFG DG=44<5=FV6 
V FG=5?V6 6V4 ?>F5=FV==<E F4 4>F<6=<E 6<F>>V6. &V E<EF5<< 
<>6GFL ?>6F>D=> V=9T>FG64F<EO 4?O 74?>5V74==O 6<F>>4<, 
E?D<G<=5=<< >EV44==O< 45> DGE>< >>=EFDG>FVW. �D<<VD><, 

7> 6<>>D<EF4==O. �4?56=> 6V4 ?D<7=4G5==O DualProof <>65 
5GF< E>?5T=4 75D<5F<>>< %�� 805 45> 79T4=4=4 F5D<VG=<< 
E?>E>5><. &O <5<5D4=4 <>65 6<>>D<EF>6G64F<EO G 6EVE 6<-
?44>4E, >>?< 74?V7>55F>==V >>=EFDG>FVW ?>FD55GNFL 74E<EFG 
6V4 �DG=F>6<E 6>4 V �DG=F>6<E 745DG4=5=L. �>=4 ?V4E>4<FL 
4?O 7>6=VL=L>W >4=>L4D>6>W EFDG>FGD=>W 7V4D>V7>?OFVW ??<F 
?5D5>D<FFO V 7>6=VL=VE 55F>==<E ?>65DE>=L EFV= 6V4 �DG=F>-
6>W 6>?>7<, 4 F4>>6 557=4?VD=>W V =4?VD=>W 6>4<.

�5<5D4==4 E<EF5<4 BPA-DualProof E>?444TFLEO 7V 
E?5FV4?L=>7> =5F>4=>7> ?>?V?D>?V?5=>6>7> ?>?>F=4, 6<-
7>F>6?5=>7> 74 =>6VF=L>N F5E=>?>7VTN BPA Barri-tex, O>5 7 
>4=>7> 5>>G 5>EFDG4>64=5 7 ��% 45> TPO/FPO-<5<5D4=>N 
V <>=FGTFLEO =4 >?4?G5>G ?5D54 55F>=G64==O<. �>4464=-
=O E?5FV4?L=<E =45GE4NG<E ?>?V<5DV6 4> BPA-DualProof S 
EF6>DNT >><?>7<F=G DG?>==G <5<5D4=G 7 6?4EF<6>EFO<< E4-
<>6V4=>6?5==O, M> D>5<FL WW ?D<44F=>N 4?O <>=F46G ?VE?O 
7=OFFO >?4?G5><. �464O>< ?>T4=4==N D?VEG Barritex V7 4G65 
7=GG>>N ��% 45> TPO/FPO-<5<5D4=>N <5<5D4==V E<EF5<< 
BPA-DualProof T =44V==<< 74E<EF>< 6V4 6>4<, M> 74?>5V74T 
5G4L-O>><G 5VG=><G DGEG 6>4< <V6 <5<5D4=>N V 55F>=><.

�><?>7<F=4 DG?>==4 <5<5D4=4 BPA-DualProof T 4 F5 
6<E>>>O>VE=4 ?D>7>D4 ��%-<5<5D4=4, O>4 44T 7<>7G GVF>> 54-
G<F< E6V6>74?<F<= 55F>= V =>7> 79T4=4==O 7 <5<5D4==>N E<-
EF5<>N BPA-DualProof. &4><< G<=><, 5G4L-O>V ?>L>>465==O 
<5<5D4=< 45> ?GEF>F< 6 55F>=V, O>V <>7?< 6<=<>=GF< ?V4 G4E 
55F>=G64==O, <>6=4 ?57>> 6<O6<F< V 6V4D5<>=FG64F<.

-5 >4<= ?D>4G>F, O><= 64DF<= G647<, 4 =45DO>4N-
GV =5F>4=V 7V4D>V7>?OFV==V <5<5D4=< BPA-SilverSeal.  
&5 7>?>>=5?D>5<6=<= =5F>4=<= D?VE, >5D>5?5=<= 6>4>-
?>7?<=4NG<< V 6>4>=45GE4NG<< ?>?V<5D>< G ?>T4=4==V  
7 ?>?V5F<?5=>6>N <5<5D4=>N 6<E>>>W MV?L=>EFV. �>7> 6<-
>>D<EF4==O GEG64T ?>FD55G G 6EVE FD44<FV==<E 7V4D>V7>?O-
FV==<E <4F5DV4?4E. BPA-SilverSeal <>6=4 <>=FG64F< O> ?5D54 
G>?444==O< 55F>=G, F4> V ?VE?O 7=OFFO >?4?G5><.

7  />V ?D>4G>F< >><?4=VO ?D>?>=GT 6 O>>EFV 
79T4=G64?L=<E GMV?L=5=L?

4 ' =4E T 4>6>?V DV7=><4=VF=<= 4E>DF<<5=F <4F5DV4?V6 
F4 F5E=>?>7V= G >4F57>DVW «�9T4=G64?L=V GMV?L=5==O». �4?D<-
>?44, 7V4D>V7>?OFV==V EF4?56V ??4EF<=< (7V4D>L?>=><)  
7 ?>>D<FFO< CEMflex. &5 >F<=>>64=4 EF4?564 ??4EF<=4, V=-
>4?EG?L>64=4 6 E?5FV4?L=5 74?4F5=F>64=5 4>F<6=5 ?>>D<F-
FO, O>5 6EFG?4T 6 D54>FVN 7 6>4>N V 6>?>7>N ?V4 G4E <>=FG-
64==O G E6V6<= 55F>=, 74557?5GGNG< 6>4>=5?D>=<>=VEFL 
L64 55F>=G64==O. BPA-CEMflex DG=>FV>=GT O> 4>F<6=<= V 
?4E<6=<= 54D9TD 4?O ?D>=<>=5==O 6>4< G5D57 GEV =5DGE><V 
>>=EFDG>FV==V L6< (O> 7>D<7>=F4?L=V, F4> V 65DF<>4?L=V).  
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E<EF5<< BPA Predimax D>7D>5?5=> F4><< G<=><, M>5 6>=< 
5G?< 4>67>6VG=<<<, <VF=<<< V ?>6=VEFN EFV=><<< 4> FD<-
64?>7> 74=GD5==O 6 �DG=F>6V 6>4<, E>?L>6V D>7G<=<, EFVG=V 
6>4<, ?G7<, ><E?>F<, 55=7<=, 4<75?L=5 ?4?<6> F4 E?<DF. �>=< 
?V4E>4OFL 4?O V=9T>FV= 7 GEV<4 ?>?VGD5F4=>6<<</5DVD=<<< 
E<>?4<<, 4>D<?>6<<< V ?>?V5DVD=<<< E<>?4<<, EP E<>?4<<, 
4>D<?4F4<<, 75?O<<, 4DV5=>4<E?5DE=<< V <V>D>4<E?5DE=<< 
F5<5=F><, ?>DF?4=4F5<5=F><.

�4EFG?=5 4 7V4D>DV?L=<= >4GGG> BPA-CEMswell. &5 
GMV?L=N64?L=<= ?D>DV?L 4?O L6V6, O><= D>7L<DNTFLEO ?V4 
G4E >>=F4>FG 7 6>4>N, 74?<L4NG<EL ?D< FL><G EF45V?L=<< 
74 D>7<VD4<<. &5 5>EFDG4>64=4 EG<VL =4 >E=>6V TPE, 6<7>-
F>6?5=4 7 >4GGG>G, 7V4D>DV?L=>W E<>?<, ?>?V5F<?5=G, E<?V>>=G 
F4 E?5FV4?L=<E 4><VL>>. �V4 G4E >>=F4>FG 7 6>4>N 6V= 744F5= 
=45GE4F< 4> 4 D47V6 6V4 6?4E=>7> >59T<G. BPA-CEMswell ?D< 
>>=F4>FV 7 6>4>N =44V==> GMV?L=NT L6< 7464O>< >>=FD>-
?L>64=><G D>7L<D5==N ?V4 F<E>><. �D>F5E D>7L<D5==O 
T 76>D>F=<<. �65D=VFL G647G, M> BPA-CEMswell =4E4<?5D54 
?D<7=4G5=<= 4?O 75D<5F<74FVW 75VD=<E 55F>==<E 5?5<5=FV6. 
BPA-CEMswell <>65 6<FD<<G64F< >V?L>4 F<>?V6 =45GE4==O. 

&4>>6 <4T<> E?5FV4?L=V >?5W-75D<5F<>< �4D5>?4= 
(Carbolan) F4 %�� 805, O>V >FD<<4?< EE64?L=V 6V47G>< E5D54 
5G4V65?L=>W E?V?L=>F<. 

7  'EV << D>7G<VT<>, M> 6 =4=5?<6GV >V?L>4 D>>V6 
E4<5 D5>>=EFDG>FVO F4 6V4=>6?5==O EF4=GFL 
=4=5V?LL 74FD55G64=<<< =4 5G4V65?L=><G D<=>G. 
/>V <4F5DV4?< F4 F5E=>?>7VW 4?O F4><E D>5VF 6< 
<4TF5? 

4 �?O D5>>=EFDG>FVW F4 6V4=>6?5==O =4O6=<E 5G4V65?L=<E 
74?V7>55F>==<E >59T>FV6 ��� «%���» ?D>?>=GT ?D>4G>FVN 
=V<5FL>>W >><?4=VW Minova CarboTech.

Minova 4 >4=4 7 =4=EF4DVL<E >><?4=V= �V<5GG<=< =4 
E6VF>6><G D<=>G 6 74?G7V 7V4D>V7>?OFVW F4 7<VF=5==O �DG=FV6.  
�W EF6>D5=> 6 1958 D>FV. �4T 5474F>DVG=<= 4>E6V4 D>5>F< 6 
7VD=<GV= ?D><<E?>6>EFV, FG=5?55G4G64==V, F<6V?L=><G 5G-
4V6=<FF6V, D5<>=FV >4=4?V74FV==<E <5D56, D5<>=FV F4 D5>>=-
EFDG>FVW 7V4D>F5E=VG=<E E?>DG4, 6<D>5=<FF6V ?D><<E?>6<E 
>?5W6 F4 V7>?NNG<E ?V==<E <4F5DV4?V6. �D>4G>F< F4 F5E=>-
?>7VW >><?4=VW GE?VL=> 6<>>D<EF>6GNFLEO =4 6EVE >>=F<=5=-
F4E E6VFG. �> E?>64, ?V=V=>4 ?D>4G>FVW >><?4=VW ?D54EF46?5=4 
<4F5DV4?4<< 4?O V=9T>FV==>W 7V4D>V7>?OFVW 55F>==<E L6V6; 
cy<VL4<< F4 D>7G<=4<< 4?O 74?>6=5==O ?>D>6=<=; <4-
F5DV4?4<< 4?O 6<>>=4==O D>5VF L?OE>< =45D<7>G64==O; 
F5<5=F=>N EG<VLLN; 75D<5F<>4<<; 4=>5D=<<< E<EF5<4<<; 
?D><<E?>6<< >5?44=4==O<, 6<FD4F=<<< <4F5DV4?4<< F4 
4>44F>>6<<< >><??5>FGNG<<<.

/> 54G<<>, F4><= ?5D5?V> ?D>4G>FVW 4>76>?OT ?D>?>=G-
64F< D<=>G DV7=V DVL5==O 4?O DV7=<E 74644=L F4 ED5D 74EF>-

EG64==O. �4?D<>?44, O>M> 67OF< V=9T>FV==V EG<VLV, F> << 
<4T<> ?>?VGD5F4=>6V, E<?V>4F=V F4 4>D<?4F=V E<>?< 7 4>6>?V 
L<D>>>N ED5D>N 74EF>EG64==O:

" <><5=F4?L=4 7G?<=>4 6>4<;
" 75D<5F<74FVO F4 7V4D>V7>?OFVO 5G4V65?L=<E «E>?>4-

=<E» V 45D>D<4FV==<E L6V6 G 55F>=V;
" D>5>F< 6 ?V475<=<E E?>DG44E;
" EF45V?V74FVO F4 G>DV??5==O �DG=FV6;
" G>DV??5==O =4O6=<E DG=44<5=FV6;
" 6?4LFG64==O 7V4D46?VG=<E 746VE G �DG=F4E;
" G>DV??5==O G>>EV6, G75VG, 4>DV7 V ?VDEV6;
" 74>DV??5==O 4=>5D4<< ?>DV4, EF6>D5==O 7>= 7<VF=5-

=<E ?>DV4 ?D< ?V475<=V= ?D>E>4FV;
" E>?5N64==O M555=N 74?V7=<G=<E >>?V= G <VEFOE 

EFDV?>G=<E ?5D56>4V6, <>EFV6 F>M>.
&65D4>5?4EF<G=V E<>?<, F4>V O> CarboLith PL  

V CarboLith SL, 74EF>E>6GNFL 4?O ?>>4?L=>7> D5<>=FG 
>4=4?V74FV==<E FDG5, 75D<5F<74FVW 4>D>6=VE >>=EFDG>FV= F4 
GMV?L=5==O �DG=FG.

&V ?D>4G>F< <>6GFL 5GF< 6<>>D<EF4=V 6 DV7=<E ED5D4E 5G-
4V65?L=>W V=4GEFDVW, 74557?5GGNG< =44V==VEFL V 5D5>F<6=VEFL 
D5>>=EFDG>FVW F4 6V4=>6?5==O 5G4V65?L=<E >59T>FV6.

�474?>< ?D>4G>FVO F4 F5E=>?>7VW Minova EF6>DNNFL 
L<D>><= E?5>FD <>6?<6>EF5= 4?O 6<>>=4==O DV7=<E 
74644=L D5>>=EFDG>FVW F4 6V4=>6?5==O 5G4V65?L=<E >59T>-
FV6 =574?56=> 6V4 WE=L>7> F<?G = D>7<VDG. &V ?D>4G>F< 
44NFL 7<>7G 4>EO7F< =44V==>EFV, 4>67>6VG=>EFV F4 5D5>-
F<6=>EFV 6 D>5>FV, M> T >D<F<G=> 646?<6<<< 4E?5>F4<< 
G 5G4V65?L=V= V=4GEFDVW. 

�4=>>><?>=5=F=V EGEV <V=5D4?L=>-F5<5=F=V D>7G<-
=< 6<>>D<EF>6GNFL 4?O L6<4>>7> 6V4=>6?5==O 74?V7>55-
F>==<E F4 55F>==<E >>=EFDG>FV=. &V <4F5DV4?< <>6GFL 5GF< 
74EF>E>64=V O> 4?O DGG=>7> =4=5E5==O, F4> V 4?O <>>D>7> 45> 
EGE>7> F>D>D5FG64==O.

' ?V=V=FV Minova F4>>6 ?D54EF46?5=> ?D4>F<G=V DVL5==O, 
E5D54 O><E 64DF> 6V47=4G<F< D>7G<= 4?O F4<?>=46G <VE-
FL 6<F>>V6 6>4< Minostop F4 V=9T>FV==V D>7G<=< = D>7-
G<=< 4?O 74?<6>< Minotop. �4?D<>?44, Minostop 7G?<=OT 
6>4G =46VFL ?V4 =4?>D><, T EFV=><< 4> 47D5E<6=<E 6>4, 5DG-
4>- V 6>4>=5?D>=<>=<<, 4 F4>>6 <4T L6<4>5 EE>??N64==O.

�DV< F>7>, 646?<6G D>?L 6V4V7D4NFL E<EF5<< 4=>5D=>7> 
>DV??5==O, O>V 6<>>D<EF>6GNFLEO 4?O DV>E4FVW EF4=44DF=<E 
?>6=>FV?<E 7VDEL><E 4=>5DV6. &V E<EF5<< 74557?5GGNFL F<<-

G4E>65 >DV??5==O E>?5?V=L V EFV=>> 7VD=<G<E 6<D>5>> 6 G<>-
64E >56>4=5=<E L?GDV6, 4 F4>>6 E?G7GNFL 4?O 74>DV??5==O 
4=>5DV6 G 55F>=V F4 V=L<E <4F5DV4?4E. 

�>D5<<= =4?DO< «%���» 4 F5 4=>5D=5 G>DV??5==O.
' E6VFV 5G4V6=<FF64 =5<4T 646?<6VL>W E>?44>6>W, 4=V6 

=44V==4 V <VF=4 >E=>64, 6V4 <VF=>EFV O>>W 74?564FL 4>6-
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" �464O>< 74EF>EG64==N <4?>6V5D4FV==<E F5E=>?>7V= 
V 5GD>V=9T>FV==<E ?4?L F5E=>?>7VO T 5D5>F<6=>N ?V4 
G4E D5EF46D4FVW V D5>>=EFDG>FVW 5G4V65?L.

" $>5>F< <>6=4 ?D>6>4<F< 557 7G?<=>< 6<D>5=<FF64.
" �4EF>EG64==O V ?D<=<4==O D>5VF T ?D>EF<<.
" �DG?>65 (>GM>65) D>7F4LG64==O ?4?L ?>>D4MGT 4>-

F<G=5 7G5??5==O.

7  $>7G<VNG<, M> F5 ?<L5 G4EF<=4 F>7>, M> <>65 
74?D>?>=G64F< >><?4=VO «%���» 6VFG<7=O=><G 
5G4V65?L=><G D<=>G, E>FV?>EL 5< ?>GGF< >V?L>4 
?>D44, O><<< 64DF> >>D<EFG64F<EL ?V4 G4E 6<5>DG 
DVL5==O 4?O 7V4D>V7>?OFVW. 

4 �<5D4F< O>VE=V 5G4V65?L=V EG<VLV =5 F4> G65 = E>?44-
=>. �V4 G4E 6<5>DG 64DF> ?4<9OF4F< ?D> F5, M> >>6=4 EG<VL 
<4T E6>T ?D<7=4G5==O. %GG4E=<= D<=>> 5G4V65?L=<E <4-
F5DV4?V6 ?D54EF46?5=<= =5=<>6VD=>N >V?L>VEFN 5G4V65?L-
=<E EG<VL5= DV7=>7> ?D<7=4G5==O V DV7=<E FV=>6<E >4F5-
7>DV=. 'EV FV D5<>=F=V EG<VLV <>6=4 >?4E<DV>G64F< 74 WE=V< 
?D<7=4G5==O<.

�6<G4==>, D5<>=F V 74E<EF 55F>=G 4 =5?D>EF5 74644=-

=O, F>6 646?<6> D>7G<VF<, O>G F5E=>?>7VN V <4F5DV4?< >D4-
M5 6<>>D<EF>6G64F< 6 F><G G< V=L><G 6<?44>G. %4D4>F5D 
DG==G64=L V EFD4F57VN 6V4=>6?5==O 6<7=4G4NFL F4>>6  
V G<>6< 5>E??G4F4FVW >59T>F4 4 74?56=> 6V4 F>7>, =4E>V?L>< 
47D5E<6=<< T E5D54>6<M5 5>E??G4F4FVW, O><<< T 4F<>ED5D-
=V 6??<6< V <5E4=VG=V =464=F465==O, >5<D4NFL D5<>=F=V 
EG<VLV, M> >?F<<4?L=> ?V4E>4OFL. �4?D<>?44, 6<5VD EG<V-
L5= 4?O D5<>=FG 55F>=G 74?56<FL 6V4 >V?L>>E ?4D4<5FDV6: 
6V4 F<?G ?>L>>465==O, 45D5>FG ?>65DE=V, 4 F4>>6 6V4 G<>6 
5>E??G4F4FVW.

&5 ?<L5 =565?<>4 G4EF<=4 V7 G<E?5==<E ?D<>?44V6 DV-
L5=L, O>V << <>65<> 74?D>?>=G64F< 4?O 5G4V6=<FF64 
V D5<>=FG 74E<E=<E E?>DG4, ?D><<E?>6<E ?>FG6=>EF5= F4 
F<6V?L=>W V=DD4EFDG>FGD<. �4LV ?D>4G>F< 547GNFLEO =4 
?5D54>6<E F5E=>?>7VOE F4 6V4?>6V44NFL =4=6<M<< EF4=-

44DF4< O>>EFV F4 5>>?>7VG=>W 557?5><. �< ?D47=5<> =5 
?<L5 74557?5G<F< 5D5>F<6=<= 74E<EF E?>DG4, 4 = E?D<OF< 
EF4?><G D>76<F>G 5G4V65?L=>W 74?G7V 6 '>D4W=V.

�465DLGNG<, E>GG ?V4>D5E?<F<, M> 6<5VD ?D46<?L=<E 
F5E=>?>7V= F4 <4F5DV4?V6 T 6<DVL4?L=<< G<==<>>< 4?O 
GE?VL=>7> 74E<EFG 5G4V65?L=<E >>=EFDG>FV=. �><4=44 
&�� «��� «%<EF5<< 74E<EFG 5G4V65?L=<E >>=EFDG>FV=» 7>-
F>64 4>?><>7F< 64< G FL><G 74644==V, =444NG< =4=5D5>-
F<6=VLV F4 V==>64FV==V DVL5==O.

7>6VG=VEFL V 557?5>4 5G4V65?L=>7> >59T>F4. �=>5D=V E<-
EF5<< 6V4 =V<5FL>>7> 6<D>5=<>4 Minova, M> E4<>74-
5GDNNFLEO, 4 F5 DVL5==O 4?O 7<VF=5==O DV7=<E �DG=FV6 
7 GD4EG64==O< 5G4L-O><E ?D>T>F=<E ?>FD55. &5E=>?>7VO 
44T 7<>7G 74EF>E>6G64F< 4=>5D=V E<EF5<< =4476<G4==> 
L<D>>>:

" �<VF=5==O >E=>6, DG=44<5=FV6 DV7=<E 5G4V65?L F4 G4-
EF<= >>=EFDG>FV=, G>DV??5==O VEF>D<G=<E 5G4V65?L.

" $>7L<D5==O (7<VF=5==O) 7VDEL><E 4>DV7, EE<?V6, 6<-

>>D<EF>6GNFLEO O> �DG=F>6V =475?V. 
" �G?<=>4 7EG64==O 5G4V65?L F4 E?>DG4, ?V46545==O 

(G>DV??5==O) =>6<E DG=44<5=FV6 ?V4 E?>DG4<.
&4>>6 F5E=>?>7VO 4=>5D=>7> G>DV??5==O =44V==> 74-

D5>><5=4G64?4 E555 ?V4 G4E D>5VF G ?V475<=<E E?>DG44E 
<5FD>?>?VF5=V6 V FD4=E?>DF=<E FG=5?V6, 4?O 7<VF=5==O 
6G7V?L=>7> <4E<6G 6 ?V47>F>6G<E F4 >G<E=<E 6<5>OE 6G-
7V?L=<E L4EF.

�GDV==O ?D>6>4<FLEO 6 5G4L-O><= �DG=F G< ?>D>4G. � 
>>6=><G >>D5<><G 6<?44>G 6<>>D<EF>6GTFLEO E?5FV4?L-
=4 >>D>=>4, ?5D5454G5=4 F5E=VG=<<< E4D4>F5D<EF<>4<< 
4?O >>=>D5F=>7> F<?G �DG=FG.

%4<>745GDN64?L=V 5GD>V=9T>FV==V 4=>5D< T ?>D>6=<-

EF>N <5F4?56>N >>=EFDG>FVTN G 6<7?O4V >>D5<<E EFD<6-

=V6, 79T4=4=<E <GDF4<< 7 6<>>D<EF4==O< >4=>D47>6>W 5G-
D>6>W >>D>=><.

�?O DV7=>7> F<?G �DG=FG 74EF>E>6GNFL DV7=V >>D>=><. 
�<5VD 7G<>6?5=<= >E>5?<6>EFO<< �DG=FG (>4F57>DVO F65D-
4>EFV, F>6M<=4 L4DG).

�5D56474 F4>>7> <5F>4G 4 F5 <>6?<6VEFL 74>4GG64F< 
(V=9T>FG64F<) DV7=V <4F5DV4?<. � >>6=><G >>D5<><G 6<?44-
>G ?V45<D4TFLEO <4F5DV4?, O><= <4>E<<4?L=> ?V4E>4<FL 
4?O 6<>>=4==O F>7> G< V=L>7> 74644==O. &5 <>6GFL 5GF< 
O> DV7=><4=VF=V F5<5=F=V D>7G<=< 7 DV7=<<< F5E=VG=<<< 
E4D4>F5D<EF<>4<<, F4> V >4=>- F4 46>>><?>=5=F=V ?>?VG-
D5F4=>6V E<>?<, 46>>><?>=5=F=V ?>?VGD5F4=>6V E<>?<, 
M> D>7L<DNNFLEO, FD<>><?>=5=F=V 4>D<?4F=V E<>?< F4 
>D74=>-<V=5D4?L=V E<>?<, M> E?V=NNFLEO.

�4F5DV4? 74>4GGTFLEO ?V4 6<E>><< F<E>>< M> 4>76>?OT 
<4>E<<4?L=> 74?>6=<F< ?GEF>F< F4 ?>D>6=<=< 6 �DG=FV.

�5D5647< <5F>4G 4=>5D=>7> G>DV??5==O:
" �464O>< <>6?<6>EFV 6<>>D<EF4==O ?57>>7> 5GD>6>-

7> >5?44=4==O FN F5E=>?>7VN <>6=4 74EF>E>6G64F<  
G ?V464?L=<E ?D<<VM5==OE, =4 =565?<><E ?><>EF4E, 
G ?D<64F=<E =565?<><E 46>D<>4E V 6<D>5=<G<E F5E4E 
V7 6EF4=>6?5=<< >5?44=4==O<.

" �4=>G4E=5 5GDV==O V =47=VF4==O F5<5=F=>7> D>7G<=G 
74 5GD>6G LF4=7G 7=4G=> ?D<E>>DNT V E?D>MGT ?D>-
F5E 6?4LFG64==O ?4?L.

" $>5>F< ?D>6>4OFLEO 557 6<W<>< �DG=FG V, 6V4?>6V4=>, 
=>7> ?>44?LL>7> 6<44?5==O.

� ?<F4=L (>>=EG?LF4FVW) 765DF4=F5EL: 
 (067) 504 99 69
 (098) 300 03 10
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�V4>D<64NG< 74EV4, G E6>T<G 6VF4?L=><G E?>6V �56 �4DF-
E4?4475, ?D57<45=F ��', 747=4G<6: «�< 7V5D4?<EL, 45< D4-
7>< 6V47=4G<F< F<E, EF>, =576464NG< =4 6EV ?5D5L>>4<, 6<-
?D>5G64==O, 6<EF>O6 =4 5G4V65?L=><G D<=>G, 444?FG646EO 
4> 7<V= V 5G4GT ??4=< =4 <4=5GF=T. 2023 DV> 4 F5 DV> 6<?D>-
5G64=L, =4D>MG64==O E<? F4 6>>FD5 4 45<>=EFD4FVO =57-
?4<=>EFV. �?D>4>66 <4=65 46>E D>>V6 '>D4W=4 45<>=EFDGT 
>7=4>< EFV=>>EFV 6 G<>64E 6V==< V, ?>?D< ?D>4>665==O 5>=-
>6<E 4V=, 665 7D>5?5=> ?5DLV >D>>< 4?O 6V4=>6?5==O >D4W-
=<. ->4=O 6EV << EF<>4T<>EO 7 D<7<>4<< F4 =56V4><VEFN  
V >4=>G4E=> 7 F<< ?D>T>FGT<>, 5G4GT<> F4 6V4=>6?NT<>».

�>6V 6<>?<><, =>6V D54?VW 4 F5 F5, G><G 5V7=5E ?D>-
F<EF>WFL M>45==>, 4?5 ?D>4>66GT D>5<F< 6E5 744?O <4=5GF-
=L>7> '>D4W=<: ?D<EF>E>6GTFLEO, LG>4T <>6?<6>EFV, L?OE< 
D>76<F>G F4 4>?><474T �%' 744?O =45?<65==O ?5D5<>7<.

�>?D< FD<64?G 47D5E<6=G 6V==G D>EVW F4 F5D>D<EF<G=V 
>5EFDV?<, 11 7DG4=O 2023 D>>G ?V4 G4E IBUILD 2023 6V47=4-
G<?< >D4M<E ?D54EF46=<>V6 5G4V65?L=>W 74?G7V 4 >><?4=VW, 
O>V 6<EF>O?< =4 D<=>G, ?V4FD<<GNFL 5>>=><V>G F4 E?D<ONFL 
6V45G4>6V. &5D5<>=VO >59T4=4?4 ?>=44 200 7>EF5=, ?D54-
EF46=<>V6 6?44<, ?V45DV6 5G4V65?L=>W 74?G7V, E5D54 O><E 5V?L-
L5 100 G>D4W=EL><E V <V6=4D>4=<E >><?4=V= F4 D>=4V6.

�D5<VO IBUILD 2023 6V45G?4EL G E?5FV4?L=><G 5?47>4V==><G 
D>D<4FV, 7464O>< G><G 5G?> ?5D544=> E?4?L=V >><??5>F< 4?O 
>4=>7> 7 6V=EL>>6<E ?V4D>74V?V6, M> ?5D55G64T =4 ?5D54>6V=,  
V =564>67V 5G4GFL ?5D544=V <>5V?L=V F5?5D>=< 4?O ?D>T>FG 
«%>GG 6<F<» �>?>6=>7> G?D46?V==O D>76V4>< �V=VEF5DEF64 
>5>D>=< '>D4W=<.

UKRAINIAN SPECIAL BUILDING AWARDS IBUILD 2023: 
������'���� �$�-�%! ���&$��'��� �%'!
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 » �565?>?5D 2023 4 �=F5D74?-�G4
 »  %>FV4?L=> 6V4?>6V44?L=<= 5V7=5E 2023 4 Cemark (CRH 

Ukraine)
 » .D<4<G=4 >><?4=VO G ED5DV =5DGE><>EFV 2023 4 Arzinger
 » �<D>5=<> 5G4V65?L=<E <4F5DV4?V6 2023 4 Caparol Ukraine
 »  %>FV4?L=> 6V4?>6V44?L=<= 5V7=5E 2023 4 �V=VEF5DEF6> 

465D5=
 »  .D<4<G=4 >><?4=VO G ED5DV =5DGE><>EFV 2023 4  

Dictio Law Firm
 »  �>EF4G4?L=<> V==>64FV==<E F5E=>?>7V= 2023 4 Penetron 

Ukraine
 »  �V4=>6?5==O >D<F<G=>W V=DD4EFDG>FGD< 2023 4 &5E=><4== 

�=6<=VD<=7
 » �>E?5DF=4 >D74=V74FVO 2023 4 '>D5>E?5DF<74 �DG?
 »  �<D>5=<> 5G4V65?L=<E <4F5DV4?V6 2023 4 $><4?L74GF 

�>?V<V=
 » �4=>-?4DF=5D 2023 4 �?>5GE �4=>
 » �565?>?5D 2023 4 Royal House
 » �565?>?5D 2023 4 Sensar Development
 » �V4DO4=<> 2023 4 ��� �565?>?<5=F
 » �<D>5=<> 5G4V65?L=<E <4F5DV4?V6 2023 4 �<?5D4F<6
 » �565?>?5D 2023 4 Alliance Novobud
 » �<D>5=<> 5G4V65?L=<E <4F5DV4?V6 2023 4 Barks
 » �V4DO4=<> 2023 4 /7G4D
 » �565?>?5D 2023 4 &>64D<EF6> «�V4646=<E»
 » �D>T>F=4 >D74=V74FVO 2023 4 .=V65D
 » �<D>5=<> 5G4V65?L=<E <4F5DV4?V6 2023 4 �V> �G4 &D5=4
 » �V4DO4=<> 2023 4 �VEL>5 5G4V6=<FF6>
 » $4D54 4?O 5G4V65?L=<>4 2023 4 Kolorit
 » �>E?5DF=4 >D74=V74FVO 2023 4 �G4?D>5>F5>E?5DF<74
 » PropTech2023 4 ZEZMAN Holding
 »  %>FV4?L=> 6V4?>6V44?L=<= 5V7=5E 2023 4 �G4V65?L=4 7DG?4 

«%<=5D7VO»
 » �<?>DF5D 5G4V65?L=<E <4F5DV4?V6 2023 4 Sanstore
 » �565?>?5D 2023 4 Big Project
 » �><?4=VO <>4G?L=>7> 5G4V6=<FF64 2023 4 Budmall Centre
 » �565?>?5D 2023 4 �D54F>D-�G4
 »  �5=5D4?L=<= ?D>T>FG64?L=<> 5474F>DG=>FV>=4?L=<E 

>><??5>EV6 2023 4 ��%�-�

 &4>>6 G D4<>4E IBUILD 2023 5G?> 6V47=4G5=> ?D>T>F<, O>V 
D54?V7>6GNFLEO V 6V4=>6?NNFLEO 6 '>D4W=V, ?>?D< 6V==G. 
%5D54 =<E:

 » �<F?>6<= >><??5>E 2023 4 Montreal House
 » �<F?>6<= >><??5>E 2023 4 Creator City

 »  %>FV4?L=> 6V4?>6V44?L=<= 5V7=5E 2023 4 �DEVF5>FGD=>-
V=65=5D=<= >>?57VG< �+ G «$4==4 &4G=»

 »  �<F?>6<= >><??5>E 2023 4 �<F?>6<= >><??5>E 
«�>?>4VEFL»

 »  �<F?>6<= >><??5>E G E57<5=FV >GD>DF=>W =5DGE><>EFV  
2023 4 �� Bartolomeo Resort Town

 »  �<F?>6<= >><??5>E 2023 4 �4<VEL><= >><??5>E  
Park Lake City

 » �<F?>6<= >><??5>E 2023 4 �<F?>6<= >><??5>E «�VE>6<=»
 » �<F?>6<= >><??5>E 2023 4 City Hub
 » �><??5>E >?G5=>7> D>D<4FG 2023 4 LION HILLS 
 » �<F?>6<= >><??5>E 2023 4 �?4DF->><??5>E Smart House
 » �<F?>6<= >><??5>E 2023 4 �� «%<=5D7VO %VFV»
 » �<F?>6<= >><??5>E 2023 4 Gravity Park
 »  �D>T>F D56VF4?V74FVW VEF>D<G=>7> E5D54>6<M4  

2023 4 REITER HALL
 » �>F546=5 <VEF5G>> 2023 4 �4D>>65 <VEF5G>> «�65D5?>»
 » �V4>D<FFO D>>G 2023 4 �<F?>6<= >><??5>E «Park Royal»
 » �<F?>6<= >><??5>E 2023 4 �� «Kyiv Sky»
 »  �D>T>F 6<F?>6>7> >><??5>EG 2023 4 �<F?>6<= >><??5>E 

G �=V?DV

 �>D5<> 74 4>F<6=G GG4EFL G ?V4FD<<FV G>D4W=EL>>7> 
=4D>4G ?V4 G4E D>EV=EL>>W 47D5EVW ?D>F< '>D4W=< �>4O>4<< 
5G?< 6V47=4G5=V:

 » GIZ Ukraine
 » Caritas in Ukraine
 » USAID Ukraine
 » $>=4 Grundfos
 »  �<W6EL><= =4FV>=4?L=<= G=V65DE<F5F 5G4V6=<FF64 

V 4DEVF5>FGD< '>D4W=< (��'��)
 » Miyamoto Relief Ukraine
 » �$��� 4 UNDP
 » &>64D<EF6> '5D6>=>7> %D5EF4 '>D4W=<
 » �?47>4V==4 >D74=V74FVO «CORE RESPONSE»
 » TAPAS Project

�><?4=VW, M> 5G?< 6V47=4G5=V ?V4 G4E IBUILD 2023:

�5D5<>65<>  

V 6E5 6V45G4GT<>!
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�<=V, O> =V>>?<, 646?<6> <4F< <VEF5, 45 <>6=4 5GF< 74-
E<M5=<< V 6>4=>G4E M4E?<6<<, V F5 <VEF5 4 64L 4V<. ' =L>-
<G 74664< <>6=4 ?>GG64F<EO 6V?L=>, 55D57F< =4 ?>?<G>4E 
E?>744< F4 ?D>6<64F< D44VE=V <><5=F<, FGF <>6=4 EE>64F<-
EO 6V4 E6VFG V 7=>6G 7=4=F< E555.

�57 EG<=V6V6, V454?L=5 <VEF5 4?O >><D>DF=>7> F4 M4E?<-
6>7> 6<FFO 4 F5 �� «�>?>4VEFL». �4 ?D>T>F>< FGF ?5D5454-
G5=> 6VEV< ?9OF<?>65DE>6<E 5G4<=>V6, >59T4=4=<E E?V?L=>N 
V45TN, V=DD4EFDG>FGD>N F4 F5D<F>DVTN. &GF >>65= 7=4=45 

4?O E555 F5, M> 6V= =4=5V?LL5 FV=GT. �465 F5= 6<F?>6<= 
>><??5>E <4>E<<4?L=> 6V4?>6V44T 6<E>><< 6<<>74< EGG4E-
=>7> E?>6<64G4. 

�G65 G4EF> ?N4< 7<GL5=V 6<F< 6 55F>==<E 46G=7?OE, 
?>DO4 7V EF>?<F5N. �� «MOLODIST», GE6V4><?NNG< FV==VEFL 
V ?5D5647< 6<FFO ?>5?<7G 75?5=<E 7>=, EF6>D<?4 >><??5>E, 
45 ?D<D>44 74D<>=V==> ?>T4=GTFLEO 7 6<F?>6<< ?D>EF>-
D><. &GF <>6=4 ?>-E?D466=L><G E<4>G64F< >>6=G E6<?<=G 
6<FFO, =4E>?>46GNG<EL ?D<D>4>N.

�>DO4 V7 6<F?>6<< >><??5>E>< D>7F4L>64=4 �D?V=EL>4 
=455D56=4. &><G =>7> <5L>4=FV M>4=O 7<>6GFL 6<E>4<-
F< =4 ?D>7G?O=>< G< ?D>5V6><, >4F4F<EO =4 65?>E<?54V G< 
D>?<>4E 45> 74=<4F<EO =>7>N E5D54 <4?L>6=<G>W >D4E<, 
=4 E6V6><G ?>6VFDV. �?O =4=<>?>4L<E <5L>4=FV6 FGF 5G45 
4<FOG<= E44>G>> F4 665 >5?4LF>64=V <4=44=G<>< 4?O D>-

�'�'��&� �� ����$�&�� ��&$�, � %&��, ��&&/:  
'��' �� «������%&,» � �$���� ������� �������%�� $��'

�4=>D4MV 7 =4=>D4M<E, V F<< GE5 E>474=>. �FD<<4F< 
UKRAINIAN SPECIAL BUILDING AWARDS IBUILD 2023 4 >7=4-

G4T ?V4F65D4<F< E6>W 4>EO7=5==O F4 >FD<<4F< G FV =5-

?D>EFV G4E< 6<7=4==O ?D>D5EV==<E 74>5GF>V6 >><?4=VW.
�4 >FV=>4<< �>=D545D4FVW 5G4V65?L=<>V6 '>D4W=<, 6<F-

?>6<= >><??5>E «�>?>4VEFL», M> 6 ?5D54<VEFV EF>?<FV, 
>FD<<46 =47>D>4G IBUILD 2023 G =><V=4FVW «�<F?>6<= 
>><??5>E 2023». 
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7647. �?O >E>5?<6> 4>F<6=<E 6<F5?V6 >><??5>EG =5?>44?V>, 
=4 �D?V=EL>V= =455D56=V=, G65 T DGF5>?L=V, 54E>5F5>?L=5  
V 6>?5=5>?L=5 ?>?O F4 E?>DF<6=V <4=44=G<>< 4?O E<?>6<E 
6?D46, 4 F4>>6 E>5=F-?4D>. �>FV=>6G64G4< F<E>7>, =5>64-
??<6>7> ?D>6545==O G4EG FGF F56 5G45 74F<L=> 4 G5D57 
G65EL >><??5>E ?D>?V7 5G?L64D 4?O ?D>7G?O=>>. 

�5L>4=FV >><??5>EG 7<>6GFL >FD<<G64F< <54<G=G 4>-
?><>7G, >>D<EFG64F<EO ?>E?G74<< EV<G<EF>< 45> ?>LF<, 
744>6>?L=OF< V=LV ?>5GF>6V ?>FD55<, =5 6<E>4OG< 7 6<F-
?>6>7> >><??5>EG. �465 FGF 74??4=>64=4 D>76<=5=4 V=DD4-
EFDG>FGD4: >469OD=V, EG?5D<4D>5F<, DV7=><4=VF=V <4747<=< 4 
E?>6><, GE5, M> ?>FDV5=> 4?O >><D>DF=>7> F4 7DGG=>7> 
6<FFO, M> 6<6V?L=OT G4E =4 G?N5?5=V E?D46<, =4 E555, DV4-
=<E, 6V4?>G<=>> 7 4DG7O<< G< E>5V. �4F< 6E5 =5>5EV4=5 ?V4 
DG>>N 4 F5 665 <4EFE56 EGG4E=>7> 6<FFO. �<6GG< 6 �� 
«�>?>4VEFL», <>6=4 5G45 =4E>?>46G64F<EO G4L>>N >46<  
7 6<4>< =4 GG4>6G =455D56=G F4 ?VE, 557 =5>5EV4=>EFV 4>6-
7<E ?>W74>>. 

�464O>< 644?><G D>7F4LG64==N F4 6?4E=><G 6<W74G 
=4 �>6>VD?V=EL>G FD4EG <5L>4=FO< >><??5>EG 5V?LL5 =5 
4>6545FLEO 6<FD4G4F< E6V= G4E =4 4>?4==O 74F>DV6. �?O 
F<E, EF> 6V444T ?5D5647G 7D><44EL>><G FD4=E?>DFG, ?>DGG 
D>7F4L>64=V 7G?<=>< <4DLDGF>>, O>V ?DO<GNFL 4> EF4=FV= 
<5FD> «�>445<<VEF5G>>» F4 «%6OF>L<=». 

�5?4LF>6GNG< ?D<5G4<=>>6G F5D<F>DVN, G �� «�>-
?>4VEFL» =4?56=G G647G ?D<4V?<?< ?4=4L4DFG F4 >75-
?5=5==N. �4=4L4DF=<= 4<74== 74557?5GGT EF6>D5==O 
7D4<>F=>7> F4 ??4=>64=>7> =46>>?<L=L>7> ?D>EF>DG  
V D>77?O44TFLEO O> >?NG>6<= <><5=F 6 >D>D<?5==V ?D<-
5G4<=>>6>W F5D<F>DVW. �4D=V 4<74==5DEL>V DVL5==O 7 GD4-
EG64==O< ?D46<?L=>7> ?V45>DG F4 D>7F4LG64==O 6EVE D>E-
?<= EF6>DOFL ?>-E?D466=L><G 74D<>=V==<= ?4=4L4DF=<= 
EF<?L, O><< 5G4GFL =4E>?>46G64F<EO <5L>4=FV >><??5>EG.

�5DLG G5D7G 665 66545=> 6 5>E??G4F4FVN, F>6 =57454-
D>< M4E?<6V 6?4E=<>< >64DF<D >FD<<4NFL ><DVO=V >?NGV 
V 7<>6GFL D>7?>G4F< D5<>=F. '65 74D47 G >64DF<D4E 6<-
>>=4=> 7V?E>6G LFG>4FGD>G EFV=, ?475D=G EFO6>G ?V4?>7<, 
6EF4=>6?5=> O>VE=V 6V>=4 F4 465DV ��$, ?VG<?L=<>< =4 747, 
6>4G = 5?5>FD>5=5D7VN. �>F<6=> FD<64NFL D>5>F< 6 4DG7V= 
G5D7V 5G4<=>V6 F4 D>7?>G4F> 5G4V6=<FF6> FD5FL>W 3 F4< 6V45-
G64TFLEO >5?4LFG64==O ?4?L>6>7> ?>?O DG=44<5=FG. 

�<F?>6<= >><??5>E «�>?>4VEFL» 4>D54<F>64=> 4> 45D-
646=<E ?D>7D4< «T�E5?O» &4 «T�V4=>6?5==O». �V4=5446=4 
6<F?>6<= E5DF<DV>4F «T�V4=>6?5==O» <>6=4 6<>>D<EF>-
6G64F< 4?O ?D<454==O 6<F?4 G ?>T4=4==V 7 ?D>7D4<>N 
?V?L7>6>W V?>F5>< «T�E5?O». &5 >7=4G4T, M>, 74 74>>=><, 
?D< >G?V6?V 6<F?4 G4EF<=G EG<< G7>4< <>6=4 ?>>D<F< E5D-
F<DV>4F>< «T�V4=>6?5==O», 4 =4 D5LFG >D>D<<F< >D54<F 74 
45D646=>N ?D>7D4<>N «T�E5?O». ' 6<F?>6><G >><??5>EV 
«�>?>4VEFL» 74?D>?>=GNFL L<D>><= 6<5VD G65  
7>F>6<E >64DF<D. 

&4>>6 74D47 >><?4=VO D54?V7GT 
?D>T>F< 6<F?>6<E >><??5>EV6 6 
�D?5=V F4 �<L=56><G, 4 E4<5: 
�� «�>?>4VEFL», �� «�?V<?», 
5G4<=>< 1, 2, �� «Irpin City», 
�� «Chekhov Park», �� «�F-
<>ED5D4». �>44F>>6G V=-
D>D<4FVN F4 6V4?>6V4V 
=4 74?<F4==O EF>E>6=> 
6<F?>6<E >><??5>EV6 
�=65EF<FV==>W 7DG?< 
«MOLODIST» 74664< 
<>6=4 >FD<<4F< G 
6V44V?V D54?V74FVW =5DG-
E><>EFV 45> =4 E4=FV 
molodist.life.
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�5D5647< F4 <>6?<6>EFV

�4=VTN 7 >?NG>6<E ?5D5647 «�=D>=FD5=4» T D>>GE =4 O>>-
EFV F4 =44V==>EFV. �4E=>64=4 G 2012 D>FV, >><?4=VO 4>F<6=> 
?D4FNT 7 =44V==<<< ?>EF4G4?L=<>4<< F4 ?4DF=5D4<<, M>5 
74557?5G<F< >?VT=FV6 =4=>D4M>N ?D>4G>FVTN F4 ?>E?G74<<, 
4 F4>>6 ?D>?>=GT DVL5==O 6V4><<E E6VF>6<E 6<D>5=<>V6 7 �7-
D4W?N, �F4?VW, �V<5GG<=<, �=7?VW, �V45D?4=4V6 F4 V=. 

�DV< F>7>, «�=D>=FD5=4» ?D47=5 4> ?>EFV==>7> 64>E>>-
=4?5==O ?D>F5EV6 F4 ?>E?G7, M>5 6V4?>6V44F< 7<V==<< 
?>FD554< E6>WE >?VT=FV6 G E6VFV, M> L6<4>> D>76<64TFLEO.  
/> D57G?LF4F, 7 2021 D>>G 6 >><?4=VW 6<7>F>6?ONFL 5=5D7>-
5D5>F<6=V �%� 6V>>==V F4 ?>>DV65?L=V >>=EFDG>FVW ?V4 6?4E-
=<< 5D5=4><. 

�E=>6=4 <VEVO >><?4=VW 4 D>D<G64F<, D>76<64F< F4 ?>-
?G?OD<7G64F< >G?LFGDG 6<>>D<EF4==O E6VF?>?D>7>D<E ?57-

><E 5=5D7>5D5>F<6=<E DVL5=L. �4<>6=<>< «�=D>=FD5=4» 
?5D5>>=4?<EL, M> E?V6?D4FO 7 >><?4=VTN F4 ?D>?>=>64=V 
DVL5==O 4>?><>7?< 74>M44<F< 5=5D7VN F4 EF6>D<F< >><-

D>DF=5 V 557?5G=5 E5D54>6<M5 4?O D>5>F< F4 6<FFO.
�576464NG< =4 E>?44=<= 4?O >D4W=< G4E, >><?4=VO =5 

7G?<=OTFLEO F4 =56?<==> 4>?>6=NT E6>T ?>DFD>?V> >59T>-
FV6. �D< FL><G D>7L<DNT >4F4?>7 E6>7> 4E>DF<<5=FG, >E-
=>6G O>>7> EF4=>6?OFL:
" �>4G?L=4 E<EF5<4 D4E44=>7> E>?V==O 4 F5 5=5D7>5-

D5>F<6=4 E6VF?>?D>7>D4 >7>D>46G64?L=4 >>=EFDG>FVO, 
M> GF6>DNT EGFV?L=5 D4E44=5 E>?V==O, O>4 D>7D>5?5=4 
F4><< G<=><, M>5 74557?5G<F< >?F<<4?L=5 ?>T4=4=-

=O F>6M<=<, 647<, <VF=>EFV, F5??>V7>?OFVW, E6VF?>?D>?G-
E>4==O F4 64DF>EFV.

«�=D>=FD5=4»: Y==>64JY==Y 
5=5D7>5H5>F<6=Y DYL5==S 4?S 
5G4Y6=<JF64 F4 ?D><<E?>6>EFY
' E6VFV, 45 5>>?>7VG=4 557?5>4 F4 5D5>F<6=VEFL 6<D>5-

=<FF64 EF4NFL GE5 5V?LL 646?<6<<<, >><?4=VO «�=D>=-

FD5=4» ?>EV44T ?D>6V4=5 <VEF5 6 74?G7V E6VF?>?D>7>D<E 
DVL5=L 4?O 5G4V6=<FF64 F4 ?D><<E?>6>EFV. �>E5D5465-

=4 =4 =444==V V==>64FV==<E F4 557?5G=<E ?D>4G>FV6, 
>><?4=VO E?5FV4?V7GTFLEO =4 5=5D7>5D5>F<6=<E E6VF-

?>?D>7>D<E D4E44=<E V ?>>DV65?L=<E ?4=5?OE, E6VF?>?D>-

7>D<E �%� >>=EFDG>FVOE F4 ?D>7>D<E ?D>DV?L=<E ?<EF4E 
4?O DV7=><4=VF=<E >59T>FV6 5G4V6=<FF64.
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F4 F>6M<=G. �<EF< <>6GFL 6<>>D<EF>6G64F<EL O> 4?O 
>>D5<>7> D4E44=>7> G< ?>>DV65?L=>7> E>?V==O, F4> V 
4?O EG<VM5==O 7 <5F4?56<<< ?D>DV?L=<<< ?<EF4<< 
G< E5=46VG-?4=5?O<<. �><?4=VO «�=D>=FD5=4» ?V4-
FD<<GT =4 E>?44V F4>V ?D>DV?V ?D>7>D>7> ?D>D?<EF4, 
O> ��20, �%20, ��35, ��45, ��57, ��60, 250/40. &4>>6 
4>EFG?=4 >?FVO 6<7>F>6?5==O 6V4?>6V4=> 4> 75><5FDVW 
74<>6=<>4.

" �>4G?L=4 ?>>DV65?L=4 75D<5F<G=4 E<EF5<4 4 F5 5=5D-
7>5D5>F<6=4 E6VF?>?D>7>D4 >>=EFDG>FVO, M> E>?444TFLEO 
7 <>4G?V6, E<EF5<< >DV??5==O F4 4?N<V=VT6<E 4=>4>64=<E 
?D>DV?V6 V GF6>DNT EGFV?L=5 ?>>DV65?L=5 E>?V==O. %<EF5<4 
D>7D>5?5=4 F4><< G<=><, M>5 74557?5G<F< >?F<<4?L=5 
?>T4=4==O F>6M<=<, <VF=>EFV, 647<, F5??>V7>?OFVW, E6VF?>-
?D>?GE>4==O V 64DF>EFV.

" ��% PALRUF 4 G=V>4?L=V ?D>DV?L>64=V ?<EF< V7 7444=>N 
75><5FDVTN, O>V <4NFL GG4>6G EFV=>VEFL 4> EV<VG=<E D5-
G>6<=, 6>7=N F4 G44DV6, M> 74557?5GGT =4476<G4==> 
4>67>6VG=5 DVL5==O 4?O ?>>DV6?V, 6=GFDVL=L>7> F4 7>6-
=VL=L>7> >5?<FN64==O. PALRUF 6<FD<<GT 47D5E<6=5 
EV<VG=5 E5D54>6<M5, 45 76<G4==4 ?>>DV6?O G< EFV=< 
L6<4>> ?V444NFLEO >>D>7VW, V F5 D>5<FL =>7> V454?L=<< 
DVL5==O< 4?O 4>67>EFD>>>6>7> 6<>>D<EF4==O G E>?44-
=<E ?D><<E?>6<E >59T>F4E, F4><E O> EV<VG=V 746>4< F4 
EE>6<M4, L4EF<, ?>DF< F>M>.
�><?4=VO «�=D>=FD5=4» =5 ?<L5 =444T O>VE=V F4 =44V=-

=V ?D>4G>F<, 4 = T =44V==<< ?4DF=5D>< 4?O E6>WE >?VT=FV6. 
�D>D5EV>=4?V7<, V=4<6V4G4?L=<= ?V4EV4 4> >>6=>7> ?D>T>-
FG F4 L6<4>4 D54>FVO =4 7<V=< ?>FD55 74557?5GGNFL ?DV-
>D<F5F=VEFL >><?4=VW ?V4 G4E 6<5>DG 4?O 5G4V65?L=<E F4 
?D><<E?>6<E ?D>T>FV6 5G4L-O>>7> <4ELF45G.

�F65, «�=D>=FD5=4» 74?<L4TFLEO ?V45D>< G E6>W= 74?G-
7V 7464O>< ?>T4=4==N V==>64FV==<E F5E=>?>7V= F4 6<E>>>W 
O>>EFV ?D>4G>FVW V 6V4<V==><G >5E?G7>6G64==N >?VT=FV6. �W 
E6VF?>?D>7>DV DVL5==O EF4NFL EF4=44DF>< 5D5>F<6=>7> 
F4 5>>?>7VG=>7> 5G4V6=<FF64 6 EGG4E=><G E6VFV.

" �>4G?L=V E6VF?>?D>7>DV 5=5D7>5D5>F<6=V ?57>>E><4=V 
>>=EFDG>FVW 4 F5 E6VF?>?D>7>DV >7>D>46G64?L=V D4E44=V 
>>=EFDG>FVW, O>V E><44NFLEO ?V4 6??<6>< =44?<L>>6>7> 
F<E>G ?V4 G4E 6<5GEG G 6<D>5=<G<E, E>?44EL><E ?D<<V-
M5==OE E?5FV4?L=>7> ?D<7=4G5==O G< V=L<E 6<5GE>=5-
557?5G=<E ?D<<VM5==OE.

" �D>7>DV ?>>DV65?L=V E5=46VG-?4=5?V 4 F5 E6VF?>?D>7>DV <>-
4G?V, O>V ?D>?GE>4NFL 45==5 E6VF?> 6 5G4V6?N, <4NFL 6<E>>G 
=5EGGG 744F=VEFL, G44D=G <VF=VEFL, 6V4<V==G F5??>V7>?OFVN, 
?>6F>DNNFL D>D<G E5=46VG-?4=5?V F4 <4NFL 5EF5F<G=<= 
7>6=VL=V= 6<7?O4. &V ?4=5?V 74EF>E>6GNFLEO ?D< E?>DG4-
65==V 5=5D7>5D5>F<6=<E 5G4V65?L V7 E5=46VG-?4=5?5=.

" �<EF< ?D>7>D>7> ?D>D?<EF4 4 F5 ?<EF< <>=>?VF=>7> ?D>-
DV?L>64=>7> ?>?V>4D5>=4FG, M> <4NFL ?56=G 75><5FDVN 
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�474?L=4 >4DF<=4

�46VE=<= 65=F<?L>64=<= D4E44 4 F5 EGG4E=5 DVL5==O 
G ED5DV 5G4V6=<FF64, O>5 ?>T4=GT 6 E>5V DG=>FV>=4?L=VEFL, 
5=5D7>5D5>F<6=VEFL F4 5EF5F<G=<= 4<74==. � '>D4W=V =46VE=V 
65=F<?L>64=V D4E44< 5V?LL L<D>>>7> 74EF>EG64==O ?>G4?< 
=45G64F< G 2006-2008 D>>4E. �?5 E?D466=V= «D<6>>» F5E=>-
?>7VW EF46EO ?V4 G4E ?V47>F>6>< 4> �6D>-2012. 

�464O>< E6>W< ?5D56474< ��$ 6<>>D<EF>6GNFLEO =4 
>59T>F4E DV7=>7> ?D<7=4G5==O, 7>>D5<4 6 >><5DFV==<E 74-
5G4>64E (>DVE=V 5G4V6?V, F>D7>6V F5=FD<, 7>F5?V F4 V=.), 6<F-
?>6<E 5G4V6?OE (5474F>?>65DE>6V 6<F?>6V 5G4<=>< V ?D<-

64F=5 6<F?>) F4 7D><44EL><E E?>DG44E (<G75W, 5V5?V>F5><, 
?V>4D=V, E44>G><, L>>?< F4 V=LV 7D><44EL>V >59T>F<). &4>>6 
?>?G?OD<74FVW F5E=>?>7VW ��$ VEF>F=> ?>E?D<O?4 ?D>7D4-
<4 7V 75V?LL5==O 5=5D7>755D565==O 5G4V65?L V E?>DG4, 74 
D54?V74FVW O>>W 6<>>D<EF4==O =46VE=<E 65=F<?L>64=<E D4-
E44V6 4 >4=5 7 DVL5=L D5>>=EFDG>FVW. &5 E>D>L<= E?>EV5 
7<V=<F< 4<74== 7>6=VL=L>7> 6<7?O4G 5G4V6?V 557 6FDGG4=-

=O 6 >E=>6=G >>=EFDG>FVN. �4DF> 747=4G<F<, M> ��$ ?>G4-
?< >E>5?<6> L<D>>> 74EF>E>6G64F< ?V4 G4E D5>>=EFDG>FVW 
5G4V65?L 44<V=VEFD4F<6=>7> F4 E>FV4?L=>7> E?DO<G64==O. 
&4>>6 7=4G=><G 7D>EF4==N D<=>G E?D<OT ?5D5EV4 =4 T6D>-
?5=EL>V EF4=44DF<.

�?5 =576464NG< =V =4 M>, F5= D<=>>, O> V D5LF4, 74?5-
6<FL 6V4 7>6=VL=VE F4 6=GFDVL=VE D4>F>DV6. �4?D<>?44, ?V4 
G4E >D<7<, E?D<G<=5=>W >>D>=46VDGE><, D47>< V7 7474?L=<< 
?44V==O< ?>>47=<>V6 5G4V65?L=>W 74?G7V 6V45G?>EO ?D>EV44=-
=O V G4EF>< 6EVE ��$ 6V4=>E=> «<>>D<E» D4E44V6 7 >7?O4G =4 
5V?LL 6<E>>G 64DFVEFL. �D< FL><G G 65?<><E <VEF4E G4EF>4 
��$ 5V?LL4, 4=V6 G <4?<E.

�6<G4==>, T 6V4<V==>EFV V 6 ?>?<FV 7 F>G>< 7>DG >59T>FV6 5G-
4V6=<FF64. �4?D<>?44, O>M> << 7>6>D<<> ?D> =46VE=V 65=-
F<?L>64=V D4E44<, 45 >5?<FN64?L=<< <4F5DV4?>< T <5F4?, 
F> FGF ?5D56464T >><5DFV==4 =5DGE><VEFL; O>M> ?D> D<=>> 
6<D>5V6 V7 >4<5=N 4 F> >E=>6=4 G4EF>4 6 5474F>?>65DE>-
6><G 5G4V6=<FF6V ?D<?444T =4 ?D>4G>FVN V7 >5D4<>7D4=VFG.  
� >E=>6=><G F5 6<F?>65 5G4V6=<FF6> F4 F5D<><>45D=V74-
FVO 45D646=<E >59T>FV6. � V=L>7> 5>>G, >E=>6=<< E?>6<-
64G5< D4E44=<E DVL5=L 7V E>?4 T 6<F?>65 F4 >><5DFV==5 
5G4V6=<FF6>. &V 46V >4F57>DVW E?>6<64NFL ?56>6G G4EF>G 
>5EO7V6, F>4V O> V=DD4EFDG>FGD4 E>FV4?L=>7> ?D<7=4G5==O 
<4T <V75D=G G4EF>G 6 7474?L=><G >5EO7V E?>6<64==O 747=4-
G5=>7> E57<5=F4.  

/>M> 7>6>D<F< ?D> >><??5>FGNGV, F> ?D>DV?V 4?O =4-
6VE=<E 65=F<?L>64=<E D4E44V6 7 4?N<V=VN ?D4>F<G=> 6EV 
G>D4W=EL>>7> 6<D>5=<FF64, 7 >F<=>>64=>7> <5F4?G 4  
60% FGD5FL>4 E<D>6<=4, 4?5 6<7>F>6?5==O 6V45G64TFLEO 

�46YE=Y 65=F<?P>64=Y H4E44<: >JY=>4 7D46JY6 D<=>G 

�>6=VL=T >5?<FN64==O 5G4V6?V =5 FV?L>< 6V4V7D4T 7=4G=G D>?L 6 >FV=FV 5>EF5D9TDG E?>DG4<, 4 = 6<>>=GT 646?<6G 
DG=>FVN 4 74E<M4T WW 6V4 6??<6G 7>6=VL=L>7> E5D54>6<M4. � F<< 74644==O< GG4>6> E?D46?OTFLEO =46VE=<= 
65=F<?L>64=<= D4E44 (��$). �V= =5 ?<L5 74557?5GGT 5EF5F<G=> ?D<645?<6<= 7>6=VL=V= 6<7?O4 5G4V6?V, 4 = <4T 
=<7>G ?5D5647 ?>DV6=O=> 7 FD44<FV==<<< <5F>44<< >5?<FN64==O. /> EL>7>4=V 6<7?O44T E<FG4FVO =4 D<=>G ��$ F4 
O>V ?D>5?5<< EF4?< ?5DL>G5D7>6<<< 4 ?D> F5 G D>D<4FV 74>G=>7> >DG7?>7> EF>?G D>7?>6V?< 5>E?5DF<. 
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�=4G=V ?>7VEF<G=V FDG4=>MV, 7>>D5<4 ?D>5?5<< 7 ?5D5-
>D<FFO< >>D4>=G ?>?LEL><<< ?D>F5EFG64?L=<>4<<, O>V F<<-

G4E>6> GE>?44=<?< ?>EF46><, 7<GE<?< 5474FL>E 7D46FV6 D<=-
>G LG>4F< 4?LF5D=4F<6=V L?OE< 4>EF46><. �EF>F=>N 7<V=>N 
6 ?4=FN6>G ?>EF4G4==O EF4?> 75V?LL5=5 6<>>D<EF4==O 74-
?V7=<G=>7> FD4=E?>DFG, O>5 4>76>?<?> 45O><< ?>EF4G4?L=<-
>4< >?F<<V7G64F< ?D>F5E 4>EF46>< E>?4 F4 >><??5>FGNG<E 
4?O =46VE=<E E>?O=<E D4E44V6, 74557?5GGNG< EF45V?L=VEFL 
?>EF46>> =46VFL G E>?44=<E G<>64E.

&O 744F=VEFL 4> 444?F4FVW T >?NG>6<< D4>F>D><, O><= 4>-
?><474T G>D4W=EL>><G D<=>G E>?O=<E D4E44V6 74?<L4F<EO 
6<FFT744F=<< F4 >>=>GD5=F>E?D><>6=<<, =576464NG< =4 
E>?44=>MV, E?D<G<=5=V O> 7?>54?L=<<< ?>7VEF<G=<<< ?5D5-
5>O<<, F4> V <VEF56<<< 6<>?<>4<<. �GV>GTFLEO, M> ?>44?LL5 
7<VF=5==O ?>7VEF<G=<E EFD4F57V= F4 D>7L<D5==O >4=4?V6 ?>-
EF4G4==O 4>?><>65 D<=>G 5D5>F<6=> D547G64F< =4 ?>F>G=V 
F4 <4=5GF=V 6<>?<><.

=4 746>44E 6 '>D4W=V. �DV??5==O ?5D5646=> V<?>DF=>7> 
6<D>5=<FF64 V 746>7<FLEO 65?<><<< ?>EF4G4?L=<>4<<.

�E=>6=<<< 74<>6=<>4<< 6<EFG?4NFL 65?<>V 745G4>6=<-
><. �< =4?56<FL ?56>64 G4EF>4 6 74<>6?5==OE. &4>>6 =5 F4> 
446=> ED>D<G64?4EO M5 >4=4 >4F57>DVO 74<>6=<>V6 4 ?D<-
64F=<= E?>6<64G. �?5 FGF ��$ 6<>>D<EF>6GNFL E>>DVL5 O> 
45>>D4F<6=V 5?5<5=F< V7 E57<5=F4 VIP->5?<FN64==O, 7>>D5-
<4 HPL ?4=5?5=. �45G4>6=<> 65 7476<G4= ?D4FNT 7 45L56-
L<<< <4F5DV4?4<<. %>G4 T = 6<=OF>< 4 GE5 74?56<FL 6V4 >4-
F57>DVW E?>DG4<. 

/>M> 4<6<F<EO =4 D<=>> ��$ 7 ?>7?O4G 75>7D4DVW, F>, 557-
EG<=V6=>, 4> ?>G4F>G ?>6=><4ELF45=>7> 6F>D7=5==O 65=F<-
?L>64=V D4E44< 4>F<6=> 6<>>D<EF>6G64?<EO ?> 6EV= '>D4W=V, 
E>G4 6 <574?>?VE4E E?>EF5DV74?>EO 74EF>EG64==O 5V?LL 4>D>-
7<E F5E=>?>7V=.

�FV=>4 7D46FV6 D<=>G

�4 FD44<FVTN, 4?O 5V?LL 7?<5>>>7> D>7G<V==O E<FG4FVW << 
7V5D4?< >FV=>< 6V4 GG4E=<>V6 D<=>G =46VE=<E 65=F<?L>64=<E 
D4E44V6, O>V 6<E?>6<?< E6>T 54G5==O D54?L=>7> ?>?>65==O 
F4 <>6?<6V L?OE< 6<DVL5==O =4O6=<E ?D>5?5<.

�<E4=?> �D?5=>>, 6<-

>>=46G<= 4<D5>F>D �E>FV4FVW 
«'>D4W=EL>V 6<D>5=<>< E6VF-

?>?D>7>D<E >>=EFDG>FV=»: 
4 � >7?O4G =4 FD<64?G 6V==G 

6 '>D4W=V, O>4 557?>E5D54=L> 
6??<64T =4 6EV ED5D< 6<FFO F4 
5>>=><V>G >D4W=<, D<=>> 65=-
F<?L>64=<E D4E44V6, 7>>D5<4 
E>?O=<E, ?5D56<64T 646?<6V 
FD4=ED>D<4FVW F4 6<?D>5G64=-
=O. %F4=>< =4 4DG7<= DV> >>=-
D?V>FG << <>65<> E?>EF5DV74F<, 
O> D<=>> 444?FGTFLEO 4> =>6<E 
G<>6 V 6<>?<>V6, =576464NG< =4 
7=4G=V FDG4=>MV.

�D>F5E 5G4V6=<FF64, O><= 7476<G4= D>7D4E>64=<= =4 
3-DVG=<= F<>? 6V4 ?>G4F>G ?D>T>FG64==O 4> 744GV >59T>F4 
6 5>E??G4F4FVN, 7VF>=G6EO 7 557?D5F545=F=<<< ?5D5L>>-
44<< G5D57 6V==G. &5 ?D<765?> 4> F>7>, M> 5474F> 74??4-
=>64=<E =4 2022 DV> ?D>T>FV6 5G?< 6V4>?445=V 45> ?>6=VEFN 
7G?<=5=V. &4>4 E<FG4FVO, 557G<>6=>, 6??<=5 =4 D<=>> 65=-

F<?L>64=<E D4E44V6 G =4=5?<6GV D>><.
� >7?O4G =4 E<FG4FVN <>6=4 ?D>7=>7G64F<, M> 2024 DV> M5 

?D>=45 ?V4 7=4>>< 7465DL5==O 5G4V65?L=<E >59T>FV6, D>7?>-
G4F<E 4> 6V==<. �4=4> 7>?>6=<= 6<>?<> V ?>F5=FV==<= E?44 
=4 D<=>G D4E44V6, >E>5?<6> 6 E57<5=FV E>?O=<E, <>65 =4EF4-
F< G 2025 D>FV, 6D4E>6GNG< 74FD<<>G 7 ?>G4F>>< =>6<E ?D>-
T>FV6 G5D57 6>T==V 4VW.

&5= ?D>7=>7>64=<= E?44 ?V4>D5E?NT 646?<6VEFL ?>LG-
>G 4?LF5D=4F<6=<E EFD4F57V= F4 V=65EF<FV= 6 V==>64FVW, O>V 
<>6GFL 4>?><>7F< ?>4>?4F< <4=5GF=V 6<>?<><. &5 F4>>6 
6>47GT =4 =5>5EV4=VEFL ?V4FD<<>< F4 EF<<G?N64==O 5G4V-
65?L=>W 74?G7V, M>5 <V=V<V7G64F< =574F<6=V =4E?V4>< 4?O 
D<=>G F4 74557?5G<F< =>7> 6V4=>6?5==O ?VE?O EF45V?V74FVW 
E<FG4FVW 6 >D4W=V.

' >>=F5>EFV 45DVF<FG E<D>6<=< 4?O =46VE=<E E>?O=<E 
D4E44V6 E<FG4FVO 6 '>D4W=V 74?<L4TFLEO =4?DG65=>N, 
4?5 >>=FD>?L>64=>N. �576464NG< =4 6V4EGF=VEFL 6?4E-
=>7> 6<D>5=<FF64 E>?4 6 '>D4W=V F4 FD<64?V 4<E>GEVW 
M>4> 5G4V6=<FF64 6VFG<7=O=>7> E>?>746>4G, D<=>> =5 
7VF>=G6EO 7 >D<F<G=<< 45DVF<F>< E>?4. &5 E6V4G<FL ?D> 
5D5>F<6=G 444?F4FVN ?>EF4G4?L=<>V6 F4 74<>6=<>V6 4> 
6<>?<>V6, M> ?>EF4?< ?5D54 74?G77N.
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%F>E>6=> F>7>, G< 7<V=<6EO E>?44 >E=>6=<E 7D46FV6 F4 
>E=>6=<E 74<>6=<>V6, F> FGF E<FG4FVO 6V4=>E=> EF45V?L=4 7 
=57=4G=<<< 7<V=4<<, M> 6V45G?<EO 7 ?>G4F>G 2022 D>>G. �4-
=VTN 7 >?NG>6<E 6V4<V==>EF5= EF46 6<EV4 7 D<=>G 5V?>DGEL>>-
7> 6<D>5=<>4 D4E44=<E E<EF5< Alutech G5D57 ?>?VF<G=G F4 
5>>=><VG=G E<FG4FVN, ?>69O74=G 7 6V==>N 6 '>D4W=V. &O 7<V=4 
6V4>5D464T 6??<6 75>?>?VF<G=<E ?>4V= =4 4V?>6V 6V4=>E<=< 
F4 D<=>>6G EFDG>FGDG.

�DV< F>7>, E?>EF5DV74TFLEO GVF><= FD5=4 ?5D5D>7?>4V?G DV-
=4=E>6<E F4 ?N4EL><E D5EGDEV6 =4 >>D<EFL 74EV4=<E D57V>=V6 
'>D4W=<. &5 T =4E?V4>>< 6>T==<E 4V= =4 EE>4V F4 ?V64=V >D4W=<, 
M> E?>=G>4T >><?4=VW V 74<>6=<>V6 LG>4F< 5V?LL 557?5G=V 
D57V>=< 4?O D54?V74FVW E6>WE ?D>T>FV6. &4>5 75>7D4DVG=5 ?5-
D5>DVT=FG64==O <>65 <4F< 4>67>EFD>>>6V =4E?V4>< 4?O D>7-
6<F>G D<=>G =46VE=<E E>?O=<E D4E44V6 6 '>D4W=V, 4>F5=FGNG< 
G647G =4 =5>5EV4=>EFV 444?F4FVW 4> =>6<E 5>>=><VG=<E F4 E>-
FV4?L=<E D54?V=.

&V 7<V=< F4>>6 6??<64NFL =4 D57V>=4?L=<= ?>?<F, ?V4E<-
?NNG< ?>F5=FV4? 74EV4=<E >5?4EF5= '>D4W=< O> =>6>7> F5=-
FDG 5G4V65?L=>W 4>F<6=>EFV F4 V=65EF<FV=. �GV>GTFLEO, M> FO 
F5=45=FVO ?D>4>66<FL D>D<G64F< D<=>>6G 4<=4<V>G 6 =4=-
5?<6GV D>><, 6<<474NG< 6V4 GG4E=<>V6 D<=>G 7=GG>>EFV F4 V=-
=>64FV==>7> ?V4E>4G 4> 6545==O 5V7=5EG G 7<V=5=<E G<>64E.

�4 64?L, >E=>6=V ?D>5?5<< =4 D<=>G =46VE=<E E>?O=<E 
D4E44V6 6 '>D4W=V EL>7>4=V 7=4G=>N <VD>N 7G<>6?5=V FD<64-
?<< 6>T==<< >>=D?V>F><. �V==4 6=>E<FL EGFFT6V >>D5>F<6< G 
4VO?L=VEFL 5G4V65?L=>W 74?G7V, E?D<G<=ONG< 74FD<<>< ?D>-
T>FV6, 75V?LL5==O 6<FD4F F4 ?5D5>DVT=F4FVN D5EGDEV6 =4 =4-
74?L=V ?>FD55<.

�5DL<= V, <45GFL, =4=5V?LL<= 6<>?<> 4 F5 755D565==O 
F4 6V4=>6?5==O V=DD4EFDG>FGD< 6 7>=4E, M> ?>EFD4644?< 6V4 
6>T==<E 4V=. �>FD554 G L6<4>><G 6V4=>6?5==V =5 ?<L5 EF<-
<G?NT ?>?<F =4 =46VE=V E>?O=V D4E44< O> >4=5 7 DVL5=L 4?O 
L6<4>>7> 6V4=>6?5==O 5G4V65?L, 4 = 6<<474T V==>64FV==<E 
?V4E>4V6 4> WE ?D>T>FG64==O F4 <>=F46G, M>5 <V=V<V7G64F< 

G4E 6V4=>6?5==O.
�D>5?5<< ?>7VEF<><, O>V 

?>7?<5?NNFLEO ?5DV>4<G-
=<<< ?5D5>D<FFO<< 

>>D4>=V6 F4 ?>L>>-
465==O< FD4=E?>DF-
=>W V=DD4EFDG>FGD<, 
6<<474NFL 6V4 >><-

?4=V= 7=GG>>EFV 6 
??4=G64==V ?>-
EF46>> F4 ?>LG>G 

4?LF5D=4F<6-

=<E L?OEV6 

4>EF46>< <4F5DV4?V6, 7>>D5<4 =45FLEO ?D> ?5D5EV4 =4 74?V7-
=<G=<= FD4=E?>DF.

�5DVF<F DV=4=EG64==O F4 V=65EF<FV= F4>>6 EF4T 647><>N 
?D>5?5<>N, >E>V?L>< 7=4G=4 G4EF<=4 D5EGDEV6 >D4W=< E?DO-
<>6GTFLEO =4 6V=EL>>6V ?>FD55< F4 7G<4=VF4D=G 4>?><>7G.

,?OE< 6<DVL5==O 747=4G5=<E ?D>5?5< >E>??NNFL L<-
D>><= E?5>FD 74E>4V6 4 6V4 45D646=>W ?V4FD<<>< 74?G7V 4> 
V=F5=E<DV>4FVW D>5>F< 7 <V6=4D>4=<<< ?4DF=5D4<< 4?O 74-
?GG5==O V=65EF<FV= F4 7G<4=VF4D=>W 4>?><>7<. �46?<6<< 4E-
?5>F>< T F4>>6 6<>>D<EF4==O V==>64FV==<E F5E=>?>7V= 4?O 
>?F<<V74FVW 6<D>5=<G<E ?D>F5EV6, ?V46<M5==O 5D5>F<6=>E-
FV 5G4V6=<FF64 F4 7=<65==O 6<FD4F. �?NG>6<< 74?<L4TFLEO 
74?GG5==O 4> E?V6?D4FV 6EVE 74FV>46?5=<E EF>DV=: 45D646<, 
5V7=5EG F4 <V6=4D>4=>W E?V?L=>F< 4?O 6<DVL5==O =474?L=<E 
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4 $<=>> ��$ 4V=E=> FD>E< 
FD4=ED>D<G646EO. �>-?5DL5, 
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%F>E>6=> G?>4>54=L M>4> 
>5?<FN64?L=<E <4F5DV4?V6, F> 5474F> EF> 6V444T ?5D5647G 
=4FGD4?L=<< <4F5DV4?4< (45D56<=4, >4<V=L), 4?5 FGF T >4=5 
4?5: 4?O 74557?5G5==O 4>67>6VG=>EFV 6>=< ?>FD55GNFL ?>-
EFV==>W 4>>5D>5><. � ?>EF4T ?<F4==O: G< 7>F>6V ?N4< G5D57 
45O><= G4E >5D>5?OF< FV <4F5DV4?<, G< >D4M5 67OF< LFGG-
=<= <4F5DV4?? �?5 7474?>< F5=45=FVO DGE4TFLEO 6 5V> 5>>?>-
7VG=>EFV F4 =4FGD4?L=>EFV.

&4>, D4=VL5 =4=?>?G?OD=VL<< >5?<FN64?L=<< <4F5DV-
4?>< 5G?< 4?N<V=VT6>->><?>7<F=V ?4=5?V. %L>7>4=V ?N4< 
=4<474NFLEO 6V4E>4<F< 6V4 F4><E ?4=5?5= V E>GGFL G>7>EL 
=>6>7> F4 FV>46>7>. �GLG E>474F<, M> FO ?>FD554 ?>6=VEFN 
744>6>?L=OTFLEO D<=>>< ��$. �4D47 <>6=4 6<>>=4F< 5G4L-
O>G 745474=>G 4 D<=>> ?5D5=4E<G5=<= DV7=<<< <4F5DV4?4-
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45> �>?LMV V 46F><>5V?O<< ?5D56>7OFLEO 6 '>D4W=G G5D57 
6V4EGF=VEFL ?DO<>7> ?>EF4G4==O, O>, =4?D<>?44, D4=VL5 G5-
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F4FVW F>M>. />D47 7 GD4EG64==O< ?5D5?VG5=>7> 4544?V 5V?LLG 
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7V E6>TN ?D>4G>FVTN.

&4>>6 64DF> 7G?<=<F<EO =4 ?><<?>4E 7 5>>G 74<>6=<>4, 
O>V G4EF> FD4??ONFLEO. �>?>6=4 7 =<E 4 7>=<F64 74 45L5-
6<7=>N. ' =4E GE5 M5 VE=GT ?D<=F<? «E>GG O>VE=>, 4?5 45L5-
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FV6 D<=>G 65=F<?L>64=<E D4E44V6, 4DEVF5>F>DV6, ?D54EF46=<-
>V6 F5=FDG 74==OF>EFV F4 >>?546V6 ?V4E<?< 4VT6VEFL ?D<==O-
F<E DVL5=L.

�>>D5<4, ?D<EGF=V 6<E?>6<?< E6>W <VD>G64==O M>4> E<FG-
4FVW =4 D<=>G 5G4<4F5DV4?V6 F4 WE 45DVF<FG. �E>V?L>< 5474F> 
746>4V6-6<D>5=<>V6 5G4<4F5DV4?V6 =4D47V D>7F4L>64=V 45> 
5G?< D>7F4L>64=V 6 >>G?4FVW G< 7>=V 5>=>6<E 7VF>=5=L, F5 
?D<765?> 4> WE DG==4FVW 45> 7G?<=><. �D< FL><G >V?L>VEFL 
6<D>5=<FF6, O>V 7<>7?< L6<4>> 74?GEF<F<EL ?VE?O 45>>G-
?4FVW, 4G65 <4?4. �465 O>M> E4<V 6<D>5=<FF64 V 6FV?V?<, F>  
T ?<F4==O M>4> =4O6=>EFV =5>5EV4=>7> >5?44=4==O, O>5 45> 
6<657?<, 45> 6<65?< 7 ?44G. 

&V F4 V=LV D4>F>D< ?D<765?< 4> 6V4GGF=>7> 45DVF<FG  
6 >>D5<<E E57<5=F4E. �D<<VD><, G 6V>>==><G. �E>V?L><  
6 '>D4W=V =5<4T 6<D>5=<FF64 E>?>?4>5FV6, F> D<=>> ?>6=V-
EFN 74?56<FL 6V4 V<?>DFG, M> ?D<76>4<FL 4> ?>EFV==<E FV-
=>6<E >>?<64=L. �?5 FGF =46VFL ?<F4==O =5 64DF>EFV, 4 =4-
O6=>EFV. �4?D<>?44, 6 '>D4W=V T 4>EF4F=O >V?L>VEFL ?>7<FV= 
M>4> 6V>>==>W DGD=VFGD<, 4?5 6>=4 =V>><G =5 ?>FDV5=4 557 
E>?>?4>5F4. � F4><E ?D<>?44V6 G<<4?>: >>?< 6 '>D4W=V T >>D5-
<V E>?44>6V ?56=>7> E57<5=F4, 4?5 4?O >><??5>F4FVW ?>6=>7> 
6<D>5G <4NFL 746>7<F<EL V<?>DF=V E>?44>6V. 

�4D47V 6VFG<7=O=<= 6<D>5=<>, =46VFL 74 =4O6=>EFV >>LFV6, 
=5 7>F>6<= 6>?444F<EO 6 <>45D=V74FVN. %E>64 >4DF<=4 V 7 V=-
65EF<FVO<<. �465 =VEF> =5 <>65 74D4=FG64F<, M> =4 ?V4?D<-
T<EF6> «=5 ?D<?5F<FL» G< M>EL ?>4V5=5.

�4 D>=V FL>7> 5474F> 6<D>5=<>V6 5G4<4F5DV4?V6 744?O 
FD<<4==O =4 ??46G G4EF<=G 6<D>5=<FF64 ?5D5>DVT=F>6GNFL 
=4 6<7>F>6?5==O ?D>4G>FVW =4 5>E?>DF. &5 44T 7<>7G GFD<<G-
64F< ?D4FV6=<>V6, E??4GG64F< ?>44F>< 45D646V F4 V=65EFG64-
F< G E6>W ?>FG6=>EFV. 
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-5 >4<= 6<>?<> 4?O D<=>G 4 7<V=4 F5<?V6 5G4V6=<FF64. 
/>M> << 7>6>D<<> ?D> D<=>> =5DGE><>EFV, F> FGF GE5 7D>-
7G<V?>. %L>7>4=V =5<4T F<E F5<?V6, O>V 5G?< 4> 6V==<, F><G 
>D<F<G=>7> 45DVF<FG 6 5G4<4F5DV4?4E 745G4>6=<>< =5 6V4-
GG64NFL. �?5 >>?< << 7>6>D<<> ?D> 6V45G4>6G E>FV4?L=<E 
>59T>FV6, 45 ?>FDV5=> L6<4>> 6V4=>6<F< 7DG==>64=5, F> 6<-
=<>4NFL FDG4=>MV O> V7 =4O6=VEFN ?>FDV5=<E >5EO7V6, F4> V 
7 WE 64DFVEFN. �465 5474F> <4F5DV4?V6 EL>7>4=V 746>7OFLEO 7 
�6D>?<, M> 6??<64T =4 F5D<V=< F4 64DFVEFL. 

&GF 64DF> E>474F<, M> ?>4>D>6G4==O EF4?> 6V45G64F<EL 
G65 7 ?>G4F>>< ?>6=><4ELF45=>7> 6F>D7=5==O. &5 ?V4F65D-
4<?< 6EV GG4E=<>< 7GEFDVGV. �465 D>7D4EG=>> 6V45G646EO G 64-
?NFV F4 7 GD4EG64==O< =>6<E ?>7VEF<G=<E <4DLDGFV6. 

%F>E>6=> ?5DE?5>F<6, F> 5V?LLVEFL ?D<EGF=VE 6<E?>6<?<-
EO 74 75V?LL5==O E>5V64DF>EFV 5G4<4F5DV4?V6 F4 7D>EF4==O 
G4EF>< 74D>5VF=>W ??4F<. &4>>6 6>=< ?>7>4<?<EL, M> 646?<-
6> 74?GG4F< 4> 6V45G4>6< D57V>=V6 >><?4=VW, O>V ?D4FNNFL G 
FL><G D57V>=V. �4 64?L, 74D47 F5 6<7?O44T O> G5D7>6<= ?5D5-
4V? D<=>G, V, =4?D<>?44, G �<F><<DEL>V= >5?4EFV D54?V74FVTN 
?D>T>FV6 74=<4NFLEO =5 ?>>4?L=V >><?4=VW, 4 7 V=L<E D57V>-
=V6. %>G4 <VEF56V 7D46FV <4NFL GE5 =5>5EV4=5, M>5 6<>>=G64-
F< F4>V ?D>T>F<.

%5D54 F57, >76GG5=<E ?V4 G4E D>77?O4G ?D>5?5<<, 5G?4 
F4>4: 6VFG<7=O=<= 5V7=5E <4T GE6V4><?N64F<, M> 74D47 D<=>> 
?D4FNT, V =5 FD554 G5>4F< <><5=FG, >>?< 74>V=G<FLEO 6V==4. 
&D554 ?D4FN64F<, E>G4 V <5=L<<< F5<?4<<. ->4> ?>?G?O-
D<74FVW 6VFG<7=O=>7> 6<D>5=<>4, F> FGF 64DF> 6FDGF<F<EL V 
45D646V. �>>D5<4, 665EF< 4>EFG?=5 >D54<FG64==O. �465 5G-
4V65?L=4 74?G7L 6 '>D4W=V 4 F5 =5 FV?L>< 65?<>V >><?4=VW, FGF 
T E5D54=V V <4?V, O>V 665 LG>4NFL L?OE< 4?O 6<6<64==O, ?D>-
4>66GNFL ?D4FN64F< =4 D<=>G V ?V4FD<<G64F< 5>>=><V>G. 
�4=4> 557 4>?><>7< 45D646< 74?<L<F<EL =4 D<=>G =46VFL 
F<< >><?4=VO<, M> T, 5G45 4>E<FL E>?44=>. 

�4EFG?=<< ?<F4==O 6 >57>6>D5==V EF46 «>44D>6<= 7>?>4». 
&4>, 74 >FV=>4<< 7D46FV6 D<=>G, >44D>6<= 45DVF<F 6 '>D4W=V 
E?>EF5DV746EO M5 4> ?>G4F>G ?>6=><4ELF45=>W 6V==<. �V?L-
L5 F>7>, =46VFL G «4>>>6V4=V» G4E< 5G4V65?L=4 74?G7L 6V4GG64-
?4 5D4> >44DV6. �E>5?<6> >>?< << 7>6>D<<> ?D> ?N45=, O>V 
6<VNFL ?D4FN64F< DG>4<<. 

�=4DV= �64=>6, 4<D5>F>D �GG4=EL>>W DV?VW �<W6EL>>7> >5-
?4E=>7> F5=FDG 74==OF>EFV, >4=5 7 DVL5=L ?D>5?5<< 654G4T 
6 FVE=V= E?V6?D4FV F5=FDV6 74==OF>EFV V ?V4?D<T<EF6. �4 =>7> 
E?>64<<, 74FV>46?5=V 6 D>5>FV ?N4< T. �?5, =4 64?L, 6 '>D4-
W=V =5 =4?47>465=> D>5>FG &5=FDV6 74==OF>EFV 7 ?V4?D<T<-

EF64<<. �>=< =5 =444NFL 4>F<6=> V=D>D<4FVN ?D> 6V4>D<FV 
64>4=EVW. �V?LL5 F>7>, 5G4V65?L=4 74?G7L =5 76<>?4 4>6VDOF< 
E?G65V 74==OF>EFV. �5 <5=L 646?<6>N T ?V47>F>6>4 >44DV6. 
� >D4W=V VE=GT ?D>5?5<4 7 ?D>DF5E>E6VF>N. �4 547V E?G65 74-
==OF>EFV T F5=FD< ?D>DF5E>E6VF<. &5 4>E<FL ?>FG6=V F5=FD< 
7 FV?L>6<<< >GDE4<<, 45 74 3-4 <VEOFV <>6=4 >FD<<4F< =>6G 
?D>D5EVN.  «&4>>6 T E<EF5<4 >><?5=E4FVW, O>4 =4D47V <4T 4>-
E<FL ?>7<F<6=V <><5=F<. �?5 FGF 646?<6>, M>5 ?V4?D<T<-

EF64 E?V6?D4FN64?< V7 E?G654<< 74==OF>EFV. �<L5 74 FVE=>W 

E?V6?D4FV <>6=4 G4EF>>6> 6<DVL<F< «>44D>6<= 7>?>4». &5 
D54?L=>», 4 74G646<6 �=4DV= �64=>6. 

%5D54 4G<>>, M> 6<E?>6<?< ?D<EGF=V, 5G?< F4>>6 V=LV ?D>-
?>7<FVW EF>E>6=> 5>D>FL5< 7 =5EF4G5N >44DV6. �D<<VD><, EL>-
7>4=V =5 6<EF4G4T ?D>6545==O <4=EF5D->?4EV6 4?O <4=5GF=VE 
E?5FV4?VEFV6. �465 F5 <>6=4 D>5<F< =46VFL G D4<>4E D5>?4<-

=>W >4<?4=VW O>>7>EL ?D>4G>FG. �E>V?L>< <4=5GF=V E?5FV4?VEF< 
6 ?>44?LL><G 5G4GFL ?D4FN64F< 7 F<<< <4F5DV4?4<<, 646-

?<6>, M>5 G65 =4 ?>G4F>>6><G 5F4?V 6>=< ?D46<?L=> 6D4E>-
6G64?< 6EV >E>5?<6>EFV ?D>4G>FVW. �474?>< <>?>4V >44D< T, 4?5 
7>?>6=5 46FD<<4F< WE 6 >D4W=V, >E>5?<6> 74D47. 

�474F> >><?4=V= E4<>EFV==> =46G4NFL E?5FV4?VEFV6 F4 
?D>6>4OFL 4?O =<E ?D4>F<G=V 74=OFFO. &5 6E5 4 74 6?4E=<= 
>>LF, 4?5 F4>V 74E>4< <>6GFL G4EF>>6> 6<DVL<F< ?D>5?5<G 
45DVF<FG >44DV6 G >><?4=VW. &>5F> ?D<64F=V V=VFV4F<6< F56 <4-
NFL 5GF<.

�V?LL5 F>7>, 665 T D54?L=V ?D<>?44< F>7>, O> >><?4=VW 66>-
4OFL G 6<M<E =46G4?L=<E 74>?444E EF<?5=4VW 4?O ?V47>F>6>< 
E?5FV4?VEFV6 ?V4 WE ?D>DV?L. �4 64?L, F5 =5 <4T 7=4G=>7> ?>-
L<D5==O, 4465 =5 >>65= =46G4?L=<= 74>?44 7>F>6<= 74=<4-
F<EO ?4?5D>6>N D>5>F>N 4?O 4>D54<F4FVW. 

-5 >4=<< 5>?NG<< ?<F4==O< 4?O >57>6>D5==O EF4?4 
E<FG4FVO V7 74D>5VF=>N ??4F>N =4 5G4<4=44=G<>4E. &4>, 74 
E?>64<< GG4E=<>V6, ?>?VF<>4 <V=V<4?L=>W >??4F< ?D4FV =<=V 
755DV74TFLEO. �V46<M5==O =5 6V45G?>EO. �V?LL5 F>7>, ?D4>-
F<>GTFLEO ?>46V==4 >??4F4 (<V=V<4?L=4 4 >DVFV==> V 6 >>=-
65DFV 4 D5LF4). &4>>6 6<>>D<EF>6GTFLEO EE5<4 «5D4F< =4 
D>5>FG FV?L>< =4 G4E 6<>>=4==O ?56=>7> >5EO7G D>5>F<». �4 
64?L, =4 5G4<4=44=G<>4E 75V?LL<6EO FD46<4F<7<, 5> ?N4< 
?D4FNNFL ?>=44=>D<>6>. &>5F> 7>?>6=4 ?D>5?5<4 >??4-
F< ?D4FV 6 5G4V65?L=V= 74?G7V 5G?4 V ?<L<?4EL 4 ?574?V74FVO 
74==OF>EFV V G<EF4 >??4F4 ?D4FV. &4>>6 FD554 6<7=464F<, M> 
T 6<?44>< V =56<??4F. �V E6>7> 5>>G 5V7=5E 7>F>6<= 4> 7<V=. 
�?5 FGF 6<=<>4T =56V4?>6V4=VEFL V7 >>LF>D<E><, 45 74D>5VF=4 
??4F4 EF4=>6<FL 12-18 F<E. 7D=, M>, 76<G4==>, =5 6V4?>6V44T 
4V=E=>EFV. 

&4>>6 ?D>?G=4?< 6<E=>6><, M> >><?4=VO< =5 64DF> 4G65 
D>7D4E>6G64F< =4 ?>65D=5==O D>5>G>W E<?<, O>4 74D47 74 
>>D4>=><. �>>< 6 '>D4W=V =5 5G45 74?D>?>=>64=> >>=>G-
D5=F=G 74D>5VF=G ??4FG 4?O D>5VF=<>V6, FL>7> =5 EF4=5FLEO. 
&><G FD554 7>FG64F< =4 <VEFOE V <4>E<<4?L=> GFD<<G64F< 
=>6<E E?5FV4?VEFV6.

->4> 74?GG5==O V=>75<=<E ?D4FV6=<>V6, F> =5 D4>F, M> W< 
5G45 FV>46> WE4F< 6 '>D4W=G =4 FG >??4FG, M> ?D>?>=GTFLEO G 
=4E EL>7>4=V. 

' ?V4EG<>G E>FV?>EL 5< 6V47=4G<F<, M> F4>V 7GEFDVGV 44NFL 
<>6?<6VEFL GG4E=<>4< >4=>7> >>D5<>7> E57<5=F4 D<=>G 
7GDFG64F<EL 744?O ?>LG>G =>6<E DVL5=L 4?O 6V4=>6?5==O 
G>D4W=EL>>W 5>>=><V>< F4 6V4D>465==O '>D4W=<, 4 F4>>6 <>6-

?<6VEFL 4V?<F<EO ?D4>F<G=<<< >5=E4<< G 6<DVL5==V ?D>-
5?5<=<E E<FG4FV=. &>6 <4T<> =44VN, M> F5= 74EV4 G <4=5GF-
=L><G 5G45 ?D>E>4<F< =4 ?>EFV==V= >E=>6V. � ?5DLV 6V47G>< 
6V4 GG4E=<>V6 F5 ?V4F65D4<?<.

�> =4EFG?=<E 7GEFDVG5=! �>?GG4=F5EL!
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�5D5<>6JY ?D5<YZ �%�' 2023
�><V=4FVO: «�=F5D9TD» (D54?V74FVO)
�4764 ?D>5>FG: �=F5D9TD KredoBank G �L6>6V
�4D5E4 >59T>FG: <.�L6V6, 6G?.�4?<FL>4, 4
�D>5>FG64?L=<>: Coda UA 
�DEVF5>F>D<: �>744= �G?DVT=>>, �>744= �<?<E, �4F4?O �5?L>>

�><V=4FVO: <VEF>5G4G64==O
�4764 >59T>FG: '5D>4EL>4 =455D56=4
�4D5E4 >59T>F4: '5D>4E<, '>D4W=4 ?D>5>FG64?L=<>: SBM studio
�DEVF5>F>D<: �>?>4<<<D %GE?>6, �?L74 �?5=F<4=, �7>D $4755=>>, 
�4DV4==4 �4=64, .?VO �VM5=>>, �?5=4 �>D>?L>>64, �4?5DVO 'G?V=4
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�><V=4FVO: 5474F>?>65DE>6V 6<F?>6V 5G4<=><: =>65 5G4V6=<FF6> (?D>5>F) 
�4764 >59T>FG: 6<F?>6<= >><??5>E ?> 6G?.�>445<V>4 �V4EFD<74G4 
�4D5E4 >59T>FG: <.�L6V6, 6G?.�>445<V>4 �V4EFD<74=4 
�D>5>FG64?L=<>: KUDIN architects 
�DEVF5>F>D<: �V>F>D �G4V=, �<E4=?> �4D=4GE>6, �?5>E4=4D4 %5D544, 
�?5>E4=4D4 %5<5=G5=>>, �?5>E4=4D �?V==<>

�><V=4FVO: 5G4V6?V, >><??5>E< F4 E?>DG4< 
(D54?V74FVO) 
�4764 >59T>FG: $?47<4=EL>4 �D4<=<FO ��� KLO 
�4D5E4 >59T>FG: �D. �<>>?< �464=4 1�, �<W6, 
'>D4W=4 
�D>5>FG64?L=<>: Aranchii Architects 
�DEVF5>F>D<: Dmytro Aranchii, �>744= �446<?>6, 
�?44?5=4 �>?L7GL<=4
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�><V=4FVO: «$575=5D4FVO VEF>D<G=>7> E5D54>6<M4» (?D>T>F)
�4764 ?D>5>FG: $57<45=FVO <<FD>?>?<FV6 �G>>6<=< F4 �4?<4FVW
�D>5>FG64?L=<>: %FG4VO ?4=4L4DF=>W 4DEVF5>FGD< Kotsiuba 
�6F>D<: @Maksym Kotsiuba, Mariya Andriyenko, �?5>E4=4D4 �D<6F>64, 
%6VF?4=4 �>=>??L>64, �V?VO �?G=L>>, �4>E<< �<E>7>D4
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�$��-�$� �D5<VW �%�' 2023
�><V=4FVO: $5EF46D4FVO ?4<`OF>> 4DEVF5>FGD< (D54?V74FVO) 
�4764 >59T>FG: $�%&��$�&�/ ��%����� ����$�&��� ��,&� 
������&�� &�&����� ' �,����
�4D5E4 >59T>FG: 6G?. �D45>6EL>>7>, 11, <.�L6V6 
�D>5>FG64?L=<>: �DEVF5>FGD=4 <4=EF5D=O %<<5FDVO - 
�<>>?4 $<55=GG>, �?5=4 $<55=GG>, �4DVO �>E>4?N>, �>744= 
,<<4=EL><=, �4F5D<=4 ,>?O=>4
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�G4V6?N 76545=> 74 ?D>T>F>< 4DEVF5>F>DV6 �44<<4 
�>?>4?4, �44<<4 �D5G<=< F4 �4?5DVO �5E>>6EL>>7>. �>=4 
E>?444TFLEO 7 46>E G4EF<=, O>V GF6>DNNFL T4<=5 FV?5: 
65DF<>4?L=>W (>=<7>EE>6<M5) F4 7>D<7>=F4?L=>W (EF<?>-
54F=4 G4EF<=4). �5DF<>4?L=4 G4EF<=4 E?>DG4< =4?VGGT  
27 ?>65DEV6. %F4?56<= >4D>4E 6<E>F=>W G4EF<=< 5G4V6?V, 
M> E?<D4TFLEO =4 EGFV?L=G 74?V7>55F>==G ??<FG, T >E=>-
6>N =5EGG<E >>=EFDG>FV=. &5= DG=44<5=F 5G?> D>7D>5?5-

=> V=EF<FGF>< <�<W6?D>5>F=. �4>E<<4?L=5 7>D<7>=F4?L=5 
7<VM5==O 65DEG >4D>4E4 5G4V6?V 6V4 6??<6G =>D<4?L=<E 
6VFD>6<E =464=F465=L EF4=>6<FL 12,3 E< G ?>?5D5G=><G 
=4?DO<>G 5G4V6?V (45> 1/700 6<E>F< >4D>4E4) F4 7,2 E< G 
?>74>66=L><G =4?DO<>G (45> 1/1170 6<E>F< >4D>4E4). &O 
G4EF<=4 E?>DG4< 5G?4 E?D>T>F>64=4 E?5FV4?L=> ?V4 >=<-
7>EE>6<M4, 7 <V=V<4?L=<< 4>EFG?>< E6VF?4 4?O 74?>5V74=-
=O DG==G64==N >=<7. &5 646?<6<= 4E?5>F, >E>V?L>< E6VF?> 
<>65 ?D<765EF< 4> 6<F6VF4==O F4 ?>L>>465==O 4>>G-
<5=FV6. &4>>6 E4<5 6 FV= G4EF<=V D>7F4L>64=4 E?5FV4?L-
=4 L4EF4 4?O FD4=E?>DFG64==O >=<7 V7 65DE=VE ?>65DEV6, 
M> 7=4G=> E?D>MGT ?D>F5E D>5>F< 5V5?V>F5><. �464O>< 
747=4G5=<< >E>5?<6>EFO< FO G4EF<=4 5G4V6?V >E>5?<6> 
?D<EF>E>64=4 4> ?>FD55 5V5?V>F5><.

�>D<7>=F4?L=4 EF<?>54F=4 G4EF<=4 EF4=>6<FL 4 ?>-
65DE<, FGF D>7<VMGNFLEO G<F4?L=V 74?<, 6<EF46>>6V 74?< 
F4 E?G65>6V ?D<<VM5==O. �G4V6?O <4T 2 ?V475<=V ?>65DE<. 
�=F5D9TD ?D<<VM5==O >74>5?5=> F6>D4<< >5D47>F6>DG>-
7> <<EF5FF64 7=4G=>W EG4>6=L>W 64DF>EFV. ' F5=FD4?L=>-

�4E=>64=4 2 E5D?=O 1918 D>>G �4FV>=4?L=4 5V5?V>F5>4 
'>D4W=< V<5=V �. �. �5D=44EL>>7> 6 2023 D>FV 6V47=4G<?4 
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